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HBI AR | oTg BT AU --- H fHar SIar o1 |
In medieval India, length was measured in ----

RIS 7o ugfay o 1975 § H Hex wwsia & iRy ¥ og | 89 39

The international system of measurement came into existences in 1857 with
the international Meter Agreement. This is now knaagnthe --- system.
THIMS. H AT qol Ard gqq ™ (e, Kg) ; o=rs (Hiek m) ; §9d

[@fBS, S) | ;A9 (@feaw, K) ; Saifa diaar (@sar, cd) ;) derr

uaref @1 AT (Jied Mol) 9 &1 Reb AAATHAD ... FeriiRa fa

T g |

The Sl system has seven fundamental units. namely ----- === length (meterm)

time (second, S); ---------------- ; temperature (kelvin Kininuous intensity
(candela.cd) and quantity of substance (mol) and two supplementary units

namely -------------

J HEG S UH W E HA AHB U B B o H5dH HEd 3 |
The units obtained from two or more fundamental units are called -----

units.

The Metric System in India was implemented in the year ------ :

R H ATIA & ML A AHD] & RETT & ford IS HIfcrehs T
(National Physical Laboratory) &1 ScRatfic | a1 2 |
The National Physical Labortory (NPL) New Delhi is responsible for

preservation of standards of measurements in India.
MFHRI fAfBRON ¥ Hag AFDBI BT AREAV | URATY AL DHg,
TS g fbar orar 2 |

The radioactive standards are preserved by Bhabha Atomic Research
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HTg W1 a%g OraH gaIE 8IaT © SR a8 I BRall € g (aTe) el

g

Some thing which has mass and occupies space is known as matter
(Substance)

e, o (UST) BT 98 JARRHT U 2, o RIS Bl gRT |

uarell # &I ArST S |hdT 2 | I Ud 8 UbR & WA I Fefd? a-

B & |

Element is the simplest from of matter containing only one type of atoms. It

can not be divided into simpler matter by chemicla reactions.
&1 AT 1 ¥ 3P dedl b G dHA W Yo [Ed U H e AN
A g yared Bl A1 FHed ¢ |

The substance formed by a chemical reaction between two or more elements

in a definite proportion is known as compuund.

IS & T[0T U HA ST Tedl A A BT 2|

The properties of a compound are completely different from the constituent
elements.

Iz ueTd S fAemd # Tgeeie 3R BT MMBR & & &, fdheg 7 it

H S B 8, e <d 2

Particles which are insoluble in a medium and which are visible to eyes give
supension.

Ploilss I8 TR =0T & S8 BN &1 A1 IrKdIfdsd [aoa= & BN &

T ¥ AfE g felad & Hof & <1 9 &H BIar 2|

A colloid is a heaterogeneous mixture containing extermely small particles

uniformly distributed in a mediumn. The particle size is much smaller com-
pared tothat in a suspension but larger then the size of solute particles in a

solution.
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fduTH® we Essay ype Questions
IR H Ale ugfd @ @IuAr f&d YahR gs 2
How was the metric system in India established?
ANy aRadT ugfd I M T I9sd & ? SeERYT Shy JHSSY |
What do you understand by physical changes? Explain with examples.
RIS gRadd § &1 aeqd g ?
UaTel B IRl W AT & YI ® JeAT b ol U YART &1 qui
DR |

Describe an experiment to study the effect of temperature on the state ofg

matter
R g faweiEl fsor @y € ? 98 fhds YR & 8 © ?
What is homogeneous and heterogeneous mixture? Explain.

I 9 oy =T wHsId § ? UE fhd YR & B ® 7

What do you understand by the term solution? What are the different types

of solution?

Mol 9 dldigel e & U@ IR O & AER R 379 AR W
BRY |

Differentiate between suspension and colloid on the basis of any four of
their properties.

ferser uvra T §7 98 <% 9 § wEl-wel gieTier BIar 2 |

What is Tyndal efect? Where do you observe it?

& HD U3 Numericals

1.

afe te URgM (A ) H 10 #HieR B & a1 Hiex H fhad U™ 8 ?

If one angstromdA) is equal to 13°mm convert one meter into angstrom.
HIS TR AT F 6 THIET a9 G © Al SHd! X Bl 0T Hiex § R |

A star is situated 4 light years away from the Earth. Calculate its distance in
meters.

gl | G I 3MEd g b Hiex & a_1&R Bl 7 ?

What is the average distance in meter between the Earth and the Sun?
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3TeqTI-3
Chapter -3

Rea @l & gff sRY
% Ife g faRaen | i URY &Rl 8 a1 URME o7 = BT |
The initial velocity of an object moving from the position of rest is zero.
% e aeg 1T & ueara faRM # o SRl © ar S 9 3= 'R |
If a moving object comes to rest, its final velocity is zero.
% 9T GRIAT B T AT Ui FHT H T IRIAT DI @ROT Had ¢ |
Rate of changee of velocity of velocity per unit time is known as acceleration.
% TSI GIRT AU fIRTH 72T T B Sra=err § gRade BT GfeRE H Bl
ygfcd STecd PEd & |
The tendency of any object to oppose any effort ained at changing its state

of rest of motion is known as inertia.

% HIT IR @1 &R, 9 W T dlel 9 & FAGURI B8Rl 2 |

>

L)

The rate of change of momentum is equal to the applied froce on the

object.

DS Il BT ATHD IS Bl & | Ub I9 961 & o BT & Sil 1 [HUT STA

L)

@1 fdl a%g § 1mM/S2 &7 TR IA N |
The Sl unit of force is Newton. One Newton is the force that cause an
accelertion of | mson an object of mass 1 kg.
& YT 9o Aad g DI A BT AR BT 2 |
Friction always less then static friction.

% T ¥ gof I Tfdd YT o] BT T4 dad HH BIdT 2 |

The thrust exerted on a unit area is known as pressure. Its Sl unit is pascal.

Uhidh &Fthel TN 1T YOS I <Td Ped & | T19 Bl AT UNhe] hadidl ¢ |
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fH=AY ugrel &1 SMuferds T IS U@ BT 3T Bl & |
The relative density of an object is equal to the ratio of the density and the

density of water at°C

|Afeer gd faer AREN &I gREINT B |

RO B aRAIT HIRY |

g &1 S.|. A IRy |

T fawas e & N 99 &1 1wy a1 © ?
<19 DI GRAINT BRY vd gaa1 S.Lams fofed |

TES«Nid ¥ / Long Answer

1

e & FHIEReT V=u+at &1 gara S |

Derive the first equation of motion v = u+at.

i & FHHR0 S=ut+1/2 at2 @1 gt BIfe |

Derive the equation of motion. S = ut+1/Z2a't

T & BT V2=u2+2as @1 garfa Sy |

Derive the equation of motion? v w?+2a S.

EYUT BIMaR BId gU 1 Maede Ud He@yul &, U B! [daaeT HIfoTy |
Explain with examples, Newton's third law

=T R fewoh forRed—

(31) &ifas Ty (@) Ao =ior () |4l gy (3) JeT gy
7. Write notes on

(a) Static friction (b) Limiting friction (c) Sliding friction (d) Rolling friction
JMHHASIST &1 =M @7 2 ? 38d uanT ot |

Explain with example "impulse”
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AEGTHD YI

1.

P Nelirs! 90 Km/h @ 977 & 9l Y81 8 | b 1T oI OR S8 —0.5 M/
S2FT Uk FA He+ I 8l Sl & | NolTs! faRMeRey § 9 9 Ul
et & 7 ¥l ?

A train moving with a velocity of 90nfsexperience a deceleration of 2

ms?2 when brakes are applied. Calculate the distance travelled by the train
before complete halt.

U fUvg 4 Ms-1 & 9 4 Wfceficd 2| Afe IFhT w@aror 2ms-2 81 @l

5 SUITd SHHBT I AT SHD gRT T DI Tg X DI TN BIFTY |

An object is moving with a velocity 4 misilf it is subjected to an acceleration

of 2ms? calculate its velocity and the distance travelled after 5s.

U@ 99 U GAE 971 36 kmh-1 31 g %81 2 | 99 dTaid S o1l & al

a9 10m AR ®b I 2 | @RI BT TUMT B 8¢ I8 A1 1 difoy

T BT Hehel H fhdAT FHT T ?

A bus is moving with a uniform velocity of 36 km/h. The driver applies

brake and the bus stops after travelling a distance of 10m. Calculate the
deceleration and the time taken by the change to rest.

1000kg se™M & =it g &1 o1 36kmh-1 s 108kmh-1 &= fear

SR A FdT H M gRTd S1d BT |

If ball of mass 70g is moving with a velocity of 0.5m/s.A player stops the
ball in 0.5s. Calculate the force exerted by the player on the ball.

709 & fede B e o f6 0.5m/s & a7 & Ty R & 2, S Raerms

0.5s # 1% oIdl & | RaelSl R AT Fef 1T DI |

el 1200 N ¥R arefl =if, 4 n? - & F%hd WR Rerd , SHd §RT 3RIUT
HERCIRINEICINIY

A block having weight of 1200 N rests on an area oP4Qalculate the
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U 1

URA 2

URq 3

URq 4

U1 5

UR1 6

YR 7

U3 8

URq 9

YR 10

pressure exerted by the block.

X UG R # 3faR W BT |

Differentiate between distance and displacement of a body

9Tl DI YRHINT HITY Ud SHBT IO ST T2l TH.3TS. 3hls
ferfag |

Define speed of a bodgive its mathematical expression and S.1I. unit.

AT AT AT AHSIA 8T ? SHPBT gobls [o1RaU |

What do you understand by velocity of a body ? Give its units.

9 U fehdhex Tiq Pl Udhsdl © df 98 319+ 81 Ul PR ofdl 8, HI0T
AR |

When a cricketer catches a ball, he lowers his hands. Account for the
reason.

T UG 91 H Heer @i S |

Give relationship between force and momentum.

Iifyd TRl &y o7 forRay |

Give important characteristics of mechanical waves.

FHE T A T H 3R T BHIfg |

Differeniate between uniform and non-uniform motion.

T T g FHIeRoT feifed HifeTg |

Derive firstequation of motion.

i @1 g aaxor ferfea i |

Derive second equation of motion or Dersreut +%at2

Y T e IR fAwrfed ifeg |

Derive llird equation of motion.

(7)



e 11 I GV & G Bl g B |
Prove the formula toshow that momentum remains conserved.
Ue 12 JIRY A1 Ud fagd g a3l H IR Y iR ferRag |
Give a detailed difference between elastic waves and electromagnetic waves.
ged 13 & I g IfSAr R H sfax forRag |
Differentiate between sound waves and radio waves.
UeT 14 1 UGl Bl JJURRT U9 e A & o7y aRMIiNa HIfTT |

(31) smufcy  (9) SMMEdidIal  (H) TR () ST

Define the following terms with respect to a transvers as well as a longitu-
dinal wave.
(a) Frequency (b)ife-Period (c) \Wvelength (d) Amplitude

ge 15 ) a¥g BT TR R BN 27 AHSEY |

What is acceleration of a body ? Explain.

U 16 19 U HHT § 3R W< B 7

Explain the difference between heat and temperature ?

e 17 19 &I Dfeds YA RIR & ?
What is Kelvin scale of temperature ?

U3 18 Sfdes] dyATd HT quid 4 usl H iy @) = (2) s9Ee (3)arifafer
Describe clinicalthermometer under the following heads :
(a) Labelled diagram (b) construction (3pNng

e 19 UH UANT R fel axg ® Xig dort smaeceis favar awemsy |
Give one experiment each to show the linaad volume expansion issolids
when they are heat.

gea 20 4 &1 Afeqy 99§ 9gfery |

Change the following intocelsius temperature.

(8)



yed 21 {7 P BRAgge d9 # 9gfory |

Change the following into Fahrenheit.

(i) 10°C (ii) 50°C (i) 100°C (iv)0°C

U 22 g A9 S P REH I<RIedy BRAgSS did 6T 3MET ¢ |
Find out the temperature at which the value of it in centigrade is half the

value in Fahrenheit.

e 23 fbd dUHH TR BIABISE UG Biedd d1T aRT&R B 2 |
At what temperature the readings in Fahrenheit and Kelvin scale will be the
same ?
Ued 24 AT YER OME DI UREINT DHINTT 3806 (o9 o @S 1 IRy |
Define coeficient of linear expansion. ¥We mathematical expansion for it.
e 25 &I TR B uRMIfNT I |
Define coefficient of superficial expansion.
TeT 26  EEIRI UAR ¥ 3T T A © 7
What do you mean by coefficient of cubical expansion ?
yee 27 fafa=T o AU 3 favaR yde @Sy |

Give variousthermometric scales in detail.

U9 28 ol @ dRd(dd Td MURI TR § RIT 3N & ?

What is the difference between real and apparent expansion of water ?

ged 29 7Y fHAT o1g & foly W Y9R [Nids {6 GhR A1 BRI |

How will you determine coefficient of linear expansietrgf a metal ?

U9 30 Sl & IR YR Bl HSSY | Ol & SR YR &1 HROT SIfTU |
Explain anomalous expansion of watgive a detailed accound of anoma-

lous expansion of water

U 31 Gl |1 2 2 H, OTAT ATSSIoT &l Aaroidr foTRay |

What is valency Write valency of H, O and nitrogen.
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UR- 32

YR 33

U 34

UR- 35

UR- 36

URA 37

U 38

YR 39

UR 40

YA AET B R R Mgo g7 g DI ?

Prove on the basis of electronic configuration the formula MgO.

Jerd <SR ATET B o ferReR) ?

Write the properties of electrovalent compounds.

el A & o e ?

Write the properties of covalent compounds.

Yo Ao Td wewEs AT ¥ aR s ferRad ?

Write four differences between convalent and electrovalent
compounds.

AT UG FAN BT Falod defd A¥al & AR TR 98y ?

Describe the combination of sodium and chlorine on the basis of

electronic configuration.

RTINS AR GRT B AT G T8 & Sl € |

Which information is not shown by a chemical equation ?

FA I g1 Fdal Bl forgs & ford S1 1eRl &1 TN &Rd § | i ?

Why do we write two letters (sometimes) to denote a symbol. Why?
frefl AT & 3 | g1 ARt 2| avf" S ?

What is meant by formula of a compound ? Explain.

FOTIT BT AREINT PR ? 37 SarerT dIR[ |

Define a anions. Give at two examples of the same.
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Chapter -4
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THEATHYT & W & S aR fdgl &l fivel & 49 syl 9t 89 i
& GIHMI & [UFH & ITGEAMUN TAT D a9 DI g b dF b

IHHTAT BT © |

According to the law of gravitation, the force of attraction between any two
bodies is directly proportional to the product of their masses and invbersley
propotional to the square of the distance between them.

THcdThY YT U &0 9l 2 S/ b &1 9gd 31dh GFqH dlel [Uve AwIg

&l

Gravitational force is relatively weak unless the bodies involved are massive.
geAl §RT SN ST dTel [RocdldbyUT g Pl 8l YRocdid gl Hedl o |

The force of attraction exerted by the earth is also known s gravitational

force.
THAR 9, Jedl T ¥ $HaTg 9gH IR HH Il ¢ |

Gravitational force decreases as the body moves away from the earth's

surface.

T RN BT A gedl & fAf=T vt o fA=—fr=1 811 8 | 9% a1

J TERE B AT HH BT © |

The value of acceleration due to gravituy (g) changes from place to place
on the surface of the earth. It also decreases as one moves either upward
above the surface or downward below the surface.

el 9% BT 9R, 98 91 & FTad il I 37Ul 3R 3BT Bl @ |

The weight of a body is equal to the force with which it is attracted by the

earth.
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< e Bl 9% ®1 S8 § WaFagad RRET S 2 df 396 o H i
AHvs 9.8ms-1 @1 gfg Bl & srifd S99 9.8MS-2 &1 @ROT Ia &

AT & | 39 99D g @ |1t +g forar Siram 2

If a body-is allowed to fall freely from a height. its velocity increases at the
rate of 9.8 m&. In other words, it is accelerated by 9.8mé/k represent

this acceleration by + g.

TS U3 / Short answer type question

UeT—1 gl AT IAD] g R I {4l o] & He o dlel YRacdIhyol g5] bl
ORATY AT B B G oy |

Write down the formula for obtaining the gravitationjal force on a body
placed on the surface of the earth.
U2 TR RO ¥ ST T e & 7

What do you undrestand by acceleration due to gravity?

ge—3  fHdAl 9% & SIAM UgH 4R H T AR © 7

What is the difference between the mass and weight of a body?

€ I ¥e= / Long answer type Question
Ue—1 I GRS IR T Tl e 9ol 96 G| & FHIUTIT BIdT © |
e A1 Ueh YR I Bodb! I Db AT H ol A N T8l [ARel?

If the gravitational force on a body is directly preportional to its mass, then

why a heavier object does not fall more rapidly as compared to a lighter one?
gei—2 IS FH Yl DI IMMHNT HRAT © Al YAl dHT Bl AR T @l TSI

&l ?

The moon exerts and attractive gravitational force on the earth, then why

the earth does not move twwards the moon?

(12)



& HG 939 / Numericals

U1—1

UR—2

UR"1—4

UR1-5

UR-1—6

gfe U g oIt gegar 1Kg € 1 S8 Yedl |de OR X T 2 | gedl

ERT B9 9] R o T YRocdlF gl Dl TOMET HIFSTY | Yl bl GeFH
6 X 10 12 kg,gedt &1 a1 6.4 x 10 6 m @2 G=6.67 x 10-11
Nm2 kg-2
Calculate the gravitational force on an object of mass 2 kg. placed surface
of the earth. Given mass of the earth 6%k@. raduus of earth 6.4 x 1t
and G=6.67x 10 Nfrg?
a1 fUvSl & He [Hcabyl g Bl TUMET HISTY Jfa—
(1) U fUUS BT g = AT BR AT WY |
(2) <M1 el & W& O A B & Y |
(3) =Ml fUvel & TeIAM g AR U WY |

Calculate the gravitational force between two bodies for the following cases:

(i) mass of one body is doubled (i) distance between the objects is doubled
(if) masses of both the objects are doubled.

e fUre 3l U Ak | FRMET orar 2| afe a8 20m = &1 IR 31rar

g ol SqdT 9 fobaT 8T ?

An object is released from a tow@alculate its belocity when it falls to a
distance of 20 m from the towdsiven g = 10 m$

TH I P HEARR HUR B 3R IBTAT o1l 2 | g8 100m &1 3HaE ad

S B | I IR 9T ST BIY |

A ball has been projected vertically upward. If it attains a maximum height

of 100, calculate the invital volocit@iven g = 10m$s

U e foreT gemr 60Kg & | SHdT FrdT Tl gedl IR 9R =iid
PIfSTY ?
A person has a mass of 60kaal€llate its weight on the moon and the

earth. (Given g = mand gm = g/6)

(13)
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Chapter -5
IR TR RFITA MM ARG S U T PN g9 9 F IR g0 & d1=
S &1 HIVT 0 & a9 9= &d W=F.S cos 0
If an object is displaced by a distance S in a direction making on angle a
with the applied force F then work done W.SEo0s q
gIHG B : A g1 BT 39 # faRem= 81 a7 B gF1Hd HETT € |
If disp;acement is along the direction of the force then work done is positive.
FOMAG B - Al g1 B fqueia feem (0=180 afer) | faRergs & ar

BT SRUMTcHD hedldl ¢ |

If displacement is against the direction of force (i.e. g®)ii8@n the work
done is negative.

T HE : (1) AR 99 T W favenud g (S=0) 81 A1 (2) I T
R fqRemu= 9 &1 feem & owaq (0=90 32T a9 F7~ SR I BIdl
g

Zero work is said to have been performed when (i) displacement is zero
(S=0) (ii) disp;acement is in a direction normal (q £) 96 the applied
force.

9 9 3R faermus e &1 e H 81 a9 & sl & 959 geq (N) X
Aex (M) @1 Stat (J) FEd 2|

One newton meter (Nm) is equivalent to 1 Jule of work.

T & fd%g B 98] R BRI B IR I39! ReIfT # gRad= & a9 39
§ <fed Soff Toag Reafds $oif wgard 7 |

If work is done on an object against gravity and the position of the object is

changed, then a potential energy is stored in the object.
g4l & Tt W h S8 d% I3 T3 M SHAM B O] D! THedrd Reyfast

(14)




St Pe=mgh [g Teastd @Rom 2 ]

The potential energy of an object of mass m, displeced vertically

upward to a height his given by mgh (g is acceleration due to gravity).

>

L)

o B, Hofl, AR e =T 3rfeer ARRT 2 |

Work and enagy are scalar quantities.

L)

TR U9 / Short answer type questions:

1. RIS wd Ifast ot &l aR\Td BT |
Define potential and kinetic et
2. Soft HReTor BT e forRad |

What is the principle of conservation of energy?

3. fFr=IfeTRad ol &I ufed 3R Idasd HRI 81 @ & AT 781 | U IR
& | H T |l AR |
(31) 31U T HifedT Fod & TP Al B FEER Bl Hars 20 FH. B |
(@) @1 afdd s RR W 10 fHaT &1 wR SR gU 2| 98 et aada
ASH TR 20 TH AP oIl 2 |

Read the following statemnent and tell if any work is being performed.
Give aguments in support to yoyr answer
(a) You are climbing 10 steps of a stircase, each of height 20 cm.

(b) A person carrying a 10kg weight on his head, walks on a horxontal

plane, upto a distance of 20m.

€Y IR U Long answer type Questions
1. g HI f& &1 M fivs v o7 & 1fme © o1 S9! TTfasT Soll 811

Ek =¥ mv?

(15)



Prove that the kinetic energy of body of mass m moving with velocity v is
given by 1\2 m¥

h a8 ) Rga M sadM & fis aR Refds ol &1 aoe wnfud
DI |

Establish the formul for obtaining potential energy of an objeft of mass m

staircase, each of height

& HG 939 / Numericals

1.

50KQ S BT B Afdd 30 HIfGAT 30 ABTS H Tg AT & | TS 20CM
Sl | o Aifedl Bl =g
(1) I~ Brd BT RGBT BT |
() ugad wfdd &1 aR&ed HINT |
0=9.8ms? &R |

A person of mass 50 kg. climbs 30 steps of a taircase in 30s. If each of the

step is 20 cm in height. calculate the following quantities:
(a) Work done in climbing 30 steps
(b) Energy spent in climbing 30 steps Given g = 9:8Bms

U fuve tR 20N &7 g6 RRT ST 8 ar 96 @l [+ 60 3M Bl

DIV gAY g8 3 Hiex fAeenfUd 81 &Idr & | 9o g1 [y T B !

O BT |

A body subjected to 20N of force gets displaced to a distance of 3 min a
direction making an angle 6@ith the force. Calculate work done by the

force
10N @1 9e1 fl avg &7 5m faRenfid &= <1 B | afe 9o gRT F7=1
SR 25J B dl 9 R AT & I b7 BT S1d BT |

(16)



A force of 10N disp;aces and object by 5 m. If the work done by the force
Is 29J. calculate the angle of displacement.

10ms?! & a7 & = % i @ ot Sott 10j 2| fUs &1 a7 fasan

gl fb Sort 10J 21 fis &1 97 foham &1 f& ot 90J & 4 |

The kinetic energy of an object so that its kinetic energy becomes 90J.
What should be the velocity of the object so that its kinetic energy becomes
90J.

0.5 fhum @ fdll 9% @1 Fotl H 1J ufdds & & ford 99 fobaeil Sarg

ddb ST BRI 7

Calculate the height at which an object of mass 0.5 kg should be raised so

that its energy changes by 1J. Given g = 10ms

(17)
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AEATI-6
Chapter -6

frefl amm # & ST SR e W 98 391 ' O 7 |
A body is cooled if thermal energy is extracted from it.
amErdT & 0°C 3R 100°C & 1 & T & Hol 3faRTed HEd & |
The interval betweerfQ of a thermometer is knwon as the fundamental
HAR! HH BT I8 AMAT 2 Wl U I g o & A9 H 145°C I 155°C
s 1°C &7 gRadT @R < |
Calorie is detined ad the quanitiy of heat required to change the temperature
of 1 g of pure water by°from 14.58C to 15.5C.
og S 3l fafre S Haifdre gkt
The specific heat of pure water is the highest.
A AR 1 Refd T 9 gRT &1 18 &1 = S 9% gRT ol T8 ST
For thermal equilibrium, heat given by the hot body = Heat absorbed the
colder body
3feReAT YRTAT DI {HAT H HHT BT ATGH—YUST BIAT & UG AT AR

JEdT 2 |

Heat is exchanged during change of state, However temperatrure remains
constant.
forell UaTed @1 T S, T BT IH AT BT Had & ol Id a9 IR I

eref & Uhich SHATT BT gL RTdT Y ¢ |

BT ueTel B Ui idTs &1 Bsd dlu &l 1°C 9 TR S9! odls & ol
gfg 8RNl & 98 99 Yard &I &F UHRI Od S o |

The Latent Heat is defined as the heat required to change the atate of a unit

mass of a substance at a fixed temperature.

fe<iT ST yaTef & Yebieh STRITH bl 19 1°C d6T R SHS I H Sl g

(18)



B & SY S 9%g @ garf &1 AT YR OIS HEd 2 |
The coefficient of volume expansion of material of unit volume is equal to

the increase in its bolume followin§Clincrease in temperature.

oY S« Y% / Short answer type questions

1.

SH qAT Y H 3R oIy ?

Differentiate between heat and temperature.

STFe¥l oHHIeR 3R YANT 2I1er oFHier d dIg & 3R forfey ?

Write down two diferences between clinical and laboratory thermometer
Sfae) GAHIeY B B & ded & UK gASR Ridqed Bl &, Fif ?
Why a constriction is made in the capillary of a clinical thermometer?
adg A ¥ wEd 7 |

What is the thermal equilibrium?

Jyfereh affac | @T dread 2 ?

What do you mean by relative humidity?

U e 3 9% A3 ST w_1 81 dl e @7 a8l 9dg 0R Ul @l
BICI-BIC! §d 9¥ OF Il § &f 2

Why water vapors condense on the outer surface of a glass containing ice

cold water?

dESa 9 / Long answer questions

1.

SIFER] AT BT T BT qUI DI ?

Describe the construction of a clinical thermometer

fAstor @ fafr 9 fxdl o @ ¥ o1 & 3a o3 ? afoid enfud
IRD W DI ?

How can you determine the specific heat of a solid using the method of

(19)



mixitures? Establish the formula also.

Rrg oifor:
atrn | oars ¥ Rady
TR T = —
URM$ drs X dTar
Prove

Change in length

Coefficient of Linear expansicn
Original length x Change in temperature

g aIv:
a . &=thel H IR
: JAR [0l =
URMY® &%hel X drdds
Prove

Change in Surface Area
Coefficient of Surface expansior=

Original Surface Area x

Change in @mperatue

fRrg @i e # uRads
I YR T[0T =
URAh 3FHT X dHeR

Prove
Change in&ume

Coeficient of \blume expansios
Original \blume x Change in temperature

& HSG 939 / Numericals:

1.

fTferRad amdl & @feas UMM W A @1 8T 2

@ 77°C (b) 123°C (c) -15°C () -13°C
Convert following temperatures to Kelvin scale

(@) 7PC (b) 123C (c) -18C (d) -12C
fferRaa aml & dfers Y\M R A9 @r 8T 2

@ 273K (b) + 173K c) +73K (d) OK
Convert following temperature to Celsius scale

(a) 173K(b) 173K (c) 73K (d) OK

(20)



0.05 fHUT AN & T4 & Usb dhura § 40°C &1 gfg -1 & o faaeit

S DI aeHhar R ? did &I faftree w1 390JK-g 1OCt 2|

How much heat will be needed to increase the temperature of 0.05Kg of
copper by 48C.Given specific heat of copper = 390 J kg- 10 C

15 IT. ST & A9 H 600 J HEAT feba ulRac &¥afl ? St al fafdee oA
4180 J Kg."*°C

Calculate the increase in temperature of 15g of water when 600 J of heat is
supplied to it. The specific heat of water is 4180 J¥g=1

50 U1 GHE & dle & Ths Pl URMS ard 100° 2| 39 Ths Dl (@)

20°C am grel 100 AT STl # ST ST © | Afe fAsror &1 ama 255°C &1

9 a1 A 31 At o= = sifv ?

50 g of an iron piece with initial temperature of 4D@vas dipped in 100g

of water all 20C.If the temperature of the mixture becomes Z5 then
calculate the specific heat of iron.

0°C am &1 50 U1 a% &1 (@) 0°C & o # uRafdd &3t & ford faha=
ST BT AAIHAT BRI ? % B [ SO 80 bl U= 7 |

How much heat will required to convert 509 at ice %@ @ water at €.
The latent heat of ice is 80 calorie per gram.

100°C arg & 10 UT STt DI AT A9 &! arsg H gRafed & & ford fhanit
S IALIHAT ST Bl ATaLIHdT BRI ?

10g of water at 10C is to be converted to steam. Calculate the heat
requiredif the latent heat of steam is 22.5x105 J kg -1

20°C dY WR @l @1 eI & @drs 100 341 § 40°C A0 R @] ofdlg
100. 024 THI. B ORI © Sile Bl NI TR T A1 DI ?

The length of an iron rail at 20 is 100 cm. Its length increases to 100.24
cm at 40C. Calculate the coefficient of linear expansion of iron .

(21)



SO — 7

Rea et &t gfd &Re-

1.

T ... P q8h © | fb A" B BN B
Waves are carries of ------ and not of medium.
UL TR T B, RO AIH & Bl DI 37Ul Hot Referai or iy @t

If the displacement of the particle medium is in a direction
perpendiular to the direction of ----------- then, such awaves is called
transverse wave.

.................... AT 9 8 5 JegH @ bl Bl U Hel Reaferi uR i @l

ferem, TR HARor #I faem H 8 B8Rl § |

If the displacement of the particles of medium is along the direction

of propagation of waves then, such awave is known as .....................

wave.

TR T oo @ ®Y H UG e AR ..o & wY H FART

Bl B |

Transverse waves travel as..........ccccceevveevennnnnn, while longitudinal

wavestravelas .....cocovcveeiiiiiiinns

531 OUURRURRRRRURURRR B U WY 2, [l SdTcAd Aed H e+ Juled
SEIE
Soundisafromof......ccccccceeeeiiiiinnnnne, It propagates as compression

and rarefaction in a material medium. Sound can not propagate

through .....ovvvvveeiiieeiieeeee,

(22)



UR+.1

UR-.2

UR-.3

UR-1.4

The speed of sound is ------- in solid, ------- in liquids and the -----
in gases.
#19d b1 #1avr i 20H, @ 20000 (20 kH) & 20H, &# smgfer o eafy

The limit of audible sound of human being is between 20Hz to
20000 Hz (20 k Hz). Sound frequency below 20 Hz is known as --

In order to hear echo distinctlhe time intervel between the
original sound and its echo must be at atleast ----- :

........... @ Tl DT SUANT TG DI TER1g oA B H, Sl & A fodl
fhar ST ®

------- is used to determine the depth of sea, and in direction of

submarines, sunken ships and hidden rocks.

e R’ 8 ?

What do you understand by a pulse ?

el TR & O R E P

Give the properties of a wave ?

& B I BRI § 7 & R e wY H HaRd B8Rl § ?
How is sound wave produced ? How does it propagate ?
AT T & ? SHBI AFD T © 2

What is frequency and its unit ?

(23)



UR-.5

UR-1.6

U7

UR-1.8

UR-.9

UR-1.10

U211

UR1.12

UR-.13

UR-.14

UR1.15

TR R/ E P

What is meant by ultrasound ?

3TITRET U4 et a¥ # &7 — <1 SfeR fafay |

Give two differences between transverse and longitudinal waves.
I @) gormr # Sl iR gal § ey &1 9 ifde gt grar 7 ?

Why is the speed of sound higher in solids & liquids as compared to

gases ?

TGN BT A6 B & ol WAl &7 ITANT fhd UdR ol § 7
How can ultrasonic waves be used for cleaning of objects ?
TRV W (MY FT FHd 8 2

What do you understand by reverberation viverberation ?
NG S [ UHR TSR ¥ 3101 ReR gad € 2

How can bats search their prey in darkness ?

g HERT B AR BT |

Explain the propagation of sound waves.

WREA & AT foalRad |

Describe the applications of ultrasound waves.

S & TRIEA 9 Y 9T T8I 8 2 & & WRIad & 98l AT
ferfag |

What do you understand by reflection of sound wavesite\6lown its

applications.

AMR 1 & ? 9FR & drifafy gd SyarT faRay |

What is SONAR ? Describe the technique of detection used in SONAR
and give its application.

AT Hl W) e fewolt forRay |

Write a short note on human ear

(24)



UR-.16

URA17

UR-1.18

UR-1.19

UR-1.20

UR-.21

Rl TR BT 977 330 M/S T SR TR BI gRT 10HZ 2, a1 IFHT
SRS NGl I

Calculate the wavelength of a wave of frequency 10Hz and speed 330m/s.
fel TR @) amafdy 2kHz 8 &R Swar a9 a=d 35 mz | 98 1.4 km

0 T H o w9g onft ?

A waves of frequency 2kHz and wavelength 35m travels to a distance of

2.4 km. Calculate the time taken.

g b=l R 1.7 5 #7719 5 7 990 © | O ST ey AT gy ?

(1 5T 1 7, 1 T & 991 )

If crest and 5 trough are created 1s, calculate frequency of the wave.
gfe el eafsy o1 ufcreal™, 4. & 97 AR <l © A1 e 0 T 3R
T 9= @ 0 G DIy | &y B A 344m/s g |

If the echo is heard in 4 s after the sound, calculate the distance between

the source and reflecting surface. Speed of sound is 344 m/s.

Sl g2 ofle @ U & RRI IR 90 € | U o X &l TeeR A AR R eafy

I PIal TG IF Al & IR & AT | G AR b ARIH A g A B
U T BT | a1g ¥ &af= &1 T 344 M/S (20°C )@ @rg H 5130 M/S

(20°C ) &fifvmg |

Two children are sitting at two ends of an iron pipe, One of them strikes his
end of the pipe with a stone. Calculate the ratio of the time required by the
sound to reach the ears of the other child through air and iron\. Speed of
sound in air = 344 m/s (at ZD) and iron =5130 m/s (2C).

U A7 [l @l Ice & Ui dTell Joiral & SR S9! ufceaf 5 s &

g g odl & & B A1l 346 MSTeAl §Y, a1 Fce ™ a1 s &

dra B U A1 BINY |

A person claps near a vertical rock. The echo of the clap is heard after 5 s.

It the speed of sound i##8 m/s. Calculate the distance between the

person the rock
(25)



U1

UR-.2

UR-.3

UR-1.4

UR-.5

Y — 9

AvSolIh 3rad gRofl & 7 STAREr 2 |

what are the uses of mendlif perodic table

ST Jad AR & JMadT BT fdavor SIfU |

Describe the periods of longform of periodic table.

&R U &RIY JaT 13T & a1 — a1 -4 folgehy 3fTad ARl § Sehl I
foRau |
Write the two names each of alkali and alkaline earth metals and

point out their place in periodic table

3 (3MEITeh) 3MMadd ARV H AARADT BT IG & TART B hd JHR &
foar |
How the problem of placing the isotopes in new(modern) periodic

table is solved.

HUelith 1 3fTga 199 forRgd 8Y 59 afad IRl & <INi gd SuAIfar )

Gp1el STy |
Write the Mendeleé$ periodic law and elaborate the defects and

utility of this periodic table

(26)



YT A — AR & 1 g 3gdi &l faeyarg ey |

Write down the characteristics of periods and groups of modern

U7

periodic table

fewoft forRay —

1. IMA fawg

2. Solde SEar |
Write notes on

1. lonisation potential

2. Electron affinity

(27)



UR+.1

UR-.2

UR-.3

UR.4

UR-.5

Chapter 10

TS 1reed fiy ded € ? fhd fhas IR @ B ® ? BRI a9y
fh I MU H HANT FAT B & ?
What is called chemical bonding? How many types are of them ?

Explain the reason why the elements combine with each other

T I BT I 31T T BNl €, 31T Acdl | FANT T 8] Hall, faR
¥ Sy
Explain in detail why the gases of zero group are inert in nature and

do not react with other elements.

Jera |IATSH AR g Agdarsi AR & o1 H AR FHssY |
Explain thedifference between the electrovalent compounds and

covalent compounds.

T AT S THIBROT I DI — I AT SHGIRIT U BT € 2 SETERT
|fd auiF HINY |
How many types of informations are imparted by a chemical equa-

tion Describe with example?

agd | Al fagd & garee e & ar geadrs Aile fagd o1
EISEISE] PR I§ T TG Y TIRT BT Al quiE HRY 2
Electrovalent compound are good conductor of electricity and the
covalent compounds do not conduct the electribitglemonstrate

this describe and experiment with illustration.

(28)



UR-.6

URA.7

MR G AffEATY fhas UHR @1 8 ¥ | SaTExvl Afed aHegy |

How many type are there of chemical reactions?Explain with ex-
amples.

JTRITDHROT Td U DI URAIMNT PR gU 5 — 5 IQTERV (o
Y |

Define oxidation and reduction ,Explain them with 5 examples of

each

(29)



g — 11

URATY] MU ¥ Udh AR 4 59 NThy0T §RT S & oo CEC I
The atoms are held together by the froce of attraction which

is c called the -----------

U T IUAT gedei=ih faad fdbedd ... & FHH &A1 aredl @

X BROT g8 (BT I T & URHIY] A Soldgld, oidl, <dl AT ATl

FRAT T |

Every atom tries to achieve the electronic configuration similar
to the electronic configuration of nearest -----thats why it ex
changes or shares the electrons with atom of any other element
STd URATY] SRTGR gelag i @l AISGRT B ATTH H FAN A & a9

When the atom are bonded with each other by the ions formed by
the transfer of the eletrons then the bond is called the ----------

& SITS! Seldeidl Bl AEGRI & .....) & SISl 3clagMl &l ARQN A

....... T N SIS oraeil & AEER A ... a9 & |

2 197q Td AU & Hed IS &8 9T B |

Covalent compounds are ------- in water ( except sughecose ,
urea etc) but are souble in organic solvents. Covalent bond is
fromed generally between the two non- metals.

(30)



10.

11.

12.

|E | IT® gril H Sifderd (ITah, ool JRAT 1S DI BISHR)

ifdh Breif-ep faeire! d fdefd 81 & | AewIoll g8 AHIT : a 37Tq
ORATIST &1 91 a1 & |

lonic compounds are crystalline solids which have high melting and ----
--------- and are soluble in water lonic bond is formed between a metal
and anon -metal,

S AT 3T ¥ e USRI & FART BT SIS Had GF & gRT e 7 sfdidaH

In balanced chemical reaction the number of atoms of the elments of
reactants is equal to the number of ---------

RIS JAMfBAT & TR 19 &1 UaR] JAMUE H JSdh) a1 UaRT d4KT & |

When the two substances add together to form a new substance during
the chemical reaction ,reaction is called -------

9 il Uery @ INIRIG S SeaR |l T & Sffde AifTe (9eR) a4 ©
S HEd T |

When the chemical bonds of any substance break to form two or more
compounds then the reaction is called--------- :

9 Drg RS [Bare d@ fbdl AME H 9 A fGarelia o & A 6

R PR 17 AlTh a1 & | T 9 AWBAT Gl ... FEd Tl

When the more reactive element displace the less reactive element

in any compound to form a new compound then reaction is called
AT B I ©

ORI I8 are BIT ® Sff gUR el Bl 30 BR <l § foby W

SIENICRI RGN
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UR+.1

UR-.2

UR-.3

UR-1.4

UR-.5

UR-.6

U7

AT 11

Teh UTGY DI HI AMIDhd &F I8¢ ?

Draw an labelled diagram of a plant cell

DIRTHT f3Teell BT 9 dTel WISH &I A1 qa8y 2

Give name of the protein forming cell membrane
HISCSTHIGAT BT BIABT BT SHoll & FT Hed g | 7

Why mitochondria is called a power house of the cell?
AT SUBRT & BIRTHT H FIT BRI & 2

What are the function of Golgi apparatus in a cell

T ST BRI BT AHifhd foa Afed auiF sy ?
Describe an animal cell with a labelled diagram/
AHRFHINCH DI T YbRANSH PR H (AR garsy ?
Give differences between a prokaryotic and a eukaryotic cell ?

fewof forRgy —Write comments on
1. Tg9E  Ribosome
2. WG centrosome

3. dfdd plastid

4. g9TY | microbodies

Raa wm= & gfd #ifog—

........ ST &1 ol SP18 2 |

------ is the basic units of life.

BIRTHBT & TR AR ... U ST & | UTeY H g9e HUR BIfRrhT A
HT U GG SR BT & |

---------- is present around the cell. In plant, a tough covering of cell wall

IS present on it.
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10.

Cell membrane is made of ---------- and cell wall of -------- )
................... PIRGBT BT Afbg 9N & dAT T U1 BT 3Fex, drev

dYATHD ATTT Ul eldl %\r |

----------- Is dynamic part of cell and selective exchange of material takes

place inside and outside of his membrane.

............. PIRTHET H Bad f3leell BT G BT & |

g TAT SR HRAT & |

Glogi apparatus is a pillar of ----------- disec. It stores and modify cellular
materials.

BT UTey BHIRNBRIT H & YHR & ..., BHTART TN DR
EIMACI I

In most plant cells. there are present two types of --------- Chromplasts

and leucoplasts.
BRSO H . 2ld] & 9% TR hed & | I 9o
GIAYOT BT B B 2 |

Chromplasts with ------------- Il are called chloproplasts. They synthe size

the food.
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11.

12.

13

14.

15.

16.

17.

18.

19.

21.

Primary function of leucoplast is to -------- :

RUGT UG HIRIGN H U 91 ... Bl § |

In mature plant cell, these is present a large--------
............. BT JTHEAT B dTell el W1 FEd & |

------------ are also called suicidal bag.

SRR fITSTT Sadl ST9 PR 4 & 8l & | o ... Qd L H |

Meiosis takes place only in repoductive cells like------- and ------- :

TG faoE # @) <A@ Uge BT & 9AE Bl ©

In mitosis the number of ------------- in daughter cells are same as that of
parental cell.

RN fawrer # . afrHg B € | e’y Sl § Ara—fudr 9 6

TOT M E |

During meiosis, exchange of ---------- of gentic material takes place so

that offsprings have characters of both the parents.

Human being has ---- chromosomes.

....... Uh R GIANI Hdd & O IRR # fafa=1 ugrel &1 uRags &ar

------- Is a fluid connective tissue which transport various materials in the
body.
......... $Hdd Ufeadl gRT ATNNT UTRAT BT HU IFI T6 Ugdd & |

--------- tissue transport material produced by the green leaves

(34)



UR-1

Q. 1.

UR-.2

Q. 2.

UR-.3

Q. 3.

UR.4

Q. 4.

UR-.5

Q. 5.

UR-1.6

Q7.

e 12

a5 @7 98 oEn oA il Sidl @& aefiaoT &l fegae far Sran
g, HEad |
Branch of science in which study of classification of living being is done is

called ---------- _

Carolus Linnaeus is the father of ---------- )

SaeTRIT & ALl FEl & ... Ted YANT by & € |

A ARG & <1 Sigelt & A foafay |

Name two animals of phylum mollcuses.

59 favror e Sig o a7 Sirar € 2

Which animal show division labour ?

T fvsd g &1 uroft g 2

Which phylum Amoeba belong to ?

| IMArST & &l fokay |

Give characters of phylum arthroporda

I ST Blecl & G vl falRag g avf & ™ forfeay |

Write the main Characters of classes of sub Kingdom Chordata ?
IU ST A Blecl & & vl foiRgy Ua s9a a1l & M foray
I & Ao forkay |

Write the main Characters of sub Kingdom non-Chordata and write names

of its classes ?
(35)



ged7 W 9 & et faRau |
Q. 3. Write Characters of Class mammalia.
o8 SU SFd dlecl & BRI Hf Udb dIc & ©U H §918Y |
Q. 4. Give Classification of sub phylum Chordata in Form of a chart.
ged9 WISy Yart ¥ fAede 9 @ g 7 ?
what is meaning of adultration in food product ?
ge.10  WHO &1 WIUAT & gg off ?
When WHO established
o141 WISg UG | fAelae T W@Rey R AT UHId Usdl © 7

How food aldultration effect on our health?
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g1 13

INR T Sfee Ud 3D T 3l A HeAdR a1 8 & a1 A1 U ...l

TRE BRI BRAT B |

Through body is made of many highly complex organs system still it works
as a single------

fITTT RS & AT . R AT 3MIeTF & |

------------ health is also as necessary as personal health.

I WReg & forg . 3MMed AT AT T 8T A d & |

------------ habits, exercise and rest are necessary for good health.

4. U1 Ao o 94T diwer uered, St A H el 8@ ST & |

The food which has all nutritive substances or nutrients in proper pro por-

tionis called a -------- )

faeIfie ¥ YR @ B8d & - qIm K 3ffe |

The condition due to the lack of balanced diet is called -------- and the

disease due to this is called --------- diseases.
qorT # i ygredt &1 BT fieae deade! g |

Adding unward material in the food is called ---------
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

.......... BT TIET0T fHar S HHT

-------------- can be tested.

AT BR & A ... BT WReY & Y 3MawyD & |

Pure drinking water with a balanced diet is important for health.
------- Ueh favaeTdl e & Gl v WR R R Heell Bl R 8l © |
-------- is a world wide organisation which function for health related work

at world level.

AT : T S YR b <Id & — .o Lo A

Generally diseases are of two types : ------------ and --------- .
SIETY], arRd, eSS U ........ SICIN

There is no treatment for------ .
.......... AT F W BT T X oA B |

cra i) ) Ny p— =

Reason of AldS is----------

--------------- should be given to the patient fre quently in diarrhoea.

JAYIH Sf. JHTes I 1887 1 I fh HARAT BT IMTHRSG G ....... §RT
Hedl 8 | 39 @il & oy I Al9d [hR fAer |

First time Dr Ronald Ross (1887) told that disease causiggrosm of

the malaria is transmitted through-----He was awarded Nobel Prize for

discovery
(38)



9.1 STl H HRIES B IAfDhdl H DI — I T I 8Id & 2
Which disease are caused due to excess of flouride in water ?
ged2  HIoM & YgE ®R feIRay ?
Give main functions of food.
U3 gferd SMER b — i dR$I W R &ear § ?
On what factors does balanced diet depend on ?
U4 fIefE S o o | Agst # B a1 97 Bar ® 2

Which disease is caused due to dificiency of vitamin D in human ?

g5  BHoR S H B A FauT geol I8d © 7

Which salts are dissolved in hard water ?
U6 Sildd &P Gl a7 8 ? 39 991 & fafy faRau |

What is Oral Rehydration Solution ? give method of its preparation.
U7 CIBISS, JIUER UG &9l bt & Udh U HROT [offay |

Give one cause each for the spread of typhoid, diarrhoea and cholera

U8  BISSIBIEadT AT BT fJavor ST |

Describe hydrophobia disease.

U319 MG U4 AHMD T H IR forRaw |

Give difference between communicable and non-communicable diseases.
Y10 HHMH AT H I AraEEat @ 9@ty ?

What precautions are to be taken in a communicable disease ?
gedA1 R B T AEd ® ?

What is the importance of health ?

g2 99 WReT e T BRI HRAT § 7
What are the functions of world health organisation ?

o413 WIS & TG 9Cdh D A 7 ? ITd Sl 9l forikey ?

What are the main components of food ? write their sources also.
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Y14 BAR IRR T [AeIfid qen @f st a1 snaegddr aaf gl § ?
Why our body needs vitamin and mineral ?
ge15 o 9IS ugrRdl | b — A gl &1 feee &1 Sl 7 ?
del, g9 BIeliAd, T, 7 |
Which adulterants are added in the following food materials ? oil, milk,
black pepperfood grains, ghee.
Ye16  HIRAT B IMTHRD, dTedh Sild defol T IYAR WK fde foaRay |

Write an essay on pathogens, vectors, symptoms and treatment of malaria.

ge17 TS WR Ud ey oy |
Write an essay on AIDS.
Ued.18 TUfed AHD NI Bl f[IERYdd FH8Y |
Explain in detail tuberculosis disease.
UeT19  BHAl o I BT ISR AT IHASY |

Explain deficiency disease with examples.
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SEqTT 14

IIAT Td AT UIGH DI maIHaril dl gfel qafaRor vd Urdhfde ) ol
THA UEAY 3T IR g ST BT BT ARG 88 € |

The necessity ofsustainable agriculture was felt ot fulfil the needs
of present and future generations without damaging the
envioroment and the natural resources

Icare far S 2 |

Sustainable agriculture is a kind of agriculture in which food
production is increased substantially without affecting the
enviroment

ST Y BT gaterviia @l sterar wrefe @l W wed 2|
Sustainable agriculture is also known as enviromental farming
or organic farming

UH B Wd H I 1al NP B BT A1 — A1 I DI far Al
AerarR srerar A3 Sust dEar § |

The process of growing two or more crops simultaneously in

afield is called as mixed cropping
I @ AT AT TR I8 & ol B 9F H Solgell Bddl (Bellar
W) DI AFAfIT HRAT ARy |

During crop rotation pulse crops (leguminous crops) should be

included in order to maintain the fertility of the soil
AT AT H I B B AR & HIRYT [oTRgy ?

Describe the needs of sustainable agriculture in modern times
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10

11

12

13

14

15

16

AP @ o g sfoarsat & g ?
What are main difficulties of mixed farming
6o Fafeld MR ISR dr Susl & g IaTeRvT oy ?

Give some examples of the pattern of mixed cropping generally

followed.

A3 Uerar srerar ust &1 g Bl o1 © ?

What are the disadvantages of mixed cropping

UR: R0 Pl IEERUT Aied W DIy ?

Explain the process of introduction give ing examples
WE PG B I BN aaq BN 3 I g ?

Justify that sustainable agriculture is better than the present
agriculture

AT @ & T @™ BT € ?

What are the advantages of mixed forming

A3 Sue <4 & yqgE Riglad @ar g ?

What are the main principles of mixed cropping

HHOT R E ? IATERVT GRT AHRY |

What is hybridization ?Explain with the help of examples
HHA & O H IR BT AT Td Iqa T DY |
Explain the need and objective of crop improvement?
UTEH ToT I ®f W o I9a! fafr= et o a9emEy |

Explain plant breeding and describe its various methods
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AT 15
Chapter - 15

ST, WIS G afcT OIS ¥ el 81T § |

Plant protiens are different from animal protien

UYEF §RT B9 Y, JUST a1 #i9 & WU H Wrel yaref Iuael g © |
Live stock provides us food in the form of milk, eggs and meat.
JHN g & SffaiRad A Wiftd gg “l §%=9 w4 | dlell 9l & |

Goat is domesticated mainly for the meat in addition to milk.

BTN FHY & dTell D ATl Gl Uare] bl ORd Uil Sl & oy o=
dhed 2, $99 URIg fd 9991 O § |

Pashimina is found as a layer of soft material under the hairs in Kashmiri

Goat from which famous Pashimina shawls are prepared
¥qd Bifd Y IET H gig & FWiRd 2 91 gy e dried @
MR-l BT Gl & T3 © |

White Revolution is concerned with the increase in milk production and

Operation Flood is the name given to milk development programme

el BT & T Aol SUGT § 9§ 9 © |

Blue revolution is concerned with the increase of fish production.

il Ua URIg wRa i @1 %t € o o A1 & forg ufRig € |

A seel is a famous Indian fowl breed which is well known for its meat.
HEHT AY. BT U URAg AR arell T & et 8 ST 6 sirgen forel #

T wY A gl Sl 2|

Karaknath is a famous meat producing fowl of Madhya Pradesh which is

mainly found in jhabua district.
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10.

UR+.1

UR-.2

UR-.3

UR-1.6

URA.7

UR-1.8

UR-.9

UR-.10

UR-.11

UR1.12

UR-13

Uggeil W T Y wU | Siar], fAuT] gq UIersiel gRT S B § |

In cattles, diseases are mainly caused by bacteria, viruses and protozoa
M oggell § g7 SeR R Hfeddd & A W Bl 7

In cow generic cattles, milk fever disease is caused due to the deficiency of
calcium.

¥d Bif 9§ 39 T T BT 2

What do you undestand by white revolution

HIAD U IATEH T D RART el HI A 8 2

Which one is Indian breed of cow which gives most milk

A IUTGH HRA dlel U3 BT A & |

Which are main meat producing animals ?

R AET DT gB Dl PR AR e BIY ?
Explain main features of Barbari breed of cow
T BT §SgasT A%l UTe 3 T o™ § ?

What is the advantage of double purpose breeds used in poultry farming ?

Ug] AT & YbR 9 IUAINIAT G182

Give types of cattle sheds and their advantages.

Al & IMER H S SI+Id e ARl BT Agcd qASIY ?

Explain the importance of animal food resources for humen food.
I P IRAT Tl BT faa=or <RTg 2

Give details of Indian breeds of buffaloes.

Ueh ITH U] AT B4l 84T =18y 2

How should be an ideal cattle shed ?

Ug] Ud gferi &7 A= f[Rikal & 99 3 W Sug 9d1sy 2

Mention main remedies to protect cattles and poultry birds from various
diseases.

HEA THEE T & ? FHD] JAeIDHAT & BRI IA8Y |

What is artificial insemination ? Give reasons for its.
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ST 16

AN T UTgide S ¥, a1y, Sid el 3l 8 ?

Our main natural resources are earth, air wated etc.

UTehfcres FATEAT @ AT § BOIRI oIRd a9y o d § °

It takes thousands of years for the formation of natural resources.
gl TR G AT Sl Bl ATHT 98 $H & A SHBT SUINT [Hceqardr |
BT AMRY |

As there is very less quantity of drinking water on earth. Therefore it should

be used economically

il Ug Siqell @& ARV Bq BHY ;a9 HaEd Ud 9 Sild IIRUAT BT
T qr=g Uy © ?

For the conservation of plants and wild life, forestation and development
of wild life sanctuaries are the primary alternatives.

BIeT Uq USIforad Wit SHoil & T SR WId & | UThfid Hme

& wT H DT SYANT Haegadr | faar S =y |

Coal and petroleum minerals are the main non renewable sources of en-
engy. They should be used as more economically

Pret (Praen) Td Ipifr A @ waE & A9, TevE ¥ ¥ sha—oiget ¢a

Ol & Siaredl & ST QM 9 dY W daeIRAT §RT uged 9 §9d o |
e Bl fBar agd & T | Il § 8fd: S a1 § ol 99 & S

g |

Coal and Petroleum are formed by the decomposition of fossils of plants

and animals burried in depths below the surface of earth at high tempera-
ture and pressure, by the bacterias. It takes millions of years in their forma-
tion as the process of decomposition is very slow
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10.

11.

12.

USIOrIH T A @1 98 & A Rerd U il | FadTe 2g 9Ra

# 3N TSI SNIMS.Ue TAMY MR T vy & |

The prime organisation which extract oil from oile wells in India are ONGC
(Oil and NaturalGas Corporation), OIL (OIL India Limited) and IOC
(Indian Oil Corporation)

UeIforad & gUTSll AT & USIerdd 149, 32R, USId , BRI |, SIold,

S, TEd Aol WRifthel AH Thlee Ud DIH o 988Ul TSl U 8ld

=

By the fractional distillation of petroleum the very important fractions like

petroleum gas, ether petrol kerosene, diesel, fuel, lubricating oil, paraffin
wax, asphalt and coke are obtained.

UgIferad ¥ ¥ Exel 399 YUl Sh UTd Bl §

L.P.G. (Liquid Petroleum Gas) used as domestic fuel is obtained from

petroleum gas.

DIl Ud USITOTIH UGTAT & STt § Sed=~ Ug¥Yl A1q @R & foTy 3ue
SRS 2, B bR & I Fadl I BT SA~ Bl & |

The pollution caused by burning of coal and petroleum substances is very

harmful for human health. It causes many breathing problems.

BT TR AATSIDHAT Tl Teb VAT cd & [OT9H 31 PTe- URATIS B AT
BT HIES TS 9g8a nfdes A # 8 T |

Carbon is tetravalent element which has the characteristics of forming a

long chain with other carbon atoms. This charcteristics is called catenation

and due to this ganic compounds are found indarquantity
HIE 3R BTSgior ¥ MadR 99 AIRTHT Bl BTSgibEd dad & | J AJd
3R JW T UPHR & B T |
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13.

14.

UR+.1

UR-.2

UR-.3

UR4

UR-.5

The compounds formed by carbonand hydrogen are called hydrocar-

bons. These are two types saturated and unsaturated.

RS BISSIDBIE Bl Vol PEd € | $ADT AMI 3 CH, ., BT 2 |

2n+2

Saturated hydrocarbons are called alkalnes which have the general

formulaCH, .,

AT BISSIPIET Vel T Uehls &l UbR & &1d & | Yebld BT AHI

A CH,, T YedbrsT &1 A 333 CH, BIAT © |
Unsaturated hydrocarbons are of two types, ethene and ethyenes. The gen-
eral formula of alkene is @,and the gernal formula of alkyenes is

CH

n 2n2

A9 BT dTel Yo, UehIe g Uedblsd & 317 9 ferlRay ?

Write down the formulae of alkane, alkene and alkynes containing three car
bon atoms.

Ucq & I Al & A gd E¥ar 93 forfag ?

Write the name and structures of the three isomers of pentane.

TIRTRITAT H SHicegd Paigs ¥ YHIfeals a9 F9 $IF Al Aae i

NCRINCI TR

What precations should be taken while prepring acetylene from calcium car

bide in the laboratory

AT ST8H T 8 ? S9HT SUANT fhd geSIbed &l g9 § 8Idl & 2

What is doda lime ? Which hydrocarbon i prepared by using it
AR fFd FEd & ? T & dgadlv &l e ffafdar
oy ?

What is polymerisation of agdéne.
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UR-.6

U7

UR-1.8

UR-.9

UR-1.10

TARTENEAT H Slele a9 &1 Al &1 dhad Agferd IS FHISBROT
forReyy ?

Write only the balanced chemicla equatinn use for the preparation ethelene
in laboratory

gAY fH HEd & ? FUICAA & IgADIVT B IS BT

forfay ?

TR T AR MMAfFITRN & Uh—Td SR I 2

Give one example each of substitution and addition ractions.

PIIC ® | AT DI AHIHAT [F FHIHY UTd UGl & ITANT ferlRay?

Draw labelled diagram of destructive distillation of coal and write the uses

of the obtained producrs
Ui & JHTSll JIIae H Ggdd UHTSTd 9 &l AT o g8y ?
fafr=r a9 W gt 89 arel gWTdl @ 91 U ST faRgu ?

Draw the labelled diagram of fractional culumn used in the fractional distilla

tion of petroleumm, write the names and uses of the fractions obtained at

various temperature.
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Sy 17

i STET ST A Siide ATU HRal 8, gl Ud [aerd HRAl &, ...... DIl
2| 3mard < UBR BT BT | ST, ... qd .. |
The place where an gmism lives comfortablygorow and develops in

known as ------- . Itis of three types: ------- R and --------

The organisms show certain modifications to live in a particular environ-

ment. These modifications are generally carried ta genera tion and

are called as --------- :
e F 3N B JMIR W ... ferg a9 € ?
Plants show -------- features according to their habitats Xerophytic plants

Kangaroos use their tails to maintain -------- while running.
oS Bl ... 3RIferal & & HURY & |
The --------- of a horse are modified toes.

Sidl & 3T A% & fafi= fEaramerdl | < 81 S § o4 Siia 3=
JMATT BT WIol | T & 399 IS9P ...... gHTfId 81 Ol € | 39 d)g Yot
@ faq 89 & WaxT 9¢ o1 © |

Due to various human acticvities, the habitats of sevral organisums are

destroyed. Due to this organisms move is searchatternative habitats,
thereby adversely affecting their ----------- In this way tls& of their me-

dicinal properties.
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UR-1

UR-.3

UR-1.4

UR-.5

UR-1.6

U7

UR-1.8

UR-.9

AR SNAUTH YR ST aTel STRIier U urelf & fafy~ Wi .9 & w9

HTH 3T & |

Most of the plants growing around us are useful for their -------- properties.
3Tl eToT fhdl dad © 7

What is meant by adaptive features.

faff=1 UBR & M & =19 9ard 8¢ & — & IQTEXVT QoY —

Name different types of habitats giving two examples for each type
T Sidl & URY & wUTRT fhd= YHR BT BT © S8R0 Fied gdrgy?

How many types of modifications are found in the feet of terrestrial ani-

mals. Give examples.

g 3R BB BT (R YA §97dT & SABI JT IUANT & 2

The head of rat and shrew from a snout. How is it used ?
STellg Sidl &l ¥R fgured q9Ad i grar & ?

Why is the body of aquatic animals bilaterally symmetrical ?
S Sidl H gramerd & SUART 918y 2

Explain the importance of air bladder in aguatic animals ?
IR Uil & ISR H & & ¥ § ?

How is the knowledge of medicinal plants useful for us ?

qHGE el H UTg S dTel Tdal &l qHSISY ?
Explain the adaptive features of xerophytes.

T BIl —

1. ARG UlEl @1 gfcqal drs! hell g9 sl |

2. gferai # gfgsar 3 Bkl 2 |

3. Sl Sil@i § Ig Sl & IF 0R ER U¢ oI © |
4. el AR TIeell Bl SR dodl &1 ARl 9 =erd |
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What would happens if :

UR-1.10

U211

UR1.12

UR-1.13

UR-.14

I. Xerophytes had broad and expanded leaves.

i. Birds had solid bones .

li. Aquatic animals had hooves in place of webbed feet.

Iv. Dogs and cats walked with the help of sole of their feet.

I I BT FILTYdTetl Bl g §Y A Sfig & SeTEReT Y |
Giving examples of arboreal {aerial} animals. explain. their adaptive fea-

tures

BAR SMAUN YT $H el IR el diell & areeafcre 9 <d 8¢ S+
AT BT TSR ST et 3iwefig o fdar Sier © |
Giving the botanical names of four medicinal plants growing around us, de

scribe their parts having medicinal importance

g

Describe three human activities that create inbalance of the natural environ-
ment

Sial @ STard BT AReTvT el fohar o wivRl @) yonfodt faee & S |

9 HUF Bl ICERVT Afed AHSRY ?

"If the habitats of the organisms are not conserved then many species will
become exinct". Explain this statement giving examples

I Uiel W g FEy falay ?

Write an essay on medicinal plants.
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SEqTg 18

1, IIATARYT & T4 Sifdeh 3R Jifdd gedi & 9ol 9 A 9911 U [Gard®

A functional unit formed by tbe co-ordination of all the biotic and abi otic

components of the environment is called as ----------

2 UREH & UgE Sifdd °cdh IaTead Ud SUHIGT & Sld 3fifdd gch

The main biotic components of and ecosystem are producers and consmers

and abiotic components are organic and inorganic substances and --------

factors.
3. HTIHAD Gt F &I I BId & — .o I |
Functional components of and ecosystem are producers and --------- and
4. SEAEE BH I IO IATGd | AfoH dP ygaar g |
Food is transferred from producers to top --------- in a sequential step wise
manner
5. HISH & R WX 3 @I G BT MU H SS[ ... HeANl ©

The interlinking of manu food chains from a -------

6. JTER I A U Tedl b SRR TAT SIal B ... DI HHAST ST Hepell
g |
With the help of food chain the transfer to nutrients and ---------- aiff-

ferent ooganisms can be explained.

7. fedt oY uTRT= & F8 TP TR B Ihd & | YU TP WR W ... g

In an ecosytem there can be many trophic levels but, the first trophic level
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10.

11.

12

13.

14.

UR+.1

UR-.2

UR-.3

Is always represented by------- and the last by the top ------- :
qIRAdS &I U B ... g —

There are-------------- two main functions of an ecostem -

qRES H Holl BT Jarg IATGH H SYHIR ddb 8l g, SULCH] DI AR
T € | $9 AXE ol Bl YdTE ... BT 2 |

In an ecosystem flow of energy is form producers to consumers and then

The main biogeochemicl cycles are --------- and ---------- :
TR TF J&ad: WIell UF Sileld 8ld & |

Ecosystems mainly are -------- and -------

frefl aRReIfa @3 & garg &= # Sial &1 WR & 99 IR $Hgadl 2 |
Ecosystems mainly are terrestrial and aquatic.

S Hed # A ke @ ST 91g O 21 S &Y ... PET T ® |

Biosphere consists of a variety of different organisms and it is called as ---

Sl fafdear & G g W SUR RN Bl SRRad BRI, ...

T ST IRIROGT BT AT B7 3R oid Nenfirad) 2 |

The main methods of conservation of biodiversity are creating awareness
amongst people, use of -------- and establishment of natpark pature
reserves and sanctuaries.

IUHTEIT | T MU 7, ' YIRS & SUHIGAT & AW felRay ?

What is meant by consumers. Name the consumers of a grassland ecosys-
tem.

Iifdd ged HIF — DI A B g ? Bl U gcd BT quid HIfg ?

Which are the abiotic components ? Describe any one of these.

fawq urfy g fhas yoR @ 819 € 2

How many types of heterotrophs are there ?
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U4

UR-.5

UR-1.6

URA.7

UR-1.8

UR-.9

UR-1.10

UR-.11

UR1.12

UR.13

Sl RV T 3MIeTH B ?

Why is it necessary to conserve energy ?

A g9 UIRAH | AR IRI BT bR R a1 S a1 gikd = uR /1 y7d

BT ?

If in a forest ecosystem all lions are killed how will it effect the ecosystem ?
AN o Hier BEf & T dRd § ?

From where do saprophytes obtain their food ?

OTREH | AT T FHSKT & ¢ UIRAH & A= gcadl &I qAsISY ?

What do you understand by ecosystem ? Explain the componets of an
ecosystem.

U9 WX BT 1 AR § IIRGS H 91Y S aTel =1 aivd Rl &l
REEIEINE

What is meant by trophic level ? Explain the different trophic level of an

ceosystem.
qRds H ol UdTg $F BidT & ° D UNd &R WX B9 dlel SHoll Ydre

DI fIRga wU H FHRY ?

How does energy flow occur in an ecosystem. Explain the details if energy

flow at each trophic level

ATSEISH 9% DY ORI 81T & |

How does nitrogen cycle occur in nature.

Sl fafafear v 9o #ew ey fafey ?

Write an essay on biodiversity and its importance.

" BTG B FSHE I AfH SuHET | yWIfad BT 8 | 39 U B

el $gell & AIH ¥ FH8y ?

Spraying of insectcides even affects the top consumers" Explain this state-
ment with the help of a food chain.

Sl Hhe R Tdh ae forlRay |

Write as essay on emgrcrisis.
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CHAPTER 19

FILL IN THE BLANKS

1.

TR IOIRT IR HREH I e arel ef vt &7 ......... gere] PEd T |

The useless matrials produced in houses, markets, factories etc. are called
as--—----- materials.

..................... uerell & W ST 8 |

The major sources of waste materials are --------

JURTE UGl & dF UHR 8— oM, 59 3R ...

Waste materials are of three types - solid, liquid and --------

RS BT Hal FUSH @ o Uee HEaAral B |
The proper disposal of waste materials is known as ------- management.
JUREl & Ygee &I e AR & 9T — SO o ST anfe |

There are many methods of waste management like dumping, ---------

drainage etc.
.................. 3MYIeh, AR T JHTaRITel Al © [ordd §RT BH T 3 TG
IR & S |Fhl © |

-------------- Is modern, convenient and effective technique in which compost

is prepared in a short time.
fhdl o T Y1 SUARMT ST G TBUT BeATdl & | IR 31 ufereey

BIYA : BT [HAT ST Hebell & |

To make the useless substances re - useable is known as ------ . Most of the

waster materials can be -------- .
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Short answer

1. FHHRST a1 & |
What is meant by composting ?
2. IR W T — T A § P

What are the advantages of biogas ?
3. fo1 fobet ugmIl &1 4 - =T o ST Hear € 7

Which materials can be recycled ?

Long answer

1. Ufellell | & SUART 9 B alell BI+Al forfgg ?
Describe the ill effects of using polythene
2. JH HHIRST F T ™ & |
What are the advantages of vermicomosting ?
3. IRIN |9 &7 AMifdd & 180 |

Draw a labelled diagram of biogas plant.
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9.1

9.2

9.3

9.4

9.5

Ro wmi @ gfd @S- Fill in the blanks:

N, vefd § ST BT D oo =

The unit of Heat is C.G.S. systemis .............

ACRE U UF BT B D I 2 |

In centrigrate scale the Freezing of point of water is ........... °C

................. dg 98 a9 2, Sl IS U9 BRAZSS JAHT § 9 8ar 2 |

........ Is the temperature which is equal in the centigrade and farenheit scale.

R 77 4 Aol § & w8 Reca gaax fafay.
Give the answer by selecting correct alternatives from the given

four options:
“IATH—AHTH TTIAT H UIH & B

(@)Ut (b) vemiEe
(C) URT T Ychiget (d) <=

In maximum-minimum Thermometer which liguid is used:
(a) Mercury (b) Alcohal

(c) Mercury and Alcohal (d) Molasses
RIS Ud BRASISC YA # e IR =T g—

F-32 f -32
(8) =" () 5="5

c_ f-60
(C)E_ 100 (d)§_ 9
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9.6

9.7

9.8

9.9

What is the Correct relationship between Centigrade Farenhit scale:

c_F-32 c_f-32
@ =% (b) 2=
c _f-60 c_f-60
(©) 16™ 100 (d) 5=
fopsg 9 Y= BT IREATT FHAT 9 BEd B
(@) w4 @l (b) wR=EISE YA @7
(C) Bfeat UAr BI (d) R T &t
Which Temperaturs scale is also called Absoligmperature scale:
(a) Centigrade scale  (b) Farentseit scale (c)
Kelvin scale (d) Reaumer scale

U 0 woF @ 99eT O AT I PN ferRau—

Write down the true or False against the question given:

TIETG | U BT GART W) STRAET W fRAT S HehdT 2 |

In thermometer water can be used easily

19 gaTef bl K 7T 8, Sil fhel &1 aegall & #ed HAT 98- Bl QT Fefrell

27 Temperature

Is heated stage of matter which indicate the direction of flowing heat between

them?

RIS R AN IECAS GRS

The S.1. unit of heat is joule.
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9.10 @M "o # Ry U Tl & Hem "9 ¥ HE fAam wx forfag—

< q
(i) T 999 & INR &7 a9 (i) 273
(i) <@ oHMIeR &1 =FaH fog (i) 98.4°
(i) wfea T &1 IeaaH fag (i) —36
(iv) IR @1 f&Hid (iv) 95
(V) Tcdlgd &I Feid (v) 78°
Write down the answer after matching the correct answer of column a to b:
wp ngr

() Temperature of an health human body 273
(i)  The lowest point of clinical thermometén 98.4°
(i)  The highest point of kelvin scale (i) —36

(iv) Freezing point of mercury (iv) 95

(v) Boiling point of Alcohol (v) 78°

/<1 Bl @ 9HY G IAT I pUF fer@er SR IR

Write 'True' or 'False' aganinst following questions.

U.11 BRAESC YA &1 Ieadd a5 180° 7 |

The Highest point of farenheit scale is 180°.

¥.12 RIAR UAM H 0°¥ 80°% d1 ff 8O 2 |

There are 80 division between 0° and 80° in Reumer scale.

U.13 Afeqad 99T asit=ie bl # SifShdr TN § SRIT ST © |

Celcius scale is most commonly used in scientific works.
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.14 09 a9y 919 & G1eF S § S1ear </ | URade @ RIgd IR SmenRd i 2 |

W.1579 a9y S1feieh UTEl BId 7 |

.16 98 wifear samar forfRay—

9.17

The gas

thermometer is based on the principle of change in temperature with the change

is volume or pressure.

Gas thermometer is more sensitive.

3
(i) @
(i) <t
(iii) Sfa
BRI

np

() Calorie
() Joule
(i) Kelvin

(iv) Forenheit

3
(i) —40°
(i) 80
(i) 212
(iv) 100
A
() —40°
i 80
(i) 212

" g
(i) <

(i) S.l.usfa % S &1 A=
(i) HSigE. S Am=d (1v)
(iv) oo JAT

IIBII

() Germany
(i) S.I. unit of heat

(i) C.G.S. unit of heat

(iv) Absolute scale

(i) w<rre wmT
(i) R YT
(i) ¥<Re 9 BRATES | F9 dM™
(iv) wrAgRe UHMT
g

() Centigrade scale
(i) Reuumer scale

(i) Kelvin scale
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(iv) 100 (iv) Fahrenheit scale

9.18 "t "q"
(i 0° (i) =% a9 YA
(i) 32° (i) S=<rre UAm
(i) Q° (iii) dfea YA
(iv) 273° (iv) BR=TETSC YA

oz g

M 0° () Absolute temperature scale
() 32° (i) Centigrade scale
(i) Q° (i) Kelvin scale
(iv) 273° (iv) Fahrenheit scale

9.19 < aCh

(i) OIS Y9H ¥ Ul &7 FaH S (i) 80°
(i) wREEe WM | Uil &1 BHie (i) 273°
(i) @feas Gt & el &1 feHiw (i) 100°
(iv) ReR 999 Uil o1 Faeiidh (iv) 32°
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BT ‘A U Blofd ‘G B T H &I Aol H SR SIforu—

3 q
(i)  Tea (i) CHO
(i) wIETA (i) w=RH (iii)
v @ diffTe (iii) CH_OH (iv)
arsdar U (iv) e i (V) tfcsegs fhars
FE (v) CH, Match the Column "A" to Column "B"
b correctly: A B
() Alkane (i) CHO
(i) Methanol (i) Furan (iii)
Heterocyclic compound (iii) CH_OH (iv)
Cyclo pentane (iv) Homocyclic compound
(V) Aldehyde Functional (v) CH,

fRg T IR faweui & & W fAvey gaaw SR forRag—

Give one correct option out of four given alternatives:

Teh I BT A G o
@ CnHonez (b) CnHon
(€) CnHop (d) CnHanyp

The General formula for Alkane is:

(@) CnHonsz (b) CnHon
() CnHyp (d) ChHgn 40
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10.

11.

wgifesd et &1 IUPAC ugfd & 99 8-

(a) werrge orv<t (b) #ga 3
(C) =R st (d) wrTge o
The Name of Acetic Acid in I[U&C is:

(a) Athaboic Acid (b) Methanoic Acid
(c) Butyric Acid (c) Propanoic Acid

P TehTs 20l BT g 28—

(@) CH, (b) CH,
(c)CH, (d) CH,
Which is the member of Alkyne series:

(@) CH, (b) CH,
(c)CH, (d) CH,
WHfeH AeH DI 5—

(8) wrgaer e (ORISIESE
(c) st (d) et
Which is Aromatic compound:

(a) cycol butane (b) pyrimidine
(c) propane (d) ethylene
DI A0l BT T P AaRI—

(@) CHCOOH (b) CHCHO
(c) CH.COOH (d) CHCOCH,

(63)



One main member of keton series:
(@) CI—LCOOH (b) CI—gCHO
(c) CZHSCOOH (d) CHSCOCHS

BT e T 2
(@) fvw @b dGfte — Ao

(b) wWifes A - O

(C) wed LG

(d) areiifted — Ui

Which is not match correctly:

(@) Heterocyclic Compound Pyridine
(b)  Aromatic Compound - Phenol
(c) Alkane - Ethylene
(d) Olifins - Propyline

= § | DI Foidg 2ol &1 faewar 981 o
(@) I F AR -

(b) <1 saFTa yal § CH, &1 3R

(c) i oIl H HAMER IAR AT IS
(d) A fharcAd g @ SuRerd

Which One of the following is not a characteristios of a Homologous series:

(@) Different Preparation methods.
(b) Difference ofCH2 between two subsequent compound.
(c) Sequentiadl increase or decrease in Physical properties.

(d)  Similar Functional Gurp presence.
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14.

15.

16.

17.

18.

19.

/1 ®oFl & 9FM 98 FRMEr Tod forRau—

Write down the true or false against each of the following:

AU FF AH & Y 0] H WA $ IRd(dd G qard ¢ |

Empirical formula shows the actuas number of atom in a molecule of the

compound.

Prafh AP STl F sifdery 8l 2 |

Organic compounds are insoluble in water

3UMR TS BIcd T 37T BIT B |
Molecular weight is half of the vapour Density

fpdl AT & U 0] # AWM= WRATIRI &1 el &l He-Hd g3 Udhe

T 2 |

The structural formula shows the arrangement of atom in a molecule of any

compound.

U Yedblgel &1 IUPAC Ugfa # -1 HeATe © |
The IURAC system name of Ethyl Alcohal is Methanol.

COOHfshard® g Toeeiglss dl QeI & |
COOH Functional Group represent the Aldehyde.

R ==l &1 git Piforg—
RS AR Fill in the Blank with appropricate word:

A BISSIPBIET Bl ... 9 Ped 2 |

Saturated Hydrocarbons are also called....................

(65)
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10.

Ued BT AT G . =

General formula for Alkane iS.........cocvvvevvenennn..

Ethylene is a................ Hydrocarbon.

I 3o @ SuRerfa & AT & AT STeldl § |

Methane burns in the presence of Oxygen with................... flame.

P gel & SR U AT & T N AEISHArgaR AIfig—

Write down the answer of following questions in one word.

vl e @1 AT G 9T 2

What is the Structural formula of Ethyne.

STeiell SETse I g9M # B A A ST @ S 7 |

Which gas is used to prepare the poisonous Lewisite Gas?

D A I argeil & A fhar IR iIcags a9l 87

Which gas gives the Acetalide by reacting with metals?

DIF qaifds fohareiiar 9 21 (\igF, gefiele vd Uiieel= # 9)

Which gas is most reactive out methane, Ethylene and Acetylene?

I AT I Bl B YbT H B I 87

Which gas is used for ripening of fruits?
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11.

12.

13.

14.

15.

11.

12.

B ST FARTSS DI RIS FT 57

What is the molecular formula of carbon tetra chloride?

JMRNEIHTH BT IoTd Ul & AT TH IR TR I A 49 9l &7

Which gas is formed by heating iodofarm with silver power

Yfieele T & IgelaxT & B A AT g 8?

Which gas is formed by polymerisation of acetylene.

I AfesT # B A N 9= ©U | SYANT B Il T

In Gas welding which gas is mainly used?

IR N [T PART I W a8 IR G =1y |

At what distance from the place of use Biogasipisconstructed?

/91 Ul @ SR 9 JaT 3N H difvi

Write 'T rue' or 'False' aganinst following questions.

TS sif¥epdes IR U= & fhar & wefi<iel g7 2 |

Ethylene is formed by reaction of Grignard reagent and water

HF TR & AT qF & faaRd yarer o) SuReifa # fawemus fisan awar

Methane show substitution reaction when react with chlorine in presence of

diffused sunlight.

(67)



13.

14.

15.

16.

17.

eI & Faid Td Telidh Yot Bl goi-l § &H 81 & |

The boiling point and melting point of Alkenes are less as compared to Alkane.

fael acs 9 99 § gefielie i SuIf 2 |

Ethylene gas is used for preparing piosonous mustard gas.

S STl BT HID FTEN 81 Rl © |

Bromine water does not get decolourised.

fie T IR fawcai § & W ey g fafeg—

Give one correct option out of four given alternatives:

=1 5 | B Al N g

(a)# (b)zer
Oy (d) =z
Which of the following is Marsh gas:
(a) Methane (b) Ethane
(c) Propane (d) Butane

faoier AIfeT® Tice &l ArSIAsd & AT T B IR g-1{—

(@) CH, (b) CH,
(c)CH, (d) CH,

Which will formed by heating anhydrours sodium acetate with sodalime:

(@) CH, (b) CH,
(c)CH, (d) CH,

(68)



18.

19.

20.

21.

SfeeIH BaTgs W Ul B fham I i 9R Sl 2—
(a) Teitee (b) gefrefi=
(c) ¥ (d) vem

Which is formed by reaction of calcium carbide with water:

(a) Acetylene (b) Ethylene
Methane (d) Ethane

VIeel| & IifPh BIgSIoi-IdRol I U arfl—

(@) CH, (b)CH,

(c)CH, (d)CH,

On partial hydrogeration of acetylene we will get:
(@ CH, (b)CH,

(c)CH, (d)CH,

Dlcd Bl AT gRT fbd &1 I Aeho—

(a)#erT (b) o=

(C) =T (d) zaor

Which can not be made by Kolbey's reactoions:
(a) Methane (b) Ethane

(c) Butane (d) Haxane

MR 7 # 9o 9 2

(@) CH, (b) CH,

() CH, (d) P =Tl
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22.

23.

24.

The main gas in Gobar gas is:

(@) CH, (b) CH,
(c) CH, (d) None of these

MR A9 M & oy U Agcaqel START geref 3—
BRI (b) B
R (d) =T

The most important substance for preparing Gobar gas is:

(a) Coal (b) Wood
(c) Gobar (d) Fodder
T % A B AeH B ST B

(@) gTeii (b) 329

(c) TRiTeet (d) S it

Which is least unsaturated:
(a) The ethylene (b) Ethane

(c) Acetylene (d) All of above

$Nele @1 UIeiR (agea) -
() dsi= (b) Trehied=
(c) ®raigs CIRSIENIES

The polymer of ethylene is:
(a) Benzene (b) Polythene
(c) Carbide (d) Acetalide
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26.

21.

22.

23.

24.

T ged: fhd UhR @ IS fhar s 8-

G ERSIEal (b) wfcRRTI
OEISIEER (d) IrTTHR

Which type of chemical reaction alkane mainly:
(a) Polymerisation (b) Substitution

(c) Ozonisation (d) Addition reaction

1 Bl @& 9 98 FEr Tod HUe forfRau—

Write down True or False against the following question.

Hrerir # 60%HIT Urg ST 2 |

Coal gas contains 60% methane.

AR a1g ¥ o] aAT Sl H 3ffdeld 7 |

Marsh gas is lighter than air and insoluble in water

Qfret Yesbreet ®1 A H,SO, & e 1RH v (160419 o) Qeflefl= 197 gl
2 | O n
heating ethyl alcohal and conc, 30, at 160°C temperature ethylene gas is

produced.

vefiel= 7 200—300°GTT R IBRG &I SURAFT H gesior I AN B
I BISel HIa a1 & |

Ethylene gas by reacting with hydrogen at 200-300°C temperature in pressure of

catalyst gives saturated hydrocarbon.
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25. ®T| ‘A’ UG BIo¥ ‘T I el sl gAThR foTRgu—

25.

3
() vere

(ii) agefa=r

(iii) feeR 7 Arsv= T
(iv) Tt

"
()

(i) Polemerisation

(i) Savetier & sandrance reaction
(iv) Alkene

3
() amr

(i) KMnO, @ réi @
(ili) Prfrs Rems ¥ Rew
(iv) oif sreige

"
(i) Bio-gas

(i)  Colourless of KMnQ

(ili)  Soluble in Organic solvent

q
() CH,
(i) Hor
(iii) rehefT
(iv) Wireel=

g
) CH,

(i) Methane
(i) Polythene
(iv) Acetylene

g
() CH,
(i) CH,
(iii) CH,
(iv) T Ted

g
(i) CH,
(i) CH,

(iii) CH,

(iv) Mostunsaturated hydrocarbom (iv) All alkene
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26.

27.

A
() ®ied fobar # vefiei=
(i) fga=r
(i) P
(iv) Udal a

“p

(i) Ethylene in Kolbe's reaction

(i)  Double bond

Triple bond
Single bond

A
() oo
(i) <A
(i) SN
(v) i

A

0 Hexane

()  Butane
(i)  Butylene
(iv)  Ethyen

B
() Yo
(i) oI
(i) TS
(v) Teobrsd

g

() Alkane

(i) Anode
(iv) Alkine

B
(i) CH,,
(i) CH,
(i) C,H,,
(ivy CH,

B
(I) C:6H12
(i) CH,
(i) C,H,
(v CH,

(73)
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28.

A B
()  wfcrerod foear () ¥ARDINES
(i)  TedhIF UG TohizgH (i) el
(i)  TASTHIBROT (i)  Toad
(iv) wIRe® (iv) Cl, & ¥ feba
A B
()  Substitution reaction (i) Markownikoff's law
(1)  Alkene and Alkyne ()  Ethylene
(i)  Halogenisation (i)  Alkane
(iv) Plastic manufacture (v)  Reaction with C/

3w 4 fawa/quiAe e

fpvg =T 2? I8 fhd UPR &1 BT 8?

What is fermentation? How many types is it?

fhuae fobar & forv smavas uRRefaar forlRaw?

Write down essential conditions for fermentation?

fhvae fhar & e Shad § STINT AHsSY?

Explain the uses of fermentation is daily life?

AMERS®, S8 e3f$® Ud 318 ersf$® Uchied &I SQTEXvl Afed Wt
PITT?

Explain with example the monohydric, dihydric arichydric alcohal?
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10.

11.

12.

UrRIfe Uodlgel T BId 27 SQIERY |ftd 99eid gU 9a1sy & I8 fgdae
Tehled 4 fha yaR A= 27
What are primary alcohal? Explain with examples in what way they are different

from dihydric alcohal?

IR I Uohled g9 dT A e Hifsre?

Explain the method of preparation of alcohal from Molasses?

HIDBT A Ui Yodbigel a9 &I fafer & g a0 fogar) 5ol 7ueeH &l
HHSITRAT? Write
down the main steps of preparing the alcohal from maize and explain the

hydrolysis?

Tehlgferd fdhuae fhar & & Iuold d S9d STANT forlRag?

Write down the main By-broducts of alcohalic fermentation and their use?

Vel Temhlgdl T SIS, el 93 9 U foffRay?

Write down the molecular formula, structural formula and uses of ethyl Alcohal?

TR Todidd Ud Refieics Ruc I 31T 7 g9sid 81 asigy?

What do you understand by power alcohal and methylated spirit? Explain.

UfreT Tebleel & Hifded o forRag?

Write down the physical properties of ethyl alcohal.

FHITHISS BT AUGH, T G Ud 39 = IudNT foaRag?
Write down the molecular formula, structural formula and main uses of

carbamide?
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13.

14.

15.

16

17.

18.

19.

20.

T gRT IRAT 99 @ fafdy awemsa?

Explain the method of preparing urea and Urine.

IRAT & &I TRIeT0T FHSEA?

Explain the main tests of urea?

IRAT AT BT @leR e &1 T Hifsg?

Explain the Wholer's method of preparing urea.

fohua fehar &1 @ot fhas &1 &i? IH-T Bl U Tehlsd § daal dTel Trolgd
@ M falRag? Who
discovered the fermentation?rité down the names of enzymes which are

responsible for converting sugar to ethyl alcohal?

IRE Tedpled qT &7 TRINT el ¥ uRYE Tedled & Fmr @ A fikag?
What is absolute alcohal?rit¢é down the method of preparaing absolute alcohal

in the laboratory

U Uehleel @l AFs AHIRE 37l & A1 MRS har Bl Aqsisd?
Explain the chemical reaction between etkigohal and concentrated sulphuric

acid.

YT & ARG YoehlgfoTh U UQTT Pl ITeR0l Algd FHsISY?

Explain with examples the distilled and non-distilled Alcohalic beverages?

JAUH YIANTRISAT H AR fhd S aTol drdfadd AT &7 A9 foiRgu dorm S9&
Senfire g @ fafy forRau? Write
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9.1

9.2

down the name of first organic compound prepared in laboratory and write

down the method of its industrial manufecturing?

el SfsAr IR forRag—

(i) wmdl (i) faei™= B
(i) faerf= D (i) <@ @& gu
(i) R (i) faer=
(iv) < &1 gdbl T g1 (iv) faema= <

Write down after correctly matching the column "A" and column "B"

(i) Scurvy () vitaminB

(i)  VitaminD (i)  Sunlight

(i)  Beri-beri @@  vitaminC

(iv)  non-cloting of blood (iv) vitaminC

grs I s §"

(i) Swge (i) wEem
(i) werer (i) eIt
(iii) = (i) <

(iv) #reerst (iv) gorat
up =

(i) Dextrose (i) Fructose

(ir) Fruit sugar ()  Glucose

(i)  Sugar ()  Barley

(iv)  Maltose (iv) Sucrose
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9.3

U4

9.5

9.6

9.7

9.8

9.9

9.10

8 U g1 Rp Wil @ gt $iforg—
Fill in the blank by appropriate word:

IS AR H BEEIEIT .. A HEAd B |

In modern chemistry the carbohydrates are also called .........

SEADNISS Slel AUEET BIDN ... A B |
On hydrolysis of disachharide they gives .............

On reacting with fehling solution the glucose give ........... precification.
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fie T IR fawcai § & W ey g fafey—

Choose the correct option from the given alternatives:

.11 DN [ YR & BEEEIT &
() v (b) e
(C)HAr (d) ez

Which type of carbohydrate is glucose:
(a) Aldose (b) Ketose

(c) Manose (d) Tetrose

Y.12 UCH & &R fIe § SR Aehe e & e Sl | 59 UhR &7 7T

7T B—
(a) @ (b) G
() = (d) e

In alkaline protein solution addition of copper sulphate drops gives the colour:
(a) Red (b) yellow
(c) violet (d) Blue

W.13 TSdIST &I 3TUeT Waciol aidl a—
(@)@ A1 (b) sifer Her
(C) aRTeR et CESEGEE]

As compared to fructose the glucose is:
(a) Less sweet (b) more sweet

(c) equal sweet (d) very less sweet
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.14 ToiRBpAfead T 2—
(a) R "A" (b) frerf B
(c) Rrerfe D" (d) ferfF R

Antixerophthalmic vitamin is:
(a) Vitamin A (b) Vitamin B

(c) vitamin D (d) vitamin R

.15 A gdieror Suanf g—
(a) fofas 2g (b) =T &g
(C)wre &g (d) =+t =g

Milan test is useful for:

(a) Lipid (b) sugar (c) Protein (d) for all

/=1 yol @1 SR U Wss § forRau

Write down the answer of following questions in one word:

U.16 UICH &I A-IHD Shls T 87

What is structural unit of protein.

U.17 T Bl THI H IS aTelT TrollsH DI 71 27

Which is the enzyme for converting starch to sugar?

.18 CIHIBRIT Bl HH AT INR H DIF T I ST~ HYdll 87

The dificiency of which disease causacdpherol in human body?
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9.19

9.20

9.1

9.2

9.3

U4

9.5

9.6

OIS # SIS @f Ufaerd #1319 foa- gforera s 87

What is the percentage of nitrogen in protein.

TSl gfad yaTer dI fehw e # gamr &?

In which direction the polarised light will turned by glucose?

4 3h GqUFTHS

Wwwaﬂaﬁa‘ﬁ' 3 3T T FHS 87 I8 TR I BT |

What do you understand by plant breedng and genetics? Differentiate them.

UGy Yo & J& Sel Dl foflgu?

Write down main objectives of plant breeding.

JATARIDBI & STFeh DI 57 I7eb g1 Ufauriad 4l & 4 folgadr fhfl g
T &1 W FHIfg?
Who is the father of geneticsié down the names of the laws given by him

and explain one of the mendel's law?

HUSH | HeR & U Pl U YART B FAT AT oO1?

Why the mendel selected pea plant for his experiment?

HUSH B Fheldl & & BRI W HIfoTY?

Explain the main cause of mendel's success?

Thdl TP UG fgdd) T © | SSTExvl Afed THsISY |

What are monohybrid and dihybrid? Explain with examples?
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.7 dPHH UG S DI A T GHSIA BI°? WS HIFU |

What do you understand by back cross and test cross? Explain.

9.8 TUAFHRU & [IH DI ISRV Aiad W HIfoTg?

Explain the law of segregation with examples?

Y.9 HUSH & UIIfdar & 99 BT fg9dr & SeER0 gRT W HIFTY?

Explain the Mendal's law of dominance with a example of dihybrid cross?

¥.10 3qUT YT T 31ef e BHifoTg?

Explain the meaning of incomplete dominance?

.11 SIRTaH T 27 IaaRdadd & fafi= yer forRau?

What is Mutation? Wite down various types of mutation?

Y.12 UG Yo &1 HhRYT Al & =0 Usl Bl W Hifoig?

Explain the important steps of hybridization method of plant breeding?

Y.13 UIGU Yo &I & ARl & -4 fr@er == IT a_oT Bl FHSISA?
Write down the names of important methods of plant breeding and explain the

selection?

U.14 g JIHA T R 2° TG YIRS DI A? $Hb G ™ Ry |

What is pureline selection? Who has given this wonitewlown its advantages?

¥.15 UIGY o= &l JRRRIIA fAfe &l aHsigy?

Explain the introduction method of plant breeding?
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.16

9.17

9.18

9.19

9.20

HUSel o #e) H ST UTal Td STMTdT T[0T BT S7edd= fhaT o1, S | IR JHTdl
Td U] A& Bl FAdG DITOTY |
Enlist any four dominant and recessive characters which were studyed by mendal

in Pea.

3MafRIe At &1 ¥ HITY?

Explain the genetics mechanism?

BiHIergy, SHIegy, JHfdhedl Td SiF BT o1 e HIRTT?

Explain the meaning of Phenotype, Genotype[ Allele and Gene?

FHE IROT Ud Yg dEHH RO H R T BIFoTY?

Explain the difference between mass selection and pure line selection.

HUSH DT G0 AR Pl FIH FHASI?

Explain the Mendal's law of independent assortment?
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9.1

9.2

9.3

U4

9.5

9.6

9.7

9.8

9.9

ATHYUT UG fIGROT BT SeTexvT Aled FHsIe?

Explain the Osmosis and diffusion with examples.

URIRAROT Qg fIaR0T {2 3R forfRag?

Write down main dfierences between osmosis andudiion?

TS Ud arefleRo] § IR IR W HIfoT?

Write down four diference between transpiration and evaporation?

IS RT € 39D YHR WL HIRTU?

What is transpiration? Explain its various types?

IS &1 &% fhd I RT 71T SIh §7 3907 UieT #iex &7 o g9rs3?
With which instrument the rate of transpiration is measured? Draw a diagram of

Ganong's potomemeter?

IS {HAT U YHTT Ud argavSelid 3Tadl &l JTd AHsTSY

Explain the effect of light and atmospheric humidity on transfiration?

IS {HAT BT HEd FHSTA?

Explain the importance of transpiration in plants?

FHSY b ameicds el @l 3ffard g_18 272

Explain that transpiration is a necessary evil of plants?

RIS g {95 Fd H IR = 3R WL HITTY?

Explain four main difference between transpiration and guttation?

.10 3R TG TR 399 bl THIHNUT foRgdr AHSISY?
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.11 3R 399 fhoge F fb gar =1 27 wee HIfe?

Explain that how is fermentation different from Aerobic respiration?

Y.12 a6 U6 DI YRATNT HITQ? TAT AR, A T4 I8 & dIol Bl eaa
Torieh ferfag?
Define respiration quotient and write down the R.Q. of soyabean, Pea and

wheat seed?

.13 3999 T &l garfdd &R dTol BRDI DI WK HIFTT?

Explain various factors affecting respiration?

U.14 YA €NT S¥isd fb 299 fhar § ™1 SO 8l 2 |

Show by an experiment that heat is evolved in respiration?

Y.15 UG BMIA &1 87 Utel ¥ g9+ drel ATfaaie 9 & q&d gl & gol 914
forfRerg?
What are phyto Harmones?rité down the full names of main hormones of

Auxin group, hormones produced in plants?

9.16 il Pifeldl T 87 $HS IAMER W UMl & YT a¥ Ia1ev9l Afed ferRag?
What is photoperiodism? ke down the main group of plants with examples

on the basis of photoperiodism?

9.17 g 1 87 S A9 b I gRT &1 Sl 87 g ol graeny ferfag?
What is growth? \Wh which instrument the growth is measuredft&®\tdown

the phases of growth.
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.18

9.19

9.20

9.1

9.2

9.3

U4

TR HYTOT U4 ¥a9 H IR J& IR WL HITOTY?

Write down four main dferences between photosynthesis and respiration?

BT FIIYOT B fohaT fb PIRTGIT # BT 82 39 TIIAT HR dTel BIRBT Dl
FASSA?
In which cell organelles the photosynthesis takes place? Explain the factors

affecting photosynthesis?

JRTINT IAhAT T 87 W HIfoTu?

What is light reaction? Explain.

4 3P

Al Bl & IR faved Fevr faRkag?

Write down four distinguishing characters of solanacae family?

AR B & 3P Ao & R UMl & 9 Vg awaias Tm faRkag?
Write down the name and botanical name of four plants of solanaceae family

which are economically useful.

ATel-H TYaRITH &1 YA g 9 A o ferfag? Write

down the floral formula and floral diagram of solanum tuberosum?

TSI T hel, IR fced M, YA I 9 oA = forfag?
Write down the family botanical name, floral formula and floral diagram of

Turnip?
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9.5

9.6

9.7

9.8

9.9

9.10

9.11

U ol & Ul H JoeR &1 G, dvsaTd, B & YR Ud 5€ Bl UHR
ferfReg?

Write down the number of staments, placentation, type of fruit and root?

Tgarel YR (64 el H Ui S € | 89 el BT A G 9 JOHA o
forfeg?
Tetradynamous stamens are present in which familyte own floral formula

and floral diagram of that family?

Teh HEl 31T YR dlel [l Uab Uld &l A, arufcish M, ol Ud g G
IIECI Write
down the name of one plant having infinity monoadulphus stamens, its botanical

name, family and floral formula?

TR fRvged e gt &1 Ul 8?2 S gl H 3T aTel < Uil & ariedfcrd
M TG STANT ferRau? Gossypiam

hirsutum belongs to which family?ié down the botanical name and utility of

three plants of this family?

AR B DI ufeare b fARNe Ferori 1 o1 Il 2 |

On what distinguished characters you will identify the family Cruciferae.

HDR BT QU G 9 A o forfRag? Write

down the floral formula and floral diagram of solanum nigram (Makoy)?

S8 Dl Il M, YH¥R BT YDR, IS0SIN DI YR Ud JUH G

forferg?
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Y.12

9.13

Y.14

.15

.16

9.7

Write down the botanical name, types of stamens, type of placentation and

floral formula of Gudhal (Hibiscus)?

AR A H AT dTel AMIBRI Ul & AW Ud areRyfad T/ folgdr g7
SIRT &7 q faRyar forag?
Write down the name and botanical name of ornamental plants of solanaceae

family? and write down the main character of their Gynoecioum?

AT Bl & IR Y4 Ul BT 3T Haed T DHIfT?

Explain the economic importance of four plants belonging to malvaceae family?

AT & UM BT fel, JOF vd gu =7F foRkag?

Write down the FamilyFloral Formula and Floral diagram of Mustard?

YT Bl B TSl SaTGd Uil & ARy fae 14 foflRgy?
Write down the Botanical Name of Food Grain Pruducing plants of Gramineae

Family?

YN feT BT M Hged W BIfSTY?

Explain the Ecomomic importance of Gramineae Family?
=1 diel & g A, gl forRay—

THICR, T3, o, el Tl
Write down the Botanical Name and Family of following plants:

Tomato, Oat, Paddy Cauliflower.
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9.18 (@) UgiT AT @ Ui # dISvsarE BT bR oy

(b) geET & TSt @ faRivar forar
(a) Write down the type of placentation in Atropa Beladona Plant.

(b) Write down the special charaicté the stamen of patsam (Hibiscus cannabinus).

9.19 S8 Rl b AOMIe] U BI—bIF U 8 [SHd SR &1 faeryar foray?
Which are the Ornamental plants of Hibiscus Family2é/own the special

feature of Gynoeciousn of this family?

9.20 YA q{T & o B R fIRvar sl € | 39 Rl D g o ferfag?
What is the speciality of the stem of Family Gramineae®&Wown the Floral

Formula of this family?
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9.18 Sl Mdbd & AR &I WU I [Fefdl 8—

The problem of drainage is mainly found is:

(a) FFraret e # Lower areas
(b) ST &=T H Upper areas
(C) gAde Wal H Level land

(d) TBTST &t | Hilly regions

Y19 YRd & [HIHEl gRT U ool ey &1 i fafdy smoarR el 2—

Which method of drainage is most commonly used by the Indian farmer:

() g fafe Surface method

(b) y#wTa fafer Subsurface method
(c) s Both
C)EIEEED None of these

¥.20 SicT Mdr B A qA BT Sl 'R

On draining the land water table of the land:

(a) TedT & Decreases
(b) gar © Increases
(c) 3raRRafd I&ar & remain unchanged

(d)Ugel gedT & fiR ggar & First decrease than increase

¥.21 AT Sl MEBr ATl BT 9 oM 5—

The main advantage of subsurface drainage channels is:

() ST BT &FHel 3D Iyt Availability of more land area

(b) ST &T &FTHA HH ITALT Avalilability of less land area
(90)



.22

9.23

.24

.25

(C) ST T &Fhel JIRS HH Iuatd  Availability of very less land area

(d) ST & 8B YT Available land area will not change at all

9 1 g8 Aeg §RT STl WG &1 [T dedil a—

The process of absorption of water by the soil surface is called:

(a) I=T-=dT Percofation
(b) 3r1: g’ Infilteration
(c) R Seepage
(d) 3fueEma+ Run off

®F STl ET o g fafYy &1 qer o 2

Which is the main advantage of surface method of drainage:

(a) 31t s More labour

(b) ®fe w=FHd Difficult repairing
(C) HH Wd ¥ HRFT Low cost repairing
(d) S |0 All of the above

TR Siel FHr dTell FerId ATfordl | fdha=T BIoT 941 8¢ a1 @M2ay—

Main drainage channel should from at the how many angle to sub channels:
(a) 45° (b) 30°

(c) 60° (d) 90°

Jad Wd I Ol ra &1 |aray fafy o 8—

(a) 1A fafer OEESERREE!
(c) urersH fafer (d) ASPICH
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.26

.27

.28

9.29

9.30

Which is the best method of drainage from the level field:
(a) Sub surface driange(b) Tile drain method
(c) Pole drain method (d) By cutting the bond

Glell ®F o g SUgh I gRT diforg—
Fill up the blank with the appropriate word

Wdl % HHH FT A G S B A B HET I B |

The method of applying the water artificially is called .......

STel e @7 JMaeIdhar & w9 o ... g H B 2

Drianage is mainly required in ....... season.

Sl e o g ¥ amieae gewonal @ fharefiedr.... 2

The activity of beneficial microorganismsis ....... on drainage from the soil.
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9.31

.32

.33

.34

|E WY TR

0
(i)
(i)
(V)

(i)
(ir)
(i)
(iv)

(if)
(i)
(iv)

0
(i)
(i)
(V)

(a) (b)
qfTd STt e ()] T ST fafer
Al STel ar (i) Tz A
HaTl Dheld I (i) STt prT 3T
[ERIESEaI (iv) R fafdr g1 o1 frepra
(a) (b)
Sfad g Far () ARwTa o e fafy
BRI Ud DA B (i) I St b
TSl B U1 X8 ST (ji)) TS qaT
A ol ot bt (V) YIS
(a) (b)
3Jed AT Y ()  9fAerd Aot
31ferh &RT BT BH FHTaT iy R
STel R HUR I (iy g S Mo AR
T ST B T ol 3R T aver (d)  Rama (o)
(a) (b)
P IMST Alferdr () dE—d" & T T B Tl
RETA YoTTedT (i) IfEH Serel
Sl Gell Tl (i) TPs! DI ST BRI ATell
et g (iv) =9 &

(93)

Match the column:




9.35

9.1

9.2

9.3

U4

9.5

9.6

(@) (b)

(i) g (i) |Edd A

(i) < PR oIt o @M N R fed

(i) ST M @ 31 MaIddr (i) A B RE W ThiFd T
(iv) UIgiad Jorell § ol Mg (V) Wd & 1 @ fa=m 4

YAIETOT BT 372 W R 8T, IHD G YDHRI DI [TRay |

Write down the types of surveing alongwith the meaning of land surveying.

TR BT HYD o] Hecd TS ?

Explain the importance of land surveying from the veiw of farmers.

U AN & Siias # AdervT &l 7 Fy 87?

How is the land servey related with the life of a farr&gplain?

S # B A1 FderoT Al ST § T F4? aHemed |

Which method of land surveying is most useful in agriculture? explain why itis

most useful?

ffy <o § SR R S 9 Rt el

Explain the characteristion of various chaias used in land surveying?

SIRIg TIeToT H eIeUs UG I IETh &I SUATRTIT T PHIFTU?

Explain the utility of cross-staf and ranging rod is Q-chain surveying?
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9.7

9.8

9.9

9.10

9.11

Y.12

9.13

JAeToT Tc1 & ISl & A foRgdhr S B A ?

Explain the functions of various members of a surveying team along with writing

their name?

I el B YAderT § 7 YR 272
What is the utility of Dumpy-label in land surveying? What are its important

part?

IR BT T PR 27 NG &l fafy Fasmsy?

What is meant by Ranging? Explain the meaning of ranging?

&3 gRADBT qHRIT # e YeR Uil 2?2 39+ 71 foraw @ fafdy forRaw?
How is the pield-book useful in land surveying?itéd/down the method of

writing measures in a field book?

SRIG AeToT H SUARTT J&I IUBRCN Bl Fell (IR BReb, e I Dl T T
HIFTY?
Explain the structure of optical square along with Enlisting the equipment used

in land surveying?

3MY T & H HIedT IURTT AT BT & YRADBT ¥ o T FIT—IT AIae
IIERIINCRIN
What precautions you would keep is mind while writing the various measures

of survery of a particular area.

MY & GRT FeTU B B FHI Tl DI el Bl §R B bl (Al FHemsd?
Explain the method of removing the obstacle of river at the time surveying

by you.
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Y.14 TP 30 W0 I SRIF §RT 500 HI0 G AT TS | WA & FHI g 9T 137 1
SIS 370 aRIfdd T8 3 0.3 WMo gof oY | SR gRT 714 T8 8! oIH TS S
DHIFTT?

500 meter distance was measured with the help of 30 meter long chain. On
testing of the chain it was observed that the chain was 0.3 meter more than its

Actuas length. Find out the real distamoeasured by the chain?

9.15 W Sl 99153 (Match the column)

(@) (b)
() & fay () e
(i) wBfdE Preareh (i) Hegd RS
(i) TRITAR (i)  SHTITIEY
(iv) e (v) e
(a) (b)
()  Fumigant (i) Nicotine

()  Natural insecticide @)  Methyl Bromide
(i)  Weed (@)  Wild Gobhi

(iv) Insecticide (iv)  Thimet

9.16 Wl Sl 99153 (Match the column)

(@) (b)
0 deioER () S”EF (m-45)
(i) uofta fSgba (i) ®Re 10-G
(i)  Tar ¥ Swdn (i) A

(iv) “USIRT 3T HUB (v) WeHd
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(@) (b) 0)

Seed treatment ()] Dithane-M-45 (ir)
Foliar application ()  Phorate-10-G (i)
Soil application @) E.D.B (iv)
Grain storage (iv) Aeratan

.17 el Sirel 99189 (Match the column)

@) (b)
(i) e ()  ERUFGIRAT
(i) (i)  reamh
(i) B.H.C. (i)  ®wHSA I
(iv) drsr fHsmor (v) ot SRyar T

@) (b)

() Smut ()  Weedicide
() Lasso ()  Insecticide
(i) B.H.C. (i)  Crop disease

(iv) Bordeaux mixture (iv) Powdery mildew

9.18 el Sirel 99184 (Match the column)

(a) (b)
i) s @ e faf
(i) <uHm (i) pve fafy
(i) D e (i)  Fremfrm
(iv) & ST R (v) T BT pear
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e Ul & SR T A1 ) =k ¥ forfav

9.1

9.2

9.3

U4

9.5

9.6

Give the answer of following questions in one or two words.

Uh Wd § ufddy ddol U BT ST RIT Bl &7

Growing of only one crop in a year on any field is called.

v FfEd e R e 99 § Bl B 2% B ST T HEATd]
X
The growing of crops in a definite rotation on a certain piece of land in a

definite time period is called as?

B Teh AT A Fa&T AT IR T GA1T USell &7

What is the effect of adopting crop rotation on soll fertility?

HAA Th H IU! STS dTell Bl & 918 [ JHR DI Bel ST ATRT?
What type of crops should be grown after shallow rooted crops in a crop

rotation.

WA T H 31D WIS e+ aTell Bl & 916 [hd UhR 6! Bdel SR ST
MY |
What type of crops should be grown after heavily manuring crops in a crop

rotation.

T Te—ATE—aT Bde s &I @y fha ay @ 2?

What is duration in years of the crop rotation paddy-wheat-soyabean-gram.
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9.7

9.8

9.9

9.10

9.11

Y.12

9.13

Uh TS ARIHH AT H AR dTell BAall BT &bl o fhas uforerd |
3t gl BT =Ry |
What should be the maximum percentage of fodder crop in a good cropping

scheme.

HIBT—T—IG—HT B T Dl FIhH eIl FT BRII?

What will be the intensity of crop rotation Maize-Potato-Wheat-Mung.

SIR AT 2:2H ST fhd JhR &1 Wil BT SSTER0T 87

The growing of Jawar + Soyabean in 2:2 ratio is the example of what type of

cropping.

T + 37T &1 el fhd UHR @l Wil BT ISR T |

What type of cropping is growing of sugarcane + potato?

OIgeR + Ul + aRA™ BT I {5 UhR &I WAl Hgeldl 272

What type of cropping is called by growing popular Papaya + Berseem.

Th ay H fH W H US AT a5 AT S1fd Bel ST FT HEAd 27
What do you call the growing of two or more crops at a time on the same piece

of land in a year

TH B R G Wa § a9 # 9 el SR Sl € @1 S99 Wd @ SIhH
AT T BRA?
What will be the cropping intensity of a crop rotation in which three crops are

grown on a field of the farm?
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fréafRe wmEl @ off Suge u= ¥ A

Fill up the Blanks with the suitable words.

Y.14 BId dh H 3T el Bl B G ..., ol ST 917 |

Y15 BIT Th H ... HYUT fhaT TS dToll Bell & 915 HH Byl fohaT =g+ daTell
A I ST ATRT | | n

crop rotation the crop requireslldge operation should be grown after the

crops which require ...... tillage operations.

U.16 HAd dsh A ¥ WRIAAR] BT YD ..... HESIGIRT

The infestation of weeds ............ by adopping the crop rotation.

Y17 oM B BAA Hed b Jd 5 IAH AU DI A Bl dTg BRAT ... HocldeH
HEATT 2 |
The sowing of linseed before the harvesting of paddy crop is called .....

cultivation.

¥.18 TUAZIMR. & IR A ... 2 |

T Th H B DI Gl
9.19 B dh Dl TEAd] x100

No.of crops in a croprotaion N

Crop rotation intensity = 100

9.20 fARE vae 9 gg 99 I HRAT ... B

To obtain pure seed fioa mixed crop is ..........
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9.21

.22

9.23

.24

.25

.26

DI Bl dh BT & oM T8l o—
(a)Sust gf (b) SeRT IR BT GRETT
(C) TRUAAR =01 (d) Tve] AaIHARIT Bl gl

Which is not the major advantage of crap rofation
(a) increased yield (b) conservation of soil productivity

(c) weed control (d) fulfilment of house need

ERETE— e T Bd b DI AT RIT 83—
(@) T o (b) <1 o
(c) = Iy (C) IR Iy

What is the duration of crop rotaion greenmanure-wheat-mung-soybean-wheat-
(a) one year (b) two year

(c) three year (c) four year

HURI— e T—AREA—E BAe b B He~1aT e+l g—
(a) 100% (b) 200%
(c) 300% (d) 350%

1 H ¥ BT BAT dh dghel WAl DI qeAr 5—
() 100961 areT () 150%68E=dT areT

(c) 300%6HL=TdT dTell (d) =+
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Which of the following crop rotation indicates the multiple cropping-
(a) with 100% intensity (b) with 150% intensity

(a) with 300% intensity (a) all of above

.27 A3 wae= &7 B efar 8—

(2) PUTF+IREY (b) g+

(C) TAT+3TeT¥T (d) S |+t

Which in dicades the mixed cropping-

(a) Cotton+Arhar (b) Wheat+Gram
(c) Gram+Linseed (d) All of the above

g.28 A Bl &1 qarg fhd- YR H &I ST Aol o—
(@) 1 (b) 2
(c) 3 (d) 4
Mixed crops can be sown in how many ways-
(@)1 (b) 2
(c) 3 (d) 4
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9.1

9.2

9.3

U4

9.5

9.6

9.7

Yh Wl BT M W B I = fARyany T Hifog?
Explain the important characteristics of Dry farming along with explaining it

meaning?

b WAl H B DI fh—Th U ARSI BT AT HRAT T8l 22

A farmer has to face which problems in Dry farming.

Yh el & folY BAAT DI G I54? I Y & H M & oy i Sugerd
g |
Explain the crops suitable for dry farming. Why they are suitable to growo

them in Dry farming?

afd UReel a1 27 Ih Wl H DT T 7 57 A IRl H W BIfTg?
What are anti transpirants? What is their Importance in dry farming explain in

ary three points.

Yh WA B I G H T HREV & IR HEdqUl Ul Bl faRag?
Write down any four important measures of moisture conservation in soid

under dry farming?

Af3ra W o aRWINT PIRTT? Sererer Afed s9@T 3] e HIRTY?

Define Mixed farming? Explain with examplesntganing?

MIe &5 & fham & foy MfdE W fow R amerl 82 IR fagei |
forfay?
In what way the mixed farming is beneficial to your areas farmerg@ déwn

in four points.
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9.8 Yh Tl H BHA! DI AfbhaH UGTaR U B v IR G SR & forige?
Write down

four important measures to achieve the maximum yield of crops in dry farming

9.9 fAa S & oA § wr—aar W 2° IR fawgei # faRag?
Wha are the limitations in adopting Mixed Farming?i& down in four

points.

.10 I T A FHEIET LT TF RMET FA Bl 4 gd Regfsr foriag?
Write down the Name and Location of the National and International Institute

related to Dry Farming?

g1 AT e & oy @ gHe 81 R @l & o g o forlag?
What do you understand by Irrigated Farmingfit¥/down three major

advantages of Irrigated Farming?

Y12 il NaRAT § T A9 2?7 5, Bl G Hifcidh STaeiaii bl FHsS?

What do mean by critical stage? Explain the varions critical stages of wheat?

¥.13 AR QU H Y WAl P FIT Aed 2?7 FHSNSI?

What is the importance of Dry farming in our country? Explain?
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9.1

9.2

9.3

U4

9.5

9.6

9.7

9.8

g1 DI B DI IFRYfD M, fel, ST, WIH, IR SRl T Iu felRag?
Write down the Botanical Name, FamiBlace of origin, Four varities and yield

of paddy?

g B WAl | USIoT RIT 8° SHDT T A 27

What is meant by puddling in the cultivation of paddy? What is its Importance?

g B GART e dF—aH W 8° 379 9 §aits UG f6e1 319 3 &7
Which are the secnted varities of Rice? Which one variety is most popular

among these varities?

SUNT 9T 27 AHSS?
What is Dapog? Explain.

g Bl A H DIF—2 I PIe Tg INT o1 82 WRT I BT BRI I HIFTY?

Which are the major insect and Disease attacking the Paddy Crop? Explain the

cause of Khaira Disease?

I & AT T BT RO G IHD =0 & U feTRag?

Write down the causes and control measures of Paddy Btast Disease.

g BT e A | RT—ar v 87

What are the advantagas ahifisplanting method of Paddy?

I B BH H TG Jad IaRDBT DI SYANT &HAT 9gM & IR U foIRag?
Write down any four measuses of improving thicefncy of nitrogenous

Fertilizens in Paddy Crop?
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9.9

9.10

.11

Y.12

9.13

.14

9.15

N STl BT 919 B Bl B IS § R A 27

What is the importance of Blue Green Algae in the cultivation of paddy crop?

g B I SR BT 8RA Hifd § a1 AN T&T° qHSIS?
What was the contribution of Dwarf varities of paddy in Green Revolution?

Explain?

I P Al M, o, Heed Ud Icafd Wi ferRay?
Write down the Botanical Name, Familynportance and place of origin of

Black Gram.

I D Ahel I Bg dI6l &%, a1 &I fAfd, g B1 qHY TAT Wle Td IR
SMMATIHAT DI THASTSY?
Explain the seed rate, Method of sowing, time of sowing and manures and

fertilizer requirement of black gram.

I DI B H o dlel TE Hic Td 91 B A G Tl YT Aot 9T
PT PR Ud =1 Uy ferlag?
Enlist the major insect and diseases of black gram and write down the cause

and control measures of yellow mosaic of black gram?

Y. & o1y SFRYd I &1 U@ Sl & 14 forgax {6l 41 gab S @l
LS RCNERIDIRTIRCIG
Write down the names of important varieties of black gram recommended for

Madhya Pradesh alongwith the major characteristics of any one of them?

JMUD & H F& Bl DIF—hI- AT STIferdi Taferd 87 S9! 3iad SuoT 41 forlRag?
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.16

9.7

.18

9.19

Which varieties of black gram are popular in your areaz\8own their average

yield also.

8T B B H hIF—hIa T WRUAIR ITd 87 &9 Bl Bl § SUINT fhT o=
qTel ST WRUdAR AR & 9 9 SUANT 6T 99y forfRge?

Which weeds commonly grow is paddy field?id/ down the name and the

time of application of two weedicide used in paddy field?

I BT BHA DI ALY v AT UG STl bl {401 & IR
a1 fafey forRag? Write
down the method of seed treatment of mung alongwith writting down the

iImportant varieties recommended for M.P

T BT HFA ¥ 3MHTH TSR =g dIoiar / 7aey, a1 & i), a1 9720 Pl wd
3 9= AT 9 S s Sur faRag?
Write down the seed rate/Hectare, method of sowing, two important insect and

disease and their control measures?

&9 hIT U A R FHA B2 T DI BT BT dd hIY ®Y H A [ofRgy?
What do you understand by catch cropft&down the imporant of Mung as

a catch crop?
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frdofam gl & SR @ a1 QA T H aegHargar fafag |
Write down the answer of following questions in one or two

words as per need)

9.1 AN & 9197 | WIS TG O 3 ufaRrd A= fhaer g g?

How much percentage of protein and oil is present in soyabean seed?

9.2 AREN B el H BIF AT ASglo RN BRe Siary] urdl Sl &7?

Which nitrogen fixing bacteria is present in the roots of soyabean.

.3 A Bl SR I /T 87

What is the place of origin of soyabean.

9.4 HUEH B BAS IAET =g A BT SUYh pH A ferRag?

Write down the appropriate pH value of soil for soyabean crop production.

9.5 SREN & B9 & ghg & T IugT qrushA =T &7

What is the optimum temperature for the growth of soyabean crop?

9.6 HREH B BHA D d Bl SUYH AHI T 27

What is the optimum time of sowing of soyabean crop?

.7 AREE B Dl < Y Y drell fheAr & A forRkau?

Write down any two names of early maturing varieties of soyabean.

Y.8 3T & H AREE P qaifde Yaferd fby &1 A forlRgy?

Write down the name of the most popular variety of soyabean in your region?
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9.9

9.10

9.11

9.12

ST AT SR e war Rerd 27

Where is the National Soyabean Research Centre situated?

ICPL-87Td ICPL-87119 fhd BT &) I—~Id STt 27

ICPL-87 and ICPL-8719 are the improved varieties of which crop?

IREX B BT Bl Ul Baex 9ol X RIT 87

What is the seed rate/lectare of Arhar crop.

T Aol I 3REX § b PRI 4 ST~ 2Idl 27

What is cause of sterility mosaic disease of pigeon pea?

frderf ul @ SR 9@ O v formex ifvig

9.13

9.14

.15

.16

Give the answer of following questions by writingi& or False against them.

ARTEE & Bel BT T DI dh YT DI 57

Girdle beetle is the main insect of soyabean.

INER B dI1 § WIS &1 ufaerd A 10 € |

The percentage of protein is Arhar seed is 10.

Taffdres IS T ufaera 9= AR § IR 9l 2

The highest protein percentage is present in soyabean.

IREX BT 4197 &) 12-15fF4T. /TR B |
The seed rate for Arhar (Pigeon pea) is 12-15 kg/hectare.
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9.17

.18

9.19

9.20

9.21

.22

9.23

AY. AN Y B A Y ST ST

M.P. is known as the "Soyabean State".

IR &I 197 g% 80-100fh.4T. /TR B |

The seed rate of soyabean is 80-100 kg/hectare.

AR & B H Hell gchd o AT B SNl # IRy Sl 2

In soyabean crop shattering problem is present in some varieties.

INER Bl 7T T Hddh Si=id I 2 |

The sterility mosaic of pigeon pea is a fungal disease.

ICPH-83REX & U&h H&Hx SIIfT ¢ |
ICPH-8 is a hybrid variety of pigeon pea.

AREN P SEERHET SIfd §7 2 |

Brag is wilt resistance variety of Arhar (Pigeon pea)

INEY B I WA 3TBThT 2 |

The place of origin of Arhar (Pigeon Pea) is Africa.

o=yl & SR Ry v Roeddl § 9 98 Qe gaax fafag |

.24

Write down the answers of following questions by selecting the correct

alternative from the given options.

R T a-Rdfad A9 28—
() ATEER WA (b) Do BT
ORGIESEEES] (d) fefewmd wan
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U.25 GREH & B ¥ g R Sis RN ST 28—

(a) TaeT OERECE R
(C) WIER (d) TR

Which type of roots are present in soyabean:
(a) Tape roots (b) Nodulaked tap roots

(c) Fibrous roots (d) Aerial roots

¥.26 QRN BT 99T fhd=l Texrs W 997 amfau—
(a)8—10 .H. (b) 3—5 HH.

(c) 2—3 HHI. (d)S H | BIs ol

What should be the depth of sowing for soyabean:
(@) 8-10 cm (b) 3-5cm
(c) 2-3cm (d) None of them

¥.27 AEEN & UF Hell § A fdhdd 991 8 g
Pod of soyabean usually contain how many seeds:
(a) 1-2 (b) 2-3
(c) 4-5 (d) 8-10

.28 WRIEH & B § T20o / Bdex & STl 8—
(a) 40-50 kg (b) 60-80 kg
(c) 20-25 kg (d) 0-20 kg

.29 IR Bl BIA § DI AT die b BT HRal a—
(a) USTeITS (b) & drea
OREEKISS (d) ursRea
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9.30

9.31

.32

Which insect cause major damage to Arhar (Pigeon Pea) crop:
(a) Pod fly (b) Blue beetle
(c) Girdle beetle (d) Pyrilla

IR B Bels & THT ST H 797 D1 ufarerd /79 897 arfeu—
(a) 10% (b) 15%
(C) 20% (d) 25%

At harvest the moisture context of the soyabean seed should be:
(@) 10% (b) 15%
(c) 20% (d) 25%

IRER D1 JA-3 SIfa fora aRueadr o+t &) g—
(a) e gep=T aredl (b) ez AHT ¥ U arell
(C) =% & g arel (d) St

To which maturity group the Arhar variety JA-3 belong:
(a) Early maturity (b) Medium maturity
(c) Late maturity (d) All of above

3RER @ TMI Bl FRI&T ®U | HUSRYT 7 ST HI &1 yfererd A1 g1
ElE

(a) 50-60% (b) 20-25%

(c) 10-15% (d) 10-11%

To store the Arhar grain safely it should contain moisture percent:
(a) 50-60% (b) 20-25%
(c) 10-15% (d) 10-11%
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.33 GREE @ J.S.33551fd @) SuST Ui gdex o—

.1

¥.2

.3

U4

.5

.6

(a) 10-15da<a (b) 15-20fFa<a
(c) 20-25(da<d (d) 25-35fda<a

The yield per hetare of soyabean variety J.S. 335 is:
(a) 10-15 quintal (b) 15-20 quintal
(c) 20-25 quintal (d) 25-35 quintal

T B B BT M Pb Hecd THSISY?

Explain the economic importance of sugarcane crop?

=1 ] Al ¥, Bel, SURT R T Y B FTeghdl I HITY?
Explain the Botanical name, Famillace of origin and soil requirement of

sugarcane.

T~ B B B a9 I Afa= AT o7 dferg # we Hifoe?

Explain in brief the various planting methods of sugarcane crop?

T~ BT BIeH T dId 27 TSNS ?

Why sugarcane is sown after cutting it? Explain.

el Jrs AT B° 0 Rl fhar ST 87
What is blind hoeing? Why it is done?

AU, @ AT &3l | R gq SRR 11 @ STl & A4 fol@ax =1 &l
a5 &R Ufd gaex foRag?
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u.7

.8

.9

.10

.11

H.12

Write down the seed rate of sugarcane alongwith writing the name of various

varieties recommended for various areas of M.P

T~ P Bl B 7Y, § 99 B 9T fIRau? o W wad 21fd USaR 2t
27 FHSIeY?
Write down the sowing time of sugarcane in ¥ hich Crop gives the higher

yield? Explain.

T~ B B BT ogaR fafer forRau?

Write down the method of seeteatment of Sugarcane?

T & TSI § R G 817 UST ¥ 31f¥d Iuf U &3l & i J7d S
forRay?
What do you understand by the Ratoon of sugarcanet® \down three

measures to achieve higher yield from Ratoon Crop?

T~ P B H RIS ga=T T AHsId?

Explain the irrigation management in sugarcane crop.

T & Bad H el ggM 3 fohar &7 ded W HIforg?

How is the maturity period of sugarcane Judged? Explain in four points.

=1 &1 B H & dlel U dicl & M folgdr usRedl @ =0 &1 Ui
SIECI

Write down the control measures of Pyrilla alongwith writting the names of

Important insects of sugarcane?

(114)



.13

H.14

.15

.16

.17

.18

.19

.20

=1 B BHA A G SH ARl & 4 feTRag?

Write down the names of research institutions related to sugarcane.

T~ & Tl e T BT HROT Ud =07 Iury ferRau?

Write down the cause and control meausres of red rot disease of sugarcane.

ST BHS FIT 27 SHBT Yool qig wu 4 fobe i 4 272

What is adsali crop? In which states this plasting is mainly popular?

HeR BT IRl M, del, Sl W Ud g falRgy?

Write down the Botanical name, familylace of origin and importance of

Pea?

HeR DI Wl & oy Iuge g @t faRivari forReg?

Write down the characteristics of soil for the cultivation of pea?

AcY ® I AT & AW for@ar Nfdbdt ST @ faeryany forRag?
Write down the features of variety "Arkil" along with writing down the name of

various improved varieties of pea?

AR B B ST = Aol &, G BT F9Y, WTe Ud Savd UawT hl T3S ?
Explain the seed rate, sowing time and manure and fertilizer management for the

cultivation of pea?

AT @] B & dIc U I @ AW fergay ol miidr IFT i3 & Sur
forfay?
Write down the control measures of powdery mildew disease of pea alongwith

writing the names of various insects and disease of pea?
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H.21

.22

AeR ®I Feoll dell STl & A G 39D B el DI Suol &Aar forRag?
Write down the names and green pea yield potential of vegetable purpose varieties

of pea?

T BT MNARTNT BAA =T Bl Bad | Afd UgaR j <<l 87
Why does the Autumn planting of sugarcane give higher yield than spring

planting?

frdffa gl & SR e s ¥ forfau

.1

¥.2

.3

H.4

.5

4.6

Write down the answers of following questions in one word.

I DT qRTfcId -TH T 2 |

What is the Botanical name of Gram?

T BT URaR forgg?

Write down the family of Gram.

T B URE H IR ST dlel 3kl BT A feRag?

Write down the name of acid present in the leaves of gram.

T4 b e F 3rade fhaar I urm Srar 87

What is the average protein percent in gram seed.

T D HIA B A BT SUYDH THI FIT 22

What is the optinum time of sowing the gram crop.

I B I DI 419 aX /TIX HT 87

What is the seed rate/hectare of gram crop?
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u.7

4.8

.1

.2

.3

H.4

.5

qIred fhy S0l & Ffyd 2|

To which group the Mushroom is belong.

AISRH B WM AT T URIg Sifa b o1 272

Which one is the famous edible mushroom.

IRA # Tall & AR B g Rt o7 arR fawgeil # F9emsa?
Explain in four points the present status of Floriculture business in India?

W G BT 9fA AR Q9 H 980 Soulddl ©, FHssd?

The Future of Floriculture business is very bright in our couBixplain?

AN UY H JW qARI B Fhel I B IR GoId AHSA?

Explain four suggesions to make the Floriculture business successful in madhya

pradesh.

IRT H Hell Bl HH U & T HRUN DI FHSTEA?

Explain the important causes of porryield of fruits in India?

S Hell & AIAR H SO T B AT 82 BT Gl & aad <9t b A
forfgy?
Which is the leading country in respect of cut Flower business@ fiéwn the

name of countries expoting the cut flower's.
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4.6

u.7

.8

.9

.10

HRA T 7Y, H Hell B! Ukl 8dex Td Gl UGTaR g T 5 IR Surl B ferRay?
Write down the four measures to improve the fer hectare and total productivity

of Fruits in India and Madhya Pradesh?

< BT el URREY JGART ¥ S YR HRIFT & AW fRag?
Write down the name of main Institutions connected with Fruit preserration

Business?

HRA WRBR RT el YRRV FIHRI BT Fhel I 2 IR S 2 IR Ul
&I ferRag?
Write down any four measures adopted by the Goverment of India to make the

fruit preservation Business successful?

3MTY 3TU+T &3 H Tpell @ Tl Dl de1aT o1 o FIT—aIT YR B ?(PIg IR U
forfam)

What measures you will take to in crease the cultivation of flowering plants in

your area?(\Wte down any four measures)

HRARI Y7 GRAY H Bl D Well P gemdl o & IR U foray?
Write down four measures to increase the cultivation of fruit crops in Indian

Rural Areas?
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GRS B R I R i T [ L

Answer the following questions.

geRil &I gfafe Al T Sd @R @ A foRag?

What method should be adopted to count pulse rate of a animal.

JHISNI Ud HAER aI—al ARl & 4 forRay?
Mention the name of two medicine used us Emetics and Antihelmenthis each

two.

ST BReER A b SYATRTT qad Y AT fofRay?

Describe the structure of Buredezo castrotor along with it uses.

IReg w1 2° D &l FY forRag?

What is footbath. Give its two function.

CPHR Td BT IF BT SUANT 6d T d fhar SIrar 87

How and when does tracer and canula are used.

T & INR BT dUhHE S d fbar sirar g | forfRav |

How does the body temperature of a cow is measured.

Il TdT &l YA™I® 9 9 596 af by forfRgu?

Write the chemical naenof red medicine, along with its two functions.

gegsll # g fohd aRRerferl & e S 27 gaal fafdy forReg?

In which circumstances does anima is used and write its application criteria.

SIFAR & INR BT AT T ST BRd THY MaeTh ATae=1 for?

What precautions should be kept in mind while pulse rate is counted.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

U3 & T T ol T fhi—{dhe qral &l €19 H @ 418y | What

precautions should be taken while respiration rate is counted.

IRUST BT I Ud el & a—al i forRau?

Explain two function of each Alum and Castor oil.

o] Fafdhear # Qi 1 27 39@ 93 9 Uh B forlRag?

What is blue vitriole. Give its formula and one use.

TTedh &R® UG UfTdRE <dl I MY T A8 81 foRay |

What is caustic and antidot medicine.

BTl IRT BT IS A1 UG g BRI foRau?

Which chemical is known as 'Kalmi Sora' write two function.

T3] BT Golell, B U4 IHMAPR T T 4l Sl drell 3iNfd &l a1 H8d o |
U BT Th—Udh SAIER0T QIToTg?

Which scientific terms are used in medicine for itehing, caughing and bad odour

effect. Mention example each one.

IIR® RIS, NP IMRATSS, FARIBH, WSAT & ITANT foIlRay?

Write uses of Boric acid, zinc oxide, chloroform calcium carbonate.

AT UISey, BT, FoRIIar & uy] fRfhedr & dri foflRgy?

Write the major role of bleaching powésafoetida and chirayata in vetrinary

gy] frfhedr H SR IR I3 & A Ud SuANT forRay?

Mention the name and uses of four instrument which is used in vetrinary science.
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

91 f59@ <1 W U BT K T 3, 99 $Hed o 59D I STl foikag?

Write three medicine which causes loose motion in animals.

a3 H TG B T S DR Dbl ey ferfag?

How does the respiration rate is counted in a animal,

SifhT A/, geRE®, ool Ud Ud B9 &I Uh—Ud ISUAN feTRay?

Write the utilily of docking machine, Bull mostache, Bulinose punch, each one.

eATEHH, TIRATE, BT AMHifbd o a9 18d?

Draw the figure of measuring cylindégat syphon.

Ihfered &1 dal Uy fafdhear § &9 Suarh 27 forag |

Write the uses of Eucalyptus oil in vertrinary

FHAel B IUIIRTAT forRay?

Write the advantage of Nuxvomica.

fheam ug] I # fra yeR Agart 2?2 faRay |

How does Alum assist in animal disease.

THIRR NS I T dd © | SETexv afed forlag?

What is Emetics medicine write with example.

TFad AN F7 7, IRl Aled forRay?

What is diuretics. Give its example.

JUHTST BT 31 d gY 59D &l Hr feIRag?

What is detagent. Wite its two example.
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20.

30.

31.

32.

33.

34.

35.

36.

37.

e e ¥ T <amsii oI &7 ded 27 < <dl & -9 IRIU |

What term is used to medicine related to deep sleep. Give two example.

TIRIP AN T 87 39 I B, 3T I foRay |

What is Astringent. \Wte two function alongwith example.

HHER AN F I AR 2?2 3] T faRman faRkea |

What is meaning of Antihelmenthis menticsidM/two characerstics.

Uyl ffe § Feedd gard oF Al 27 gl SuAiar folad |

Which medicine is used as anaesthetics in vetrinary sciemite teir utility.

SISt IO T 27 9P hII d a7 SN0 forfRay |

What is irritant. Wite function alongwith two example.

¥Ad foe 3N BT BT Srdr 82 al—al Sarexvl forlRay |

Which medicine termed as gative. Wite two example.

Aifderor I3 &1 AHifhd R 9180 7 g9 Hrd forRay |

Draw a labelled diagram of vaginal scapula and write its functioning.

G I DI T T HE fIRa |

Write the structure and function of Groom comb.

T G ol T 97 N7 I B SgAar Ry |

Write the role of insemination tube and eye scapula in vetrinary
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1yl @ SR @ s ¥ Y - (1 3i® /)

Answer one word. (1 marks)

TIReT T BT dTUshy BIeT ¢ |

Healthy cow bears temperature.

T 591 IThRS BT T BT & fbd I oY oft 7 3 2|

Disease whose causes are known, comes under which category

IS 2RI BT IERISh 94 B |

Write the chemical name of blue vitriole.

GRUBT HEUDBT T BT BT T 3 BT YoM IR et Ry # far imar 2|
Stage at which first vaccination is done for foot and mouth disease jn cow

buffalo.

STENdTE AT BT Jod ¢ | Causal

organism of black quarter disease is.

GRUBT GEUHT IRT A JHIAT U DI ¥4 2 |

What are the victim animals of foot and mouth disease.

forer Og] R BT TR R T dEd |

Which animal disease is also termed as "Apthus fever".

ag] & e T H S, WR, U9 3R WR BTl 99 Hhed & |

Lessions on tongue, hoof and udder is symptom of disease.

] & 5 A # T agg @ BRI g

In which disease animal abort.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Hedrel SUAR UY & o A9 # fhar Siar

Name the disease in which 'foot bath' is helpful.

GRYBT HUDHT T Pl IGHATDhIS BIAT © |

Write the incubation period of foot and mouth diseas.

SIS [T AT @t ol | ST BIaT 2 |

Which species of Bacterial causes Black quarter

foer 0T H U 24 W 72 €S H AR SA@@r 2 |

Which disease causes death within 24 to 72 hrs.

a3 & o T H G A TS FIRET DI I I 7 |

In which disease blood smell is like a rotten butter

UY] & e, YIS, HHT Yd ARGURRIN WR JoT AT fhd T BT Ll B |

Swelling on neck, Back, shoulder and muscles is symptom of a disease.

ag] AT Y S SeR & T | W ST S 2

Animal disease which is also known as "Navik Juvar".

ER—ER Pl IMTATST 3T U & T HT AT 2 |

'‘Ghur-Ghur" sound during respiration is symtom of a disease.

U] & e, SR, BT, RN & Ia JGora AT 0T & eI 2 |

Which disease indicate swelling on neck, dewlap, shoulders and feet.

BHS! fd g [T BT 3T AW 2 |

Animal disease which is also called "hephri" is
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20.

21.

22.

23.

24.

fay SaR AT BT T 6 BT T IR |

What is causal organism of anthrax disease.

AET BT @R U & e I[T &1 37 H 2 |

Which disease is also known as "Spleen fever

ST BT TEM UR R DI ATETST 3TH T H |

A disease in which on embracing of swelling produce chur-chur sound.

i TSR I BT IMH 3 |

Causal organism of black quarter is.

TRy N B ATST BT T B |

A healthy buffalo has pulse rate.

=1 yo d 9 98 oS R iR -

N o o ks~ 0N =

CRI R Y DI RSR]
TeTdIe

[N

qforar
STST T
RISECI
T

[N

HEHR]

Match the column

1.

2.

Bacillus anthrasis
Haemorrhagic disease
Blue vitriole

Black quarter

Red medicine

Haemorrhagic

Epidemic disease
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TR TS
IGEREHN

gRgRAT

ThCd

o

B
Are R TeTe

LT

(2 mark)
Posturella spp
Anthrax
quarterill
foot bath
Ghurka

Pottasium permagnet

Rinederpest

(1 3% /7%)



Req wm=i & ofit iy — (1 3@/ 9%)

Fill in the blanks. 1 marks/question

IR S~ XMoo L0 =

...... and .......... are viral csed disease.

3R GEDBR dBHR B ST T BT AT B |

Dryness and useless udder is symptom of ....... desiease.
ARIRYT AR O 372 G W gfaerd Gifeay deiNgs 2idl 2 |
A good quality of milk has .......... % sodium chloride.

oFlell 8 &I PH ... BT 2 |

..................... T A MR UY BT G e TE AT ARy |

In.......... disease dead animal is not examine under postmortum.
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11.

12.

13.

14.

15.

16.

17.

TS T A W T ST ST 2 |

.......... mortality rate is found in black quarter disease.

1 gl &1 SR R W Reaal @ wd gaox fafed:

3w /uE) Answer by choosing correct answer:

T[eld R BT BRI e—

Causal organism of Rinder pest disease is

(a)<iam] Bacteria

(C) w®he fungi
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(b) R4 virus
(d) @ Insect

(1



TARLSTH AfIATS AT F Sea=~ 0T 2 |

Clostridium schauvri causes disease:

(a)reraie. Haemorrhagic (b) ertetr Mastitis
(C) &1 AT Black quarter (d) gz Rinder pest

U3 & WR UG HE H G g1 AT F |

Wounds on hoof and mouth is symptom of:

(a) gyt g8usht T Foot and mouth disease
(b) geIwRT BT AT Rinder pest

(C) =TT AT T Mastitis

(d) TSI AT Black quarter

TeTEIe T &1 98] &% 8— Mortality rate in Haemorrhagic septicaemia is:

(@ 70% (b) 80%
() 90% (d) 100%

ST GEBR §8 9 dIER 3T T BT Aeqor 2—

Dried tongue to come out from mouth indicates the symptom of disease.

(a) = T Mastitis

(b) Terae Haemorrhagic
(C) ugRRT Rinderpest
(d) =imaarex Black quarter
Ifrera VIR Sfiaro] Sifa R 8-

Bacillus anthrasis bacterial orginated disease is:
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10.

(a) =i F@reR Black quarter

(b) wwer Phephri
(c) diar Rinderpest
(d) giar Mastitis

ATET BT MBHR AMRT & B AT 9§ ST T H BT B—

To increase the size of Spleen indicate the disease.

(a) o= gER Anthrax
(b) =rean Haemorrhagie
(c) gar Mustitis
(d) ertem Septicaemia

B D RRT H g adx G Hebrer S a—

Disease in which blood is taken through needle from ear veins.

(@) UY@RT T H Rinderpest
(b) we yve "= T Foot & Mouth disease

(c) favsR Anthrax
(d) rerane Haemerrhagic-Septicaeani
T[T IMT BT AR AT H RI1ET 81T 28—

Season which assists in wide spread of Rinder Pest.
(@) ¥ @’ Moisturedb) 3dvs Hr’FH # Cold
(C) ¥ #r’gH 4 Dry (d) 7 @[ Hot

RSUwe 9T 7T st ud faeell ug) 9 9y &==m eIl a—

Mortality rate of hilly & foreign breed due to Rinder Pest disease is.
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11.

12.

13.

14.

(@) 40 ¥ 6040% to 60%

(b) 60 % 80 60% to 80%
(C) 80 & 100 80% to 100%
(d) ®o i None

g @ ToIfq® f3reetl # @7al &1 8T 9T &7 Aeror 3—

Wounds on epithellial membrane in mouth Indicate the disease.

(@) g¥a1  Haemorrhagic-septicaemia  (b) o=ar  Mastitis
(C) dUgwrT Rinder-pest (d) fawsar Anthrax

gidl o HHCIECS 3MTaTST 37T T BT Udh of&fvl %—

Shuttering of teeth is symptoms of disease.

(@) ReUe Rinderpest (b) =ream H.S Disease

(C) wwsI Anthrax (d) H.SIr Black quarter
TeTele INT BT Wfera = 23—

Brief name of haemorrhagic-septicaemia disease is.

(@) H.T (b) H.M.

(c) H.S. (d) H.P

AT ¥ Yad AR SINeR &g &1 fIRAT 8 dr 28—

Secretion of faeces mixed with blood from rectum.

(@) TrerEe H.S (b) el Mastitis
(C) =iwaarex  Black quarter (d) fdwseR Anthrax

(130)



15.

16.

17.

18.

19.

20.

IR ¥ el g gU | BIos e 0 &I dero—

Clotted milk from udder is symptom of disease.

(@) ©ed I Anthrax (b) =& @@k Black quarter
(C) oFem /T Mastitis (d) H.S

D.G.T.V. 359 &1 vanT fhar Srdr 2 |

D.G.T.V vaccine used In.

(@) ReUwe T H rinder pest (b) rerare H.S.
(c) fawsR Anthrax (d) erierm # Mastitis

AT U] BT TTeT AT HHel ¥ SGIHR TH AT ST o—

Affected animal is heated by zute or blanket in a disease.

() <waarck I/TH  Black quarter

(b) eren Mastitis
(C) U @i T H Rinder pest
(d) werare Haemorhagic disease

TTeTdic, AT 1 &1 U] Bl SF AT 87 g9 I el [l | (4 3iah)
What is the required age of animal to be affected by haemorrhagic disease

mention three symptoms.
oAl IAT & e @1 e faferr forfReRy |

Write the three ways for diagnosis of mastitis disease.

U AT I gga & IR A&l foffRe |
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21.

22.

23.

24.

25.

26.

27.

28.

Write four identification symptoms of Rinderpest disease.

RHT I H gIGR BT Amarel R M v faRad |

Why there is 'Ghur-Ghur' sound in Haemorrhagic Septicaemia disease.
T T T 2?7 gD i e foflRay |

Explain Anthrax disease with three symbtoms.

fIvser IR | 9919 & IR U foIRed |

Write four preventive measures against Anthrax disease.

TIT AT BT oS T & SUaAR fIlRedy |

Write the causal ganism & two method of treatment of Rinder pest disease.

oTelT T SId ¥ o Haferd efor forRay |

Write the symptoms seen in milk under Mastitis disease.
R gER’ I B e forlkay |

Write the treatment for 'spleen fever' disease.

FIeST [T I TR U DI DA SUATRT BRI

How does Anthrax diseasal animal treated.

Rea weror I A 7 F fhar 9rar € ud 99t fafyr @ 27

In which disease 'stripcup trial' is examined write its method.
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20.

30.

31.

32.

33.

34.

35.

36.

oAU Sire fbd R H Bl Gl & gha] wietd e forfe |

Which disease under go smear test write its testing method.

oIell RIMT SUER IR Uil Siiary] uaref ferfed |

Write for Antibiotics against mastitis disease.

T I H G §€ PR D ol Dlg IR TR falkay |

Write four preventive measures for diarrhoa in Rinder pest disease.

ORIl I AT a7 87 dfera # faRay |

What is Rinder pest eradication scheme. Explain in brief.

I 2 I H B O BT ST R®a2? faRad |

What is mode of infection in Mastitis disease.

Ul TTHIe, G U4 @fhdaicy [NT Bl Shgeddd fafd foRka |

Write the Incubation period of Rinder pest, Mastitis, Anthrax & Black quarer

disease.

TUIHT T | Il TRIeToT & fhar Siar 2? forRad |
How does 'Ring test' is done in Anthrax disease.
TE §E@R I H qEaead IR At ke |

Write four precaution against Anthrax disease.
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37.

38.

39.

40.

41.

42.

43.

44,

Rl T ¥ B oW BT AT a1 &7 ol |
What is mode of infection in Anthrax disease.
OTeeRel TR | I~ IFT BT AW, SREAT A Ud &I IuaR foflRay |

Write the name incubation period and two treatment of a disease which originate

by pasteurella species.

Teh 3RAY UY Pl UgA & IR Aeror fala |

Write four Symtoms of a diseasdeaadted animal.

AhHdh I & Dls AR BROT TR |

Write four Casualities of infections diseases.

TS T BT e foriay |

What is the diagnosis method for Black quarter disease.

STENdTE AT BT o[ g AT hard &l fafdy forRkay |

Write Causal aganism as well as mode of transmission in black quarter disease

TR I BT FRAfbT 8 B SRl 2PfaRay |

How does Black quarter diseased animal treated write it.

TRAER fd’d IAT T T A4 7 | SHHT IS, SaII afd Ud QT SefoT
forRe |
Which disease is also called Aphthus fever write causal organism, incubation

period and two symptoms of its.
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45.

46.

47.

48.

49.

50.

51.

GRUBT HEUDT T H SIHTaxvl $hd fhar Smar &7 foilRady |

How does the vaccination is done in foot and mouth disease.

HehMd Ud Bd & I Bl 91 & IR U fIRad |

Write the four preventive measures against infections disease.
fafdre ua arfafdre IF7f # |7 &R ey |

Write the two diferences between specific & non specific diseases.
& ¥R T UG 3 & INR dT9ehH, TaId, TeoriTi forlRay |

What is the body temperatare, respiration rate & pulse rate of a healthy cow and

goat.

Uggstl @ I URYA B & MR IR BRYN IR |

Write four genral Causualities forfeéted animal.

Trder ugRll # SiarY] Ud arRRE SId Hehd IR @ A oty |
Write the name of infections disease which is spread by bacteria and virus

in COWS.

fITSaR, U, Sievare 9T 9§ ufid ugell & A forlRed |

Write the victim animals of anthrax, Rinder pest, black quarter disease.
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Rea w9 gftt Ao — (1 3% /)

Fill in the blanks: (1 marks/question)
T T & INR ARG w0 H B Ay |

The milk cow body shaped should be .............

HR BIE H BA AP B B |

There is .......... marks in a score card.

T B AT = 2 Fo

Animalage = 2+ ...........

fBaT T TR S B Tggall H |

Canine is found in .............

U] B FE SH BT T ERT BT 2 |

Accurate age is counted through ........

TH B AT TS B gl BT T

Nascent calf has................. teeth

AT TR R &I e 1 39 91 &-d 2|

By counting................... on horn determines the age of animal.
T3] & 3MST R T ¥ ¥ derd 7|

Al years permanent teeths emerge in animal.

Y] BT SH o g i S 2|

For dehorming the age of animal............... teeths are counted.
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10.

12.

13.

14.

15.

16.

17.

18.

19.

20.

......................... ATE 915 9f%dT BT IREME § TR AT Sl 2 |

After.........co....... month calf is sent for grazing.
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21.

22.

23.

24.

25.

Gestation period of a cow is................. days
S DI T Hooooo T A AT =Ry |
Bull is mated with................... cows in a week.
Tgq b1 THTT BIH oo P 9% |

qAT A€ TIT BT IOH AR, 2 |

.................... is the best basis of selectio

1 gl @1 SR R T fIeedt & | w8 gaex - (1

3w /9ed) Choose the correct altern

g TR BT W9 BldT 28—

Behaviour of a pregnant cow is:

(a)wia Calm WENSE
(C)S<orgad excited  (d) s
T A Yd I BT TH U AT S 8-

Before parturition warm water is given:

(138)

n at sire.

atives:

guarrel some

coward



(@) 23 e gg before 2-3 day

(b)3—4 fea 4g before 3-4 day
(C)a—5 fe gd before 4-5 day
(d)5—6 fa1 gd before 5-6 day
T #F T 3 WR 9D IR H uRdd gRT—

Variation in weight during pregnancy in cow:

(a)®HLess (b)sarer  More

(c)wm=a  Asusual (d)®e & None

TR | A AHY SIS 8F & 918 A< B o—

After heat period ovum is destroyed in cow:

()8 =uc qrg After 8 hrs (b) 9 gue H
(c)10=vc & after 10hrs  (d) 11 gv¢ 918

I8 BT @I 9T ST B—

Dry grass is feeded to calf:

() 4—5 T H 4-5 week
(b) 5—6 \wE # 5-6 week

(C) 6—7 |wIE H after 6-7 week

TG T UE HRAT IraTaRo—

Environment liked by pregnant cow is:

after 9 hrs

after 1. hrs

(a) T &1 Group (b) uwmid w1 Alone
(C) & any type  (d) ¥Rt @7 Roistering
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TR & @ He g1g ok IRTT 8-

Plancenta falls in hours after parturition:

(a)5—8 @ve 5-8hrs  (b)s—10 &ve 8-10 hrs
(c)10—12 v § 10-12 hrs (d)12—14 go¢ § 12-14 hrs.

G &I b 0T o—

guality of a colostrum is also:

(a)®% eR® Expectorant

(b) drerert Anagesic
(C) e Diuretics

(d) 55¥=®w Purgative
TISITd SSAT BT g A% fbar Sr &—

Mouth of newly born calf is cleaned by:

@guw with brush

(b) 7rp gRT by tube

(C) 3r[ciTSTeTahy by using finger
(d) Fos & with cloth

oot R % 9T UfcR™Id evar &7 faerer grar 28—

Disease resistant mechanisim in calf due to:

(@) ¥ milk (b) @1 & colostrum
(c)wuergg s skimmedmilk  (d) s ¥ curd
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1. T P I ES H B 2—

The upper jaw of a cow has

(a)wretad canine teeth
(b) gdward incisor teeth
(C) ArerRgid molor teeth

(d) @& wrgar dental pad

12.  PIcied IR S &—

Canine teeth is found in:

(@) | cow (b) T # goat
(C) @RI H rabhit (d) ger 4 pig

13, I T BT 9 | Mde &1 G979 BIal &—

Emerging time of permanent teeth is:

(@)1 & 1%Lay 1 to 1% years
(b) 299 & 2% 4y 2 to 24 year
(C) 2% 3af 25 to 3 years
(d) 3% 3%LTy 3 to L year

14, UY @I A AP d6 W <Id forT I 5

Age of depreciation of permanent teeth in animals is:

(@)sa¥  5years (b)6 a8 6 years
(c)sa¥  8years (d)10ay 10 years
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15.

16.

17.

18.

19.

20.

21.

22.

23.

R L I 1 1 7 s R ) = B | L 1 3id /T

Answer in one words

Tl TSN U § U S dTet &I B o |

Carnivoruous has type of teeth.for

Y] & SR OGS H U6 HOR §§ ¥aT Bl T |

Upper jaw of a animal has hard structure.

TP IAH T H G BRI el 2

A good cow has milk vein.

G & IRI AR AGT UY &1 Fad T, T o1 Reyfay 7 amar 2|

Revoluving the stall by a female animal is a condition called.

AT g3 BT fhsd U T STH el & |

Flat rump mdicates the best animal.

T T fR 319 Ut T8 S <l 2

Which animal is not allowed by a pregnant cow to come near

g & fhd- ATE 91 T Aedhid § 37l © |

What is the heat period againt for a cow after parturition.

ITH 9 B AT B R NS BT e BT B |

Front part of a good bullock should be as compared to back parts.

4—5 Y BT AR H URIT B Peich aidl bl AT B |

Give the number of inciser teeth ofter 4-5 to years age.
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24.

25.

26.

27.

28.

20.

30.

31.

32.

33.

U] # IR P <id b oY aF Yot fyafid &1 oIt 2 |
Emerging age of all temborary teeth in animal.

PR Bre ¥ AfHaH 3h BT © |

The maximum marks in a score card.

aoId gt & AR Bl Brel Sl 2 |

The placenta of a calf is disconneted, through.

aoTd §edi B INR F BIFRGT 999 H ®=IT 86 ¢ |

What is helpful in forming cells in newly born calf.

oy H T BT A AT S ©

What method is adopted to know the pregnancy of a animal.

Y] BT G fhar o7 § Ry fa—

Grooming is done in animal for

uy] YRR H el vd gl & e & fog snavas @ et waor ®

Which mineral are responsible for development of Bone and teeth.

eI T T T U BY AR AU H 3T S © |

What ratio of dry and green fodder is given to pregnant cow

U3 & Y% @ U9 QM IR IS¢ 99 ST &9 & |

Emerging of hole near tail is indication of disease.

M T 49 IR—IR Y He FhTardl 2 |

Continous licking of tongue in cow/buffalo indicate.
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34.

35.

36.

Ufedads formrive ud Arauel & geimas BIFT U] & Rerfr & derr §

Loosening of pelvic liagament and muscles is symtoms of condition.

T P Y9G SR B B el 2ERT &

Working hormones during parturition is.

e Sifeyl I9ISd—

Match the column

A

SR
Y
DICHIH Td BRHRY
CURCEU RGNS

g

UR[ T XHTAT

A
Porturition time
Placenta

Colostrum

Calcium & phosphorus

Embryo har beat counting

Grooming

Animal shouting

1 3b /9

1 mark/question

BERSS]

EESIERRIM

EGUINSE]]
IR

Th HeNRT

B
New blade
Projestron
Bone development
Antibodies
To be heated
Stethoscope

Blood circulaton
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37.

38.

39.

40.

41.

42.

43.

44,

45.

6 Mark/question

THR Bl T 27 39 IR Iudiirar forRag?

What is score card. Give its four utility

TSRt BT Sl IR Rl Gl 8¢ B HROT IRy |

Why the animals are judged. Give six reasons.

T 320 U] T-dhl @l ©: faRiydrd & 22
What are the essential characterstics of a selector for good animal. write in Six

points.

T 3o SAN U | 3P Y IUTGT g U & efor fofRgy?

Write the identification symptom of a good dairy animal.

T A1 W H MY T Tl & SR IR I Fgmil dedl, foalay |

On what basis do you considered cow heated.

FH T & Fhel TR T gq MY RIT GSId i | DIs ©: foiRay |

Write six suggestions for successful insemination in heated cow

31 =Y AreT Og] # o el 1 q@aR S T B | B favg # fafay |

Enumerate six poins by which you consider cow is pregnant.

T ¥ 9g & SR o1 YRad- fewrs ad & | forRau |

What chages can be seen during parturition.

BRI & AR W I B 3 0T feTRgy—
9 & OB UF I AT IR B SN UR A IR BifoTg?
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46.

47.

48.

49.

50.

51.

12.

13.

14.

Write good attributes of working bullock.

Give the mark distribution on gan comes under

U IR R U] TSI SRR Yot | fHa1 ST 8, S9H a1 faRivand gl
ey |

Write the essential attributes in the best bull which is used for reproduction.

PR Bls JdNd T B A4 G Bl ot HISTT |

Describe the mannary glands system under score card of a cow

U ST 91 B 3T Ud fUBel €S BT IhR Bls AR HIFY |

Listed the score card of front and back trunk of the best bull.

R GGIR UY] SH DY AT Dl Al 27 oy |

How does the hoof is helpful in judging of cattle.

T & Bool B9 I B H 59 bR e g, forfau |

How does rings on horn helpful in determing the age of cattle.

a3t H Il &l & b U o @1 w9y Ry |

Mention the emergence and depreciation period of permanent teeth in animal.

well & o T 3 ggar 90%w 100%dw ugd iRl 2 |

In which disease mortality rate extend 90% to 100%

Hapel ¥ IR 4 g d6 B MY B ol H o alell TR [T BT A& T |

Disease which &tct four week chicken mostly

qef B B T B 4, IHYad B T BT A0 T |

Bood alongwith greenish excreta ludicate which disease.
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15.

16.

el & g YT H 37UST IOl F Hed odT B |

Which disease causes servere braking in eggs.

ol & ot T 3 FEieber S @ W &

In poultry which disease causes violet colour of comb.

R =l @t git $ifog— 1 3@ /9
Fill in the blanks 1 marks/question
I SR ERT Bl 2|

BISeT UTRT T DT ISP =

Foulpox caused ..... disease.

AT ©RA OB © .. T & |

Salmonnella pullorum caused ..... disease.
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10.

hIFd, ded, Tl R Blel GS ST o AT BT LT 2 |

lessions on comb betal and skin indicate disease........

SRl HHGIR BT Ud U AAldl @l 3R olcdh STl

Weaken legs and hauging feuts are symptom of

T Ry 7 & SR S T W el § ¥ 98 R -

3w/u  Choose the correct alternatives.

PoHg @ T & I AT B

Summer born disease is:

(@) saaT o tick fever

(b) I+ Ranikhet

(c) AT Salmonella dises
(d) == Chicken pox

IREHG H T dTal Haphe IT—

Poultry disease which spread in winter:

(a) va= wmey
(b) Frargr saR

(c) pfarT
(d) =reres

Tick fever
C.R.D.
Work disease

Chicken pox
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Tell 7 faSer Yo @ T 9T -

Eating of taxic food is a disease:

() Tt T Mechanical
(b) It 9T Chemical
(C) URSIET =T Parasitic
(d) HsprAeh 0T Infectious

RecHd I & Ud—  Ricket disease is a:
CIRSIEIRG Parastics

(b) Hsprae T Infectious
(C) Uiysh QT I defficiation
(d) =it T Mechanical

IR—IR B 3T IFT BT AL 28—

Continous sneezing is symptom of disease:

(a)3FRga Ranikhet (b) wa==1 =mrer Tick fever

(c) st <R C.R.D. (d) g&@=¥ T Pulloram disease

HreiIfear 8 gh— Coccidia is a:
(a)arR¥y virus (b) Siram9] Bacteria
(C)whe Fungus (d) vasgen UIeISIRIT URaidl Protozoan
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= Ul & SR 9/ W 9E gaa] w9 d difoig—

Answer in True/False.

ST RS R 2| (e / o)

Paralysis is viral @inated disease. (Ue/False)

Uef Bl e T qif3d I 8 | (I / 39)

Wounding of poultry bird is mechanical diseaseuéfFalse)

MAGH T NIRS WRoldl & | (AT / 39)

Round worm is a Endo parasitery&/False)

JARA T T fAum] S 9T B | (T / 3RT)

Pulloram disease is a viral disease&uglFalse)

ol Bl TH 9 GET G A1y | (A / 314)
Chicken should be dry and warmr&/False)

HISAYTRT T § IRT #9719 99 91 = | (I / 319)

Wound in legs in due to foulox diseaserud/False)

Tdferd T F BT, BRIl TIfdd BId 2 | (I /1)

Nucaleus disease alsdeadt crow and pigeon. (Tlie/False)

Hg Td ARIHT i 3 et ueref Maadr 8 gaRd I # | (9 / 3RT)

Dischaging from mouth and nostals is sign of pulloram diseasae(fFalse)

C.R.D .3 faumetaa 7 8 | (7 / 3r7<)

C.R.D. is viral disease. (Ue/False)
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

6 3ih /U

el URGI! Ud fURSIE! bl FHSI §U dF—d Iarexvl [Ty |

Explain Ecto parasite and Endo parasite alongwith their example, each three.

TTERIHICIRT IFT RIT 8 | 39 I & IR defur forfRau |

What is spiroketosis diseaseriW its four symptoms.

SiTuRoidr @1 SuRefa gt & Tared &1 fH yer wwifad o=t 2|
How does endo parasitdedt the health of poultry

MAGA, BIATGHH Td WSRRT TS ST Hferd § T9smsy |

Explain in brief round work, tape worm and protozoan.

C.R.D. &1 @1 M fored gV IR U dtervT iRy |

Write the full name of C.R.D. Give its four symptom of identifications.

et I BT INTSTD Ud gaqd] e faRkag?

Write the causal ganism and treatment for ranikhet disease.

DB I B Uga v ©: &0 faRay |

Write six signs for identification of coccidiosis disease.

MAGHH I F F9d & IUN IRy | Fue HH | 69 IeR Far9 fHar S 2 |

Write the preventive measures against round worms.

T | ST dTel <7 918 URSId! 9 &1 Uga & oerol fRag |

Write the two ecto parasite and disease causal by them alongwith two symptoms.

el g@R BT ITSTIh T I F & IuAR faRag?

Write causal aganism of tick fever write its symptom with treatment.
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20.

21.

22.

23.

24.

25.

26.

Tigrit ®l 918 UReid I 9919 & B Iuy forRgu?

Write six preventive measures against ecto parasite.

TS TUTRT X[T bl XN d, RN TIEToT g AT YR o @IQ?

Write the causal ganism, symptom and treatment for fowl pox disease.

B.W.D. T &1 Q7 M, IS Td AT =07 faRay |

Give full name of B.W\D. disease and write causafjanism & their control.

3MY UG 3kq P ATAR Bahc I DI GHTBROT DI |

Classify the poultry disease as the basis of age and season.

HFRe H I Bl dlel g S Ry |

Write the major sources for the spread of disease in poultry

dHR Rl & <@ H B 9 IRy |

Write six care taking points forfatted poultry

FaBe Uell DI M A g9 &AM U Bl B Ry |

Write six preventive measures against poultry disease.
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TEST PAPER -1

1. FAR GRATY] & IFAT Seldg T & FATvCH WA BT Fel AT -

n I m
@ 2 1 0
(b) 2 1 0
(c) 3 1 1
(d) 3 0 0
The correct set of quantum numbers for the ungaalectrons of chlorine atoms is:

n I m
@ 2 1 0
(b) 2 1 0
(c) 3 1 1
(d) 3 0 0

2. 99 (N + |) 719 a1t werdt BT T B
(@)3p, 3d, 4f (b)3d, 4p, 5s
(c)4s,3d, 5p (d)3d, 3p, 4s
Group of orbitals having identical values af< ) is:
(@)3p, 3d, 4f (b)3d, 4p, 5s
(c)4s,3d, 5p (d)3d, 3p, 4s

3. He" & fgfia IR ®er # goiag T4 &1 Soit Brfl—
(a)-6.86 eV (b)-13.60 eV
(c)-27.20 eV (d)-54.40 eV
Energy of the electron in the second orbit of ise
(a)-6.86 eV (b)-13.60 eV
(c)-27.20 eV (d)-54.40 eV

4. qamved sl & aed | 4§ 9 @9 91 $ed 3
(@g= @ §=mW g n=1,2,3 ............
(b)fereht wamuen wwar] €, 1=0, 1,2 ....... i-1)
(¢) g Famved §&=&a] &, m = -, (1), ...... 0...1(-2).1
(d)=spor FaUeH H@AIW §, My = +%%, 0,-%

Referring to quantum numbers which statement isrnect?
(a)Values of principal quantum numbers are= 1, 2, 3 ............
(b)Values of azimuthal quantum numbers are: 1=0,1,2 ....... fi-1)
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(c) Valuess of magnetic quantum numbers aran =-I, (1-1), ...... O...I(-1).1
(d)Values of spin quantum numbers are: s =M%, 0,-%

. BISoME & SIHRFaar @ g & IR
21T
(a) Ap.szA'—: (b) Ap.AX 2 o

©) apax=" (d)ppaxz
a4 m
Heisenberg's uncertainty priciple confirms the folan

2m
(@) Ap.Ax24—: (byAp.Ax = e

h h
C) Ap.Ax=>— d) Ap.Ax = —
(©opaxz,-  (d)spaxz

. He"wae a d yorshig ¢ ™iiwd h =43 n =2d, g5s o4 @ f6d ¢ oieq & dner 87
(@n=2ton=1 (b)n=3ton=1
(c)n=3ton=2 (dn=4ton=2

In the spectrum of Heon, the transition correspondinghio= 4 ton = 2 is equivalent
to which transition of Fspectrum?

(@n=2ton=1 (b)n=3ton=1

(c)n=3ton=2 (dn=4ton=2

. P 3 SuRerd gorge 1 e 4 @ fede axiER @R

(@)s (b)Ar  (c)ClI (d)Na’

Electrons present inFare equal to electrons in:

(@)s (b)Ar  (c)Cl (d)Na"

. fafy=1 Sueren @ garven WAe A d TS B S SUBY T T dIfie ad  sifireaH
Solgg T FARTA 81 Fad o—

(@n=2tol=1 (b)n=4tol=4

(c)n=5tol=0 (d)n=4tol=3

Choose the subhell which can accommodate maximum number of relest
(@n=2tol=1 (b)n=4tol=4

(c)n=5tol=0 (d)n=4tol=3

. DT gordg T o= e g—

(@)1s, 25°, 2p°,  (b)1S%, 25, 1p’,

(c) 1%, 25° (d)1s%, 2<%, 2p°

Which of the following electronic configurationirmpossible:

(@)1, 25, 2p°,  (b)1<, 25, 1p/,
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(c) 1%, 25° (d)1%, 2<%, 2p°

10991 O AT Solde 14 1Y Wl o—
(a)He (b) B
(c) Be (d) Li
Which of the following element possesses-spherical electromloud:
(a)He (b) B
(c) Be (d) Li

11 zreg T @ MRl Foll 313.8fb.d. ufd A1t 2| Afe gelae 19 9k URHIY & AR Hel H B
al ISP Foll BIf—

(a)-113.2 k.cal/mole (b) -78.45 k.cal/mole
(c)-313.8 k/cal/mole (d) -35k.cal/mole

If the ionization energy of hydrogen is 313.8 kl par mole, then the energy of the
electron in 2nd Bohr orbit is:

(a)-113.2 k.cal/mole (b) -78.45 k.cal/mole
(c)-313.8 k/cal/mole (d) -35k.cal/mole
12 w16 # Sofdg T @ W& 5—
(a)6 (b) 8 (c) 10 (d) 12
Number of electrons in carbon atoms are:
(a)6 (b)8 (c)10 (d)12
13.K @ Ca® 3if<dq &9 &1 goldg ™I o= s 8—
(a)3s, 3¢ (b)3p', 3¢
(c)4s, 4 (d)2s, 2¢
Electronic configuration of ultimate shell of K aQ respectively is:
(a)3s, 3¢ (b)3p', 3¢
(c)4s, 45 (d)2s, 2¢
14 O] R BT AT MR 28—
(a)gw=enfre H' = 1.000
(b) s sreRis= = 16.000
(c)w=Renfe O'°= 16.000
(d)g=enfy@s CH = 12.000
The modern basis of atomic weight is:
(a)Isotope H = 1.000
(b)Ordinary oxygen = 16.000
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(c)Isotope G°= 16.000
(d)Isotope C* = 12.000
15 p-anfdear & snafr gFfl—
(a)TremdR
(b)aT Tst &= gT1
(c)== =l
(d) Swf g TEl
Shape of the-orbital is:
(a) Spherical
(b)Like two circles touching at a point
(c) Dumb-bell
(d) None of these
1631 A1 @ MR fhdd Wag A & ARAT B H IR RIg 3%l &7

(a)Na*lO (b) B+
() g &= # H-uve1]
(d)He"
Bohr could not explain the spectrum of:
(@) Na'L° (b) B+
(c) H-atom in the magnetic field
(d)He"
17 H-o=#19] & 19 | GHHU H Foll BT STaRT0T 3fqal Icafoid el sld—
(@3 R-3s (b)3dyy— 3dy,

(c)3s - 3d,y (d)All the above
Which of the following transition neither shows alygion nor emission of energy:
(@)3 R-3s (b)  3dy,— 3dy;
(€)3s - 34, (d) All the above
18 5ciag T @ darveH WA &1 B A1 Ay Ieddq SHoll JaRId Bl a—
(@3,2,1,+% (b)4,2,-1,+%
(©4,1,0,-% (d)5,0,0, +%
Which set of quantum numbers, for the electron shioighest energy
(@3,2,1,+% (b)4,2,-1,+%
(c)4,1,0,-% (d)5,0,0, +%
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192Tse 199 & TR o0 @ v AT @ o= W 15200 cnt € | garsd LitYemH & amR ot
BT YU G B IR GRAT BRI

(a)15200 crit (b)60800 crit
(c)76000 crit (d)136800 crit

Wave number of first line of Balmer series of hyglea spectrum is 15200 ¢mWhat
would be the wave number of the first line of Bairseries of Li*

(@)15200 crit (b)60800 crit
(c)76000 crit (d)136800 crit
20. IR & YRHI] U/ & IR Soldg 14 AM%d & dex dddy il o—

(a)sdifdca # (b)wa—zrat |

(c)siffde # (d)SwRh 1 H

Postulate of Bohr theory assumes that electron smiak@ind the nucleus in the:
(a)Orbital (b)Subshell

(c) Orbit (d)None

21 =faRea aqi 9 | feaa K-arr # 31 Solag 9 81d &
(a)Hydrogen (b)Neon
(c)Helium (d)Sulphur
Which one of the following elements has two eleasron the kshell?
(a)Hydrogen (b)Neon

(c)Helium (d)Sulphur

22 ¢ H-yze] # df 91 o1l Wk 8 ar §9a Scdoid Wag 9 4 UV &3 7 Y@t &1 |w@r gnfi—
()3 (b)4
()2 (d)0

If there are five energy states in case eatdm, then the number of lines in UV
region would be:

(@)3 (b)4
(c)2 (d)o
23 FAUCH AT d BRI o—
() =AY 3MHR &I
(b) T B H T BT
(C)setade T4 319 &1 MR BT
(d) FeTHl B IMHET fa=arg &t
Principal quantum no. determines:
(a)Size of the atom
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(b)Orbital angular momentum
(c) Shape of the electron cloud
(d) Configuration of orbitals in space

24 P, 3iifdca 9 gelag ™ & 91 S @) 19T 3 o—
(@) XY o # (b)Z-feem #
(c)XZ a= # (d)Y-feem #
Zero probability of finding the electron By,orbital would be in the:
(@) XY plane (b)Z-direction
(c) XZ place (d)Y-direction

25999 HH T arelr e ©:

(a)O* (b)Na'
(©F (d)Mg*?
lon having least radius is:
(a) O™ (b)Na"
(OF (d)Mg™
26.55MN &1 saide g fa=m a—

(a)1<, 2¢, 2p°, 3¢, 3p°, 4, 3d°
(b) 1<, 2¢2p°, 35° 3p°3d*, 3d°
(c) 1<, 2€2p°, 35°3p°3d’
(d) 1<, 252p°, 35°3p°3d™
»sMn has the electronic configuration:
(@)1, 2¢, 2p°, 3¢, 3p°, 4", 3d°
(b)1<, 25 2p°, 35° 3p°3dt, 3d®
(c) 1, 2€2p°, 35°3p°3d’
(d) 1<, 2€2p°, 35°3p°3d™

27 3 3w # H-uA19] & Sefaeid @l it -13.6 eVR | N = 53a! dd @ Seff 3R
(a)-0.54 eV (b)-5.40 eV
(c)-0.85 eV (d)-2.72 eV

In the ground state of 4dtom, the energy of the electron-s3.6 eV. What is the
energy ofn = 5th orbit?

(a)-0.54 eV (b)-5.40 eV
(c)-0.85 eV (d)-2.72 eV
28af% setag T @1 Rerfar # ifregadr s & a1 |Favr # rAfaqar grf
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(a)Zero (b) > 4_*;

©) <4_*;T (d) w

If the uncertainty in the position of the electrisrzero, what is the uncertainty in its
momentum?

(a)Zero (b) 24_*7‘1 ©) <4_*;T (d)

29 fo= o= e aa &1 forefod &var 2

15225%2p,2 2py? 2p7"

(a)Nitrogen (b)Oxygen
(c) Fluorine (d)Neon
Which element is represented by the following et@at configuration?

1522822p,2 2py 2 2p;"

(a)Nitrogen (b)Oxygen
(c) Fluorine (d)Neon
30afe favieh F@mves Hw@n & A9 38, A o JaveH ARl & FRIad 719 8-
(@0,1,2,3 (b)0,-1-2,-3
()0, +1, £2, £3 (d)#1, £2, £3

If the value of azimuthal quantum number is 3, gussible values of magnetic
guantum numbers would be:

(@0,1,2,3 (b)0,-1-2,-3
(c)0, £1, £2, £3 (d)£1, £2, £3
3178 qared Her SR TR GHIGR0T | Ui T8 fhar ST |dhdr §
@n O (@©m (s
............. quantum number cannot be evaluatad fBchrodinger wave equation:
@n I  (©m (s
32.1=1 44 SUBTY BT Yhe HRaT -
(@s (b)p (c)d  (d)f
I=1 represents the stghell:
(@s (B)p (cpd (d)f

33qe araven ¥ wgs IO WA @ B 0.53 ARy LitP @ (wxem) i =3) gxit oraver ¥
Frear grfl—

(a) 0.17A (b) 1.06A
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(c)0.53A (d)0.265 A

Radius of hydrogen atom in its ground state is G853Vhat is the radius of [
(atomic number =3) in the same state?

(a) 0.17A (b) 1.06A (c) 0.53A (d) 0.265A
34T &F H Wag W @l & fqured Hgal o
(a)wi® wva (b)SH= v

(c) warer faega ywra (d)@rs 1 81
Splitting of spectral line in the magnetic fieldcialled:
(a)Stark effect (b)Zeeman effect
(c) Photeelectric effect
(d)None of these
35.af% diSell &1 smasia &1 99 @ 9 81 af HE & golag i fo=ama &1 e grfi—
(@)1 (b)4
(c)3 (d)2

If the Pauli's exclusion principle is not validethumber of electronic configuration of
He would be:

(@)1 (b)4
(c)3 (d)2
36.a@ A 1 <1 Ul gRT dd@ CH 98l STl 23—
A_-B+,He® B_C+PB
(@)A a BuaniR® &t (b) A 3 Caawnfs gt
(c)A 3 CumwiRa 8 (d) A 9 B wawenf& st
An element A decays into element C by a two stepgss:
A-B+,He' B-C+PB
Then:
(a)A and B are isobar (b) A and C are isotopes
(c)Aand C areisobars (d) A and B are isotopes
37 @ A1 urad e BT SeollRad HRal a—

(a)¥ (b)¥? (c) WwY¥ (d) @ @ T8
Which parameter represents orbital:
(a)¥ (b)¥? (c) WwY¥ (d) None

SS.WWWH%wamaﬁ%WO.SZX10gcm%|éﬁ%1wwa=rﬁ%|ﬁ3rma%qw
Per P BT 8-

(2)0.26 x 10cm (b)0.52 x 10 cm
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(€)1.04 x 1¢cm (d)2.08 x 1¢Fcm

If the radius of first Bohr's orbit of hydrogen atds 0.52 x 18 cm what is the radius
of first orbit of monopositive helium ion?

(2)0.26 x 1fcm (b)0.52 x 1C¢° cm
(€)1.04 x 1Fcm (d)2.08 x 1Fcm
39.4.25 gmssrifar (NHz) # oAl @ F&ar o g8Rfi—

(@)l x 16° (b)1.5 x 16°
(c)2 x 1G° (d)6 x 1G°
What would be the number of atoms of 4.25 gms ahama?
()1 x 16° (b)1.5 x 16°
(c)2 x 16° (d)6 x 16°
AQ |fSTH =AY BT A gelde T @I (RN FaUeH TAT BT A o—
(@1 (b)2 (c) 3 (d O
The value of azimuthal quantum number of last ebecof sodium atom is:
(@)1 (b)2 (c) 3 (d O

41 Cr¥ soiae T ¥R & dal aidl 8—;

(a) RN t

) |+ |t |11 Tl

c |+ [t [t [t | |1

d it |1 o1

42 Correct electronic configuration of Cr is

(a) N 1

) |+ |t |11 Tl

© v |t oo | |

(d) |1 |t |t |11

A3 A weed | =g ™ R &1 | 1A § gRadd grdr &—
(a)zoiag ™ @ e § (b) <RIt gpfy #
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(C) o=y wHHiD H (d) =AM YR A

Addition of neutron to nucleus causes the followthgnge:
(a)In the number of electrons (b) Inthe chemical nature
(c) In the atomic number (d) Inthe atomic weight

44 531 &7 Sorde T fa=ara 2—
(a)1¢ (b)1<, 2¢, 2p'
(€)1, 24, 2P  (d)1<, 2¢, 2P
Electronic configuration of neon is:
(a)1s (b)1<, 2¢, 2p'
(€)1, 24, 2p  (d)1<, 2¢, 2P

A5 zETss TSS A 9 &1 99 golde I B—

(a)Li (b)He"
(c)He (d)Be
Hydride ion is isoelectronic with the species:
(a)Li (b)He'
(c)He (d)Be

A6T% seae T (gemE = 9.1 x 10°%) 3.0x10cm s & aw (e wemefa 0.011%2) & T
BT 2| s Refd # afReEaar & wromr aifse— (g3 A % BT START B ogi h &1 9+
6.626x10ergs?):

(2)3.84 cm (b)0.175 cm
(c)7.68 cm (d)5.76 cm
47 The uncertainty in the position of an electron (snas9.1 x 13°%), moving with a

velocity 3.0 x 16 cm s' accurate upto 0.011% will be (US}?; in uncertainty

expression where h = 6.626 xZ@rgsecond):
(a)3.84 cm (b)0.175 cm
(c)7.68 cm (d)5.76 cm
A8M™? &1 gorae T R 1625°2p°35°3p°3d° & derr @1 ueAr] ¥R 5681 M & e ¥
g T &I A -
(a)24 (b)26
(c)28 (d)30

The electronic configuration of Mis 1$252p°35°3p°3d® and its atomic weight is 56.
What are the number of neutrons present in itseusé

()24 (b)26
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(c)28 (d)30
A9 fpf) NfeAfaea &g H U el goT goidg 19 ATl o—
() u=mTy 1R | (b) 7= FaveH 1 arel ®& |

(C) o] & afdR dwer 1 (d) U=¥19] & 91K HeT |

In a radioactive decay, the electron comes from:
(a) The atomic nucleus
(b) The orbit having principal quantum number = 1.
(c) The extra orbit of the atom
(d) The ultimate orbit of the atom
50.xe fafaor @, et awresd 1000A2, smgR 1 sec™ @
(a)3.3 x 10" (b)3 x 10"
()1 x 10 (d)3 x 10°
If the wave length of certain radiation is 1000Aawis its frequency in sée
()3.3 x 10" (b)3 x 10"

(€)1 x 10 (d)3 x 10°

51 fareht qarven dwen | =2 @ forq 4w garven | &1 719 T8l el
(a)2 (b) 4
(c)3 (d) 5

Azimuthal quantum numbér=2 cannot have the value of principal quantum numbel
as:

(@)2 (b)4
(c)3 (d) 5

52 fr= # 9 & qaT o1 & goldg g fawr w8 8-
(a) (Kr) 5¢° (b)(Ar) 3d™°, 4¢

(c)(Xe) 6 (d)(Rn) 78

Which of the following does not represent the etmut configuration of alkaline
earth metal?

(a)(Kr) 5 (b)(Ar) 3d™°, 4¢
(c)(Xe) 65 (d)(Rn) 78
53.f5a dca &1 3 faug qad 649 2

(a)1s°2¢ (b)1s252p,°
(c) 128" (d)1s25°2p,°2p,°2p,”
(e)1s252p22p'2pt
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Which of the following configuration isot possible according to Hund's rule:

(a)152¢ (b)1s252p,2

(c)1s72s (d)125°2p.>2p,°2p,”
(e)1s252p22p'2pt
54 # 3 fhadr meR G699 99T @
(a@)Ar (b)Mg (c) Na d S
Largest size would be of:
(@)Ar (b)Mg
(c)Na (d)S
55.C", Cqear CY &1 ser S @
(a) T R® (b) wsRer~re

(c)amgegetfag & (d)angEre
c' c®and C*are in fact:
(a)lsobars (b)Isotopes
(c) Isoelectric (d)Isotones
56.f= # 9 foad =g = SuRera =& &
(a)Hydrogen (b)Helium
(c) Deuteron (d)Lithium
Neutrons are not present in:
(a)Hydrogen (b)Helium
(c) Deuteron (d)Lithium
57 fr= v gorge T S KY, Ca, Cl e S* & aeR @1 wedr g3 %9 ¢
(@)K'>Cd>>S*>CI” (b) K*>Ca*>Cl >S?
(c)Ca®>K*>CI'>S? (d) S>> CI >K*>Ca”
The decreasing size of KC&”, CI and & follows the order:
(@)K'>Cd*>S*CI” (b) K*'>Ca*Cl >S?
(c)Ca*>K"™>CI'>S? (d) S* CI >K*>C&*
58afe He & forv verm ®er & Swif -54.4 eVl df fgdia e & forg swal Sort =2
(a)-54.4 eV (b)-13.6 eV
(c)-27.2 eV (d)+27.2 eV

If the energy of first orbit of Heis -54.4 eV, what would be the energy of its second
orbit

(a)-54.4 eV (b)-13.6 eV
(c)-27.2 eV (d)+27.2 eV
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594R & JJUR geldg 9 I 9 WR d ugad uR—
(@)setae T @ ol 9¢ Il 7
(b)setde T @ Kol g€ IRl &
()it # @i gRad &1 grar
(d)aR frgT 39@T ARAT &1 Bl

According to Bohr as the electron moves to lowergn state
(a)lts energy increases
(b)Its energy decreases
(c)No change in its energy
(d)Unable to explain the fact
60.0,U%% 9 wer: @1 0 iR R B—aoli & Fidem R ST A1¥e o BT 8—
(8)**%0Th (b)**%Pu
(c)*%sRa (d)**%U

o2U?® releases twar and fourp-particles respectively. The nucleus obtained would
be:

(a) 23090Th (b) 23090P u (C) 23088Ra (d) 23092U
6lzcrag ™I fa=ma—
1 1 1 N1 Ieetg dRl @
1 1 )

(@)gvs &1 g (b)swal & ™ @t
C)user & g & (d) (n+1) =\ @
Electronic configuration

1 1 11 |1 1| violated:
1 1

(@) Hund's rule  (b)Aufbau principle
(c)Pauli's principle (d) (n+1)rule
62 = IR o e efisr @ 8rf

(@H (b)He'
(c)Li*? (d)Be*
Minimum Bohr radius is shown by
(a)H (b)He"
(c)Li*? (d)Be™
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63.1<, 25, 2p°, 3¢° sorae T fa=am fora wfiefit @1 enm?
(@)Ne (e ara=em) (b)Al™? (et orawen)
(c)Mg" (S< 11T araen) (d) Na (s arawen)
Which species shows the electronic configuraticn 28, 2p°, 35*?
(a)Ne (Ground state) (b) Al"?(Ground state)
(c)Mg" (Excited state)  (d) Na (Excited state)

64 z1ss o AN & 1s3iifdee # SuRerd soiag 19 1 o= St 13.6 eVe | afe seae 77 2py
fffdeet # STIRTG Brar & @ sHd! Soll 8Rf—

(@)0 eV (b)-13.6 eV
(c)-3.4eV (d)-27.2 eV

The ionization energy for an electron of hydrogémapresent in 4 orbital is 13.6
eV. If the electron is excited t@gorbital its energy would be:

(a)0 eV (b)-13.6 eV

(c)-3.4eV (d)-27.2 eV
652" o 9 = Rigra ™ miRa g—

(a)faa fagves (b)aera dera

(c)mfm fean wfdeadr (d)  urpfde fSAfaedd

Hydrogen bomb is based on the principle of:
(a)Nuclear fission(b)Nuclear fusion
(c) Artificial radioactivity
(d)Natural radioactivity
66.Li e fadrme ®rer qor Be™ @ qdi wrer @1 Breansit &1 surd &

(@3:1 (b)16 : 27

(©4:9 (d)3:4

What is the radius ratio for 2nd orbit of'Lion and 3rd orbit of B& ion?
@3:1 (b)16 : 27

(©4:9 (d)3:4

671 oraRel ¥ E1gs To TRAT] @ roar @1 7 5.3% 107 m | gerae T A caaR @ uven
Broar 21.2 x 10" m &1 St & | uRHTY] @) ifm oraver @ g dgdied wvn gn

(@n=2 (b)n=3
(c)n=4 (dn=16

The radius of hydrogen atom in its ground stafe3x 10™ m. After collision with an
electron it is found to have a radius 21.2 x"1®. What is the principal quantum
number, n of the final state of the atom

(@n=2 (b)n=3

(166



(c)n=4 (dn=16
68.2S FeTh H golde T4 BT HeIT BIVIT HdT ERIT—

ih h h

(@)+>-— (b) Zero (c)  ——(d) V2.5

The orbital angular momentum of an electron in 2stal is:
ih h h

(a) + o (b) Zero (c) o (d) V2o

69.M* P gamm e 408 | g9 T § 11=g 1 2| SH@T WA HHG e ]

(2)29 (b)27 (c) 11 (d) 41
Mass number of Kf is 40. It has 11 neutrons in the nucleus. Its atamamber is
(2)29 (b)27 (c) 11 (d) 41

703 & ¥ DT IQIERI 2
(@)*N and>N (b)*4N and"sO
(c)%C and™*N  (d)*;N and™%0
Example of a pair of isotone is
(@)N and>N (b)*;N and';O
(c)%C and™*N  (d)*;N and"%0

71.85 3R 87 WRAY] 4R dlel wal¥H & &I ARG dI 3Mufers qigeadr et 75% 9 25%7% |
HANSTH BT A IRHATY AR 5—

(a)75.5 (0)85.5
(C)86.5 (d)87.5

The relative abundance of two rubidium isotopesatimic weights 85 and 87 are
75% and 25% respectively. The average atomic weghibidium is :

(@)75.5 (b)85.5
(c)86.5 (d)87.5
72 1 goide T fa=umg aretT =T dcd |1 AATSTdhdT II?
(a)1525°2p°3¢ (b) 1s252p°
(c) 1525°2p°3s°3p" (d) 15252p°353p°
Which element having following electronic distritmrt will show two valencies?
(a) 15°252p°3¢ (b) 1s252p°
(c) 1€25°2p°35°3p" (d) 1252p°3¢3p°

7359RE & 79 BT QTR B—
(@' Hand%H (b)% Hand*H
(c)®,Hand®>H (d)? He and;He
Example of a pair of isobar is:
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(@' Hand%H (b)% Hand*H
(c)®,Hand®>H (d) He and;He
74 M% &1 gerae T fa=ar enT— [u=ATe] saie = 19]
(a) 1<, 252p°, 3€3p°3d’, 4
(b)1,252p°, 3$3p°3, 4s
(c) 1¢°,25°2p°, 3s3p°3d, 49
(d)1,252p°, 3€3p°3d'°, 4¢'
Electronic configuration of ¥ whose atomic number is 29, is
(a)1<, 252p°, 353p°3d’, 4
(b)1s°,252p°, 3€3p°3, 4s
(c) 1s°,25°2p°, 3€3p°3’, 4¢
(d)1s°,252p°, 3€3p°3d™°, 45
755% d@ &1 RAT] BB 118 | 3HGT Aaargs e
(a)sr=ira (b)&aRra
(C) arelig @ e g (d) eI
The atomic number of an element is 11. Its oxidélve::

(a)Acidic (b) Basic
(c) Acidic and Basic both (d) Neutral
76 1w @1 fa=mr (Ar) 3d°4s T gy, (Ar) 3d'4S gar €| uE e R @ s o 8—
(a)urSel! &1 JYasiA &1 =M
(b)amwel g
(C) JeyRa werdpl BT TR

(d)zrsoeTt &1 g

The rule that explains the reason for chromium @weh(Ar) 3d4s" configuration
instead of (Ar) 3t4< is:

(a)Paulis exclusion principle
(b)Aufbau principle
(c)Hund's rule
(d)Heisenberg pinciple
77 3% fieim @1 10 ¥ier 9fd Aavs & OFT 9 7T &A1 8| 39 BT BT SI—FNTell avireed aRT—
()6.63 x 10°m (b)6.63 x 10°' m
(€)6.63 x 10**m (d)6.63 x 10°*m

The deBroglie wavelength associated with a particle ossnd mg moving with a
velocity of 10 mgd is:
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(a)6.63 x 10°m (b)6.63 x 10°' m

(€)6.63 x 10**m (d)6.63 x 107*m
783enfoRaa § s AT N =57 m =3 forg 9 = 8

@l=4 (b)I=3

(©)1=0,1,2,3 (d)s==%

Which one of the following is not true far=5 andm = 3:

@l=4 (b)I=3 (¢ 1=0,1,2,3 (d s==%
79.uqg Farved W& [N] = 3% foy |wifad fawel @amves |wr [I] & A9 8-

(@0,1,2,3 (b)O, 1, 2

(©-2,-1,0,,1,2 (d)1, 2,3

When the principal quantum number (n) = 3, the swvalue of azimuthal quantum
number () is:

@0,1,2,3 (b0, 1,2
(©)-2,-1,0, 1,2 (d)1,2,3

80z & &
(a)d o SegAM W1 F9H 81 Wi g 11 & G = &l

(b) u=ATY] SE A B fdd =g T @ W@ e 8@

(C) U=ATY] HHIG TR W& q1 R[g T @ W& §9H 8 |

(d) =1 URATY] AT TAT GIHE AT AT R T DI G FAM 8
Isotones are:

(a)Elements having same mass number but differentaoresit

(b) Same atomic number but different neutrons

(c) Same atomic number, mass number and same neutrons

(d) Different atomic and mass numbers but same nunfbegudrons.

81 . " ufshar f7aH T1fe H ST RIT R WIS SISl SITY T ArI—d1 S+ 8l AT H SUole] Jfaere
H ITBT il & 9¢d gU HH | geldg 19 WX AY" HEA o—

(a)urSel &1 Juasid &I M
(b)grs &1 arfdrdman sgerdar &1 fam
(c) et Rigra

(d)zrgoet &1 ifaf¥aar &1 R

The process of successive addition of protons éonticleus followed by addition of
the same number of electrons to the available agbih the sequence of increasing
energy to obtain the electronic configuration ofypalectron atom is known as

(a)Pauli's exclusion principle
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(b)Hund's rule of maximum multiplicity

(c) Aufbau principle

(d)Heisenberg's uncertainty principle
82 3itwdl [wfie ] fram fhe g & fog orp =2 g

(a)Cr and CI (b)Cu and Ag

(c)Crand Mg  (d)Cu and Na

Deviation of Aufbau principle is observed in

(@)Cr and CI (b)Cuand Ag (c)Crand Mg (d) Cuand Na
831 soiag T &1 g Jawed W& 37| 39 (1) SUBRN U4 (i) Hedi & F1 Haen: sRfl—

(@)3and 5 (b)3 and 7

(c)3and 9 (d)2and 5

An electron has principal quantum number 3. The lmemof its (i) subshells and (ii)
orbitals would be respectively:

(@)3and 5 (b)3 and 7
(c)3and 9 (d)2and 5

84 aiffeaadt Rigr Ud &0 & A% W &I SRR HAE ... AT ... URIfad @l
(a)zrsoa, S—siftett (b)  Si—dfvell, ggoHa

(c) zrsoe, wiis (d) wiid, ggoras

The uncertainty principle and the concept of wasture of matter was proposed by
...... and ..... respectively

(b)Heisenberg, déroglie
(c)de-Broglie, Heisenverg
(d)Heisenberg, Planck
(e)Planck, Heisenberg
85 TRAT] YTl o ARl & fory qarved Rigrd &1 SUART 9a¥ ygd fhae faar?
(@) ersoet = (b)ar =
()=t = (d)amg=aerE o
First of all who made the use of quantum theorgxgdlain the atomic structure:
(a)Heisenberg (b)Bohr
(c)Planck (d)Einstein
863cids ™ & & folu A 5—
(a)s®TE oA AT YR TIAH
(b)s®TE g QAT Y GIHHA
(C)s@Te o dom 9 x 10 um gerwm
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(d)sere zromawr dom 1.7 x 107 ym gemm

Electron is particle having:

(a)Negative charge of one unit and zero mass

(b)Positive charge of one unit and zero mass

(c)Negative charge of one unit and a mass of about@%gm
(d)Negative charge of one unit and a mass of about 10* gm

87 /1 Pl W IR HIfST—
a. TRl fage g fafexer 8, Rraer axvrded 0.19 0.001 A &1 gar @

b. afe 1 ol wRI & 31fde Fofl AR & T AT GHAT I IANIT Blerd bl aviraed 4
BT &

c. 3022 diffdca & wed d, Xy-aa & A geide 9 O Y BT @
(@)(2) e (3)wer 2 (d) (1)den ()@ ©

() (L)7ar (2) & g(d) (1)Ten (4) @& 8

Consider the following statement:

a. Gamma rays are electromagnetic radiations of wawgth ranging from 0.1 to
0.001 A

b. The greater the difference in the energy betweenléwels, the lower is the wave
length of the light emitted when an electron mdvem one level to the other.

c. The electron density in the xy plane in 3d)2orbital is zero; Of these statements:
(a) (2) and (3) are correct

(b)(1) and (3) are correct

(c)(1) and (2) are correct

(d)(a), (2) and (3) are correct

88zerae T 10°P m/sa a1 1 T @Rl & | s a¥iesd Bn— (R g3 z— h = 6.63 x 16“J
e m = 9.11 x 16" kg)

(@)0.727 nm (b)7.27 nm
OEEKIEH (d)72.7 nm

Electron is moving with a velocity of 1@n/s. Its wave length would be: (Giveln =
6.63 x 10**J and m = 9.11 x 1B kg)

(@)0.727 nm (b)7.27 nm
(c)None (d)72.7 nm

89 reiferf oW [wRAM] HHlG 64] & geiag g HwaHT 8-
(a)(Xe) 4f 50’45 (b) (Xe) 4f 5d' 6’

(17D



(c) (Xe) 4f 5P 65 (d)(Xe) 4f 54 65
The electronic structure of Gadolinium (atomic n@mé4) is:
(a)(Xe) 4f 54 4¢ (b)(Xe) 4f 5d' 65’
(c) (Xe) 4f 5 65 (d)(Xe) 4f 5 65
90 ARSI TSl & MBR BT LT HH B
@Il >1>1" ) >1">1T1
©I'>1>r @r>i1>1r

The correct order of size of iodine species is :

@l>1>1" ) >1">1T
©)1">1>r @r>1>1r
91y ®Ie N Sfifdea @ A 39 g3 A FeilRa grfi-
(@)2n (b)n?
(c) 2rf (dn+1
The formula to evaluate the number of orbitalsaqrincipal shell 'n*is
(a)2n (b)n?
(c)2r? (d)n+1

92.0%, F, Na' @ Mg®* " smafe feard swaer 1.35, 1.34, 0.952m 0.66 A2 | Ne @ =
3rsar &1 |99 8-

(@)1.39 A (b)1.12°A
(c)0.85 A (d)0.50 A

The ionic radii of &, F, Na and Md* are 1.35, 1.34, 0.95 and 0.66 A respectively.
The radius of the neon atom is

(@)1.39 A (b)1.12°A
(c)0.85 A (d)0.50 A

93 zeras T o= 15°25°2p°3s 2
(@) T TR ULHIT] T A ITaRRAT BT B
(b)waN= &1 T 1T A=l &7 2 |
(C) i g=eTo] 1 3T 1RSI S1a=er &7 &
(d)O,” & S IRTa sraRer &1 &
1s25°2p°3s' is the electronic configuration of:
(a)Fluorine atom in its ground state
(b)Fluorine atom in its excited state
(c)Neon atom in its excited state
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(d)O,” in its excited state

943 &1 3rg—=yg aTell U fSAEHT TR wol oie & 12 9 arg faern | fAes w— urr 1

T o & dad 3 I FHReG o7 | Uh Add 999 39 IaR1f=e T URMRIS 9R o1—
(@)12 gm (b)24 gm
(c)36 gm (d)48 gm

A radioactive isotope having a half life of 3 dayas received after 12 days. It was
found that there were only 3 gm of the isotopehm ¢tontainer. The initial weight of
isotope when packed was

(@)12 gm (b)24 gm (c) 36gm (d) 48gm
954f¢ gelag T N =39/ Nn=2# FH&d1 2 dl IId SHoll aRfi—

(2)10.2 eV (b)12.09 eV

(c)1.9 eV (d)0.65 eV

If the electron jJumps from = 3 to n = 2, the emitted energy would begtdm):

(2)10.2 eV (b)12.09 eV

(©)1.9 eV (d)0.65 eV

9615 'd' soidg T4 & foru sy wrofig Hdir gidr &—

(@)veh (b)~2h (c) h  (d)2h
The orbital angular moment for theetkctron is:

(@)v6h (b)~2h (c) h  (d)2h

97 2!Sc @t sorae i e -

(a)1<, 2¢ 2p°, 3¢ 3p°, 4<, 3d'
(b)1<, 2¢ 2p°, 3¢ 3p°, 49, 3
(c) 1<, 2¢ 2p°, 3¢ 3p°, 49, 3
(d)1¢, 2€ 2p°, 3 3p°, 4<, 3d
The electronic configuration 6fSc:
(a)1<, 2¢ 2p°, 3¢ 3p°, 4<, 3d
(b)1<, 2¢ 2p°, 3€ 3P, 4s, 3
(c) 1<, 2¢ 2p°, 3¢ 3p, 49, 3
(d)1<, 2¢ 2p°, 3¢ 3p°, 4<, 3

98. [k [ gerag i famme 3

(@)19 (b)20
(c)18 (d)40
[;‘QK]_l contains the number of electrons:
(@)19 (b)20
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99.

(c)18 (d)40

Ife Sotag T @1 FaveH W& & 9= n = 3, =2, m=0gdr s= + Y5 aI I8
=1 # SuRerd grm—

(a)3 d orbital (b)3 f orbital
(c)3 p orbital (d)3 s orbital

If the four quantum number of a electron are 3,1 = 2, m =0 and s= + % then it
would be present in

(a)3 d orbital (b)3 f orbital
(c)3 p orbital  (d)3 s orbital

100.242 nM TR @ fagfq graard fafdror |ifeas qRA9] &1 afid &R+ & oy waia & |

AT a1 T Sott kJ mol* grfy
(a)449.5 (b)494.5
(c)944.5 (d)955.4

The electromagnetic radiation of wave length 242 ame sufficient to cause the
lonization of sodium atom. The corresponding iof@a energy of sodium in Kj
mol™* would be:

(2)449.5 (b)494.5
(C)944.5 (d)955.4

1013758 N9 WA & Y IR 3difde & seidg ™ @1 ol -13.6 eVe | ST IiTd rawermil &

goIde Tl B ol & R AT BI—
(a)-3.4 eV (b)- 4.2eV
(c)-6.8 eV (d)+6.8 eV’

The energy of the electron in the first Bohr's bufi hydrogen is13.6 eV. The
possible value of the energy of the electron inethated state is:

(a)-3.4 eV (b)- 4.2eV
(c)-6.8 eV (d)+6.8 eV

102.518s o & P19 @1 Broar 0.53 AR ar yem S IR sraver ¥ @ @ froar gl

(@)2.12 A (b)1.06 A
(c)8.5 A (d)4.24 A

The radius of first Bohr's orbit of hydrogen is ® A. What would be the radius of
the first excited state :

(@)2.12 A (b)1.06 A
(c)8.5 A (d)4.24 A

103.t% € qor He &or @t Rify # srfafedar wvM & € & forw e & aififRaaar 32 x 162 ar

Hes foru dam o sifafedar @ grf
(2)32 x 10 (b)16 x 10
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(c)8 x 10 (d)@rE i &

The uncertainty in position for the electron and pigrticle is the same. The
uncertainty in momentum for the electron is 32 X Y8hat would be the uncertainty
In momentum for the He particle

(a)32 x 16 (b)16 x 16
(c)8 x 10 (d)None
104X — . NY+ 2B ar X & =gg = & wwr enfi—
(@)3 (b)5
(c)7 (d)9
106.X — - N*+ 2
Enumerate the number of neutrons for the element X:

()3 (b)5
(©)7 (d)9
105.. X" g o q1 31 B BT ST BRA WR G-
(@) X™* (B)paX™!
(€)nX™ (d)@rg &

If element,X™ emits onex and twop particles the new element would be:
(@) X™ (b)naX™
(€) X™* (d)None

106.y9a ufderdt grwfRe fhar, ST Teb A—60T & ol A1f¥e & = IR gfed aidl 8, dI IRAT
forer ¥ &1 o 2—

(a)sreed Rigra  (b)edfoe Hisd
(c) ity g\ (d) sl e
The strongly repulsive interaction that take platen an alphad() particle closely
approaches a gold nucleus is best explained by:
(a)Dalton's theory (b) Thomson's mode
(c)Gauss's law (d)Coulomb's law
107 .9 &7 SaRiA WRAT] = H fhad |9 selde 1 &

(a)Ne (b)Mg**

(c)Na' (d)B*

Neutral atom of fluorine is isoelectronic with:
(a)Ne (b)Mg**

(c)Na" (d)B*

108.99H TS MMHR BT YA &
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(a)Bromine (b)Chlorine
(c)lodine (d)Helium
The atom with the largest size is:
(a)Bromine (b)Chlorine
(c)lodine (d)Helium
109.40Th?® et wR ggBj?H2<dm 2| 9 U § Scafid o @ B o1 efl—
(@4a and 73 (b)4a and 1B
(c)Only 4a (d)Only 713

Enumerate the number of anda particles emitted in the disintegeration process
90Th228 to ggBj 212 .

(@4a and 7B (b) 4a and 13
(c)Only 4a (d Only7p3

110.5e@e 1 & G & afif¥eaar 1.0 x 100kg. mZ™. 2| Rafy & sffeadr erfi- [h = 6.62
x 10%* kg.m?sh)]

()1.05 x 10°® m(b)1.05 x 10°° m
(€)5.27 x 10°m (d)5.25 x 107 m

Uncertainty in momentum for the electron is 1.00¢ kg. mZ*. The uncertainty in
its position would be:

()1.05 x 10°® m(b)1.05 x 16°° m
(€)5.27 x 10°m (d)5.25 x 10°° m
111.C-12 9RHTY] ST G BTT—
(2)1.99 x 10°°gm (b) 12 gm
(c)6 gm (d) 6.02 x16°gm
The mass of €12 atom would be:
(2)1.99 x 10°gm (b) 12 gm

()6 gm (d)6.02 x 16°gm
112 715g o9 @ fgdn oiffde & sotag 17 &1 1fost ot a1 grfl, afe swat o Soff -3.4 eVe—
(@)3.4 eV (b)10.2 eV

(c)13.6 eV (d)None

What would be the kinetic energy of the electrortha second orbit of hydrogen
atom, if its total energy 3.4 eV:

(@)3.4 eV (b)10.2 eV
(c)13.6 eV (d)None
113.f&4dr uAy H, s forw | = 2@ n = 3 81, |dif¥de soidg 9 fbar 8-
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(@)2 (b)6

(c)12 (d)10
Evaluate the total number of electrons for the aftmnwhichl = 2 andn = 3:
(@)2 (b)6
(c)12 (d)10
114.CU* (Z = 29) &1 Fra™ sfaver are gorae 9 =y @9 1 8—
(a)(Ar) 4s' 3 (b)  (Ar) 45 3d"4p"
(c) (Ar) 4s' 3d'° (d) (Ar) 3d°

The Electronic configuration of GU(Z = 29) in its ground state is:
(@)(Ar) 4s' 3¢ (b)(Ar) 45 3d°4p
() (Ar) 4s" 3d° (d)(Ar) 3d°

115.fear T gerae 1 &1 e 9.11 x 107 kg € wrie Reris 6.626 x 10 Jsg, 0.1 A=
R & faid 97 & AT 7 AT srffeaar -

(@)5.79 x 16 ms* (b) 5.79 x 16 ms*
(€)5.79 x 16 ms* (d) 5.79 x 10 ms*
Given: The mass of electron is 9.11 *x*1Kygy
Plank constant is 6.626 x 10Js,
the uncertainty involved in the measurement of eigfovithin a distance of 0.1 A is
(@)5.79 x 10 ms* (b) 5.79 x 16 ms*
(€)5.79 x 16 ms* (d) 5.79 x 16 ms*
116.F=faRad & s A1 Fdhad SUTE BT Told fa@rdr 8
(2)%*%eCM (a, 2n)**%; Bk
(b)*%B (a, n) %N
(©) N (n,p)*%C
2814Si (d, n)2915P
Which one of the following notations shows the pretdncorrectly?
(8)**%66CM (a1, 2n)**%7 Bk
(b)*%B (a, n)**N
(d)™N (n,p)*C
(€)%°1Si (d, nf°iP
117551 & w9 § 1 a.m.ufedas a=eR 8T a—
(2)100 J (b)931.1 MeV
(c)931.1 kcal (d)10"erg
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In terms of energy 1 a.m.u. is equal to
(a)100J (b)931.1 MeV
(c)931.1 kcal (d)10erg

118.41cH @ goidg T & SIH &I JAJUTd BRT—
(a)Infinite sF=1 (b)1.8 x 10°

(c)1.8 (d)None &g + =&

The ratio of mass of proton and electron would be
(a) Infinite (b)1.8 x 10°

(c)1.8 (d)None

11971t Sefdg 9 &7 aRTaed
(a)seag T @ 7 97 R gdT §
(b)serae 9 @ Ifd W 13T &
(C)sciag 19 @1 7T g+ R el ©
(d)o & &
The wavelength of a moving electron
(a)Increases with the increase of the velocity ofdleetron.
(b)Does not depend upon the velocity of the electron.
(c) Decreases with the increase of velocity of thetedac
(d)Is equal to zero

120.v% seiag T @1 gradd Fdicq AT -3, 8 $HS] &I JdIcH AT 81—

(@)l (b)2

()3 (d)4

The magnetic quantum number of a electror3isits principal quantum number
would be:

(@)l (b)2

(c)3 (d)4

121 Fge onie (Packing fractionfr=r &1 w&ferd 2—
(@) fsamfaefadt  (b)uxHmy |
(C)gagam afa (d)weH™ w=n
Packing fraction is related to:
(a) Radioactivity (b) Atomic number
(c)Mass defect (d)Mass number

122.f4 § Tod dUF 8-
(@) B—fw=on & 3maer TEl B ©
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(b) o= fHRoTt & maer T G g BT &

(c) urelfam ua feafiea aw &

(d)a, B vd y—fdxoi, T BISHfthd ©fc I F4IAd Rl 8
Wrong statement in the following is

(a)B-rays do not possess charge

(b)a-rays posses both charge and mass

(c) Polonium is radioactive element

(d)a, B andy rays affect a photographic plate

123.fF=foRad gt # & frg g o o §F Solag W T8 B
(@)uNa’, 10Ne"  (0)16S”, 1:CI"
(c) uNa’, 12Mg®" (d)eS™, 11Na’
Which of the following pair of ions is not isglectronic
(@) 1Na’, 10Ne™  (0)16S™, 1/CI
(c) uNa’", 1,Mg®" (d)sS™, 1iNa’

124y -ferei -
(a)s=a SoIlgad soiag ™

(b)S=a Sy ureH

(C) Sea STy e Fracbra R

(d) =1 Soigad setag 19

y-rays are:
(a)High energy electrons
(b)High energy protons
(c)High energy electromagnetic waves
(d)Low energy electrons
125.3d- sotag T @I 6fid &=+ & forg n, |, ma&r &9 A1 e arp 781 gar—

(@)3,2,0 (b)3, 1,-1
()3, 2,-2 ()3, 2, +1
Which triad of quantum numbenrs,(l, m) is not applicable to 3electron:
(@)3,2,0 (b)3, 1,-1
()3, 2,-2 ()3, 2, +1
126.Fea! iR aawen § gfqd Soiag T4 @ dTel deradl @l | grefl—
(a)4 (b)11 (c) 15 (d) 19
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How many orbitals of paired electrons are ther@gaseous state of Fe:
(a)4 (b)11 (c) 15 (d) 19
127 fft oma X* &) gemm e 148 | 9t omE 8 <9 soae 1 8 d ad & A, Xo
& ANS H =g ™I B HR=AT BRI—
()10 (b)14
(€7 (d)5

The mass number of an anion> Xs 14. If there are ten electrons in the anibe, t
number of neutrons in the nucleus of atompkKthe element will be:

(2)10 (b)14
(©)7 (d)5

128.f&41 T &1 uRA] ®1 seEe 12.00719 amug | Ife G & U9 & A1WS 6 =g T 81 ol
TG B g7 SHoll Uiy Ffhorai= gl

(a)7.64 MeV  (b)76.4 MeV
(c)764 MeV  (d)0.764 MeV
(e=0.00055amu,p=1.00814amu,n=1.00893 amu)

The atomic mass of an element is 12.00719 amuhdfet are 6 neutrons in the
nucleus of the atom of the element, the binding gneer nucleon of the nucleus
will be:

(@)7.64 MeV  (b)76.4 MeV
(c)764 MeV  (d)0.764 MeV
(e=0.00055 amu, p=1.00814 amu, n = 1.00893 amu)

129.gcide T @) ugard nden | eaves Gar 3§ &) 9l g | AEfoRad seiae T &7 dedl Sl
%A H forRau—
()n=4,1=1()n=4,1=0(i)n=3,1=2(v)n=3,1=1
(@) (iv) < (i) < (iii) < (i)
(b) (i) < (iv) < (i) < (iii)
(c) (i) < (iii) < (ii) < (iv)
(d) (iii) < (i) < (iv) < (ii)
The electrons, identified by quantum numbers nlaf@in =4, =1 (i)n=4,1=

O (i) n=3,I=2(iv)n=3,1 =1 can be placed in order of increasing energy, from
the lowest to highest as:

(@) (iv) < (ii) < (iii) < (i)
(b) (i) < (iv) < (i) < (iii)
(c) (i) < (iii) < (ii) < (iv)
(d) (iii) < (i) < (iv) < (ii)
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130.2°U &1 Uah o] it T @& RIg T &1 i aRd op XediR 2 Sr AR # faafdsa &1
ST © | 39 A # faan =g T M-
()0 (b)2
(€)1 (d)4

The number of neutrons accompanying the formatfoii’a Xe and®ss Sr from the
absorption of slow neutrons BYs,U, followed by nuclear fission is:

(@)0 (b)2
(c)1 (d)4
131.feam q=A] & forg m = Odrel seldg 9 &1 |ear sri—
(@)2 (b)7
()9 (d)8
Number of electrons with m = 0 present in sodiuonet are:
()2 (b)7
(©)9 (d)8

132.74 # ¥ et S—arell a¥ireed fFeaq grfl—
(a)gctas (b)srets
(c)CO; o (d)SQ, 31
Minimum deBroglie wave length is associated with:
(a)Electron (b)Proton
(c) CO, moleculgd) SO, molecule
133 /N" R a— ®oii & doR & W Safid eidr & a1 741 99 delT UREI] ENr—

(@)sO" (0)sO™

(c)C™ (d)Ne

The bombardment af—particle on,N'* emits proton then new atom will be:
(@)sO" (0)sO™

(c)C™ (d)Ne

134.Li"% & SR B9 @1 ST Sl gnil
(@)122.4eV  (b)40.8 eV
(€)30.6eV  (d)13.6 eV
lonization energy of second orbit of Eiwill be:
(a)122.4eV  (b)40.8 eV
(c)30.6 eV (d)13.6 eV
135.7% d@ & WA HHid 177 | |l B | Seidg T JHH @ dlel IMfdedl &1 F&ar grfl—
(a)6 (b)2
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(€)8 (d)3

The atomic number of an element is 17. The numberhkatal containing electron
pairs in the valence shell is:

(a)6 (b)2

(c)8 (d)3
136.53m fsafiar & @ a1 ofi—

(a)zr 9

(b) &R derm weRe Jfere

(C)SISieHaT

(d)zezre

Artificial radioactivity was discovered by:
(a)Henry Becquerel

(b)Irene Curie and Fredrick Joliot
(c)J.J. Thomson

(d)Rutherford
137.f50 UIei[ T o-%o1 & AR ATIer &1 U ©
@2:1 (b)1:2
(c)1:4 d1i:1
The ratio of specific charge of a proton andxaparticle is:
@2:1 (b)1:2
(c)1:4 d1i:1

138. U @1 ardamrg 4.5 x 10 af & fbaer asf a1g o ,U*P &) @1 W o1 ol famfeq &
SRR

(@)9.0 x 18 years (b) 13.5x 18 years
(c)4.5 x 10years (d) 4.5 x 10 years

The half life ofg,U**%is 4.5 x 18 years. After how many years, the amoung,bf*®
will be reduced to half of its present amount:

(@)9.0 x 18 years (b) 13.5x 18years

(c)4.5 x 10years (d) 4.5 x 10 °years
139.UCH & I=d H ST $UT Aal B—

()i saiERes i e

(b)vIet Td 3rewhT B ®

(c)wietq, mafad gsg o I ®
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(d)ureH, Jmafa gss o &
Which is correct statement about proton?
(a)Proton is nucleus of deuterium
(b)Proton is alpha particle
(c) Proton is ionized hydrogen molecule
(d)Proton is ionized hydrogen

140.v% BT @ aRreed 2.2 x 1074 8, h= 6.6 x 10" 5@ davs &, 1 B @ T 8-
(@)3 x 10*° kg ms*
(b)3.33 x 16° kg ms*
(c)1.452 x 10" kg ms*
(d)6.89 x 18° kg ms*

If wave length of proton is 2.2 x & m, h= 6.6 x 13 Js, then momentum of
photon is

(a)3 x 102 kg ms*
(b)3.33 x 16° kg ms*
(c)1.452 x 10™ kg ms*
(d)6.89 x 18° kg ms*
141 .fr affpar 3 X grm—,Na®® + H - ,Mg® + X
(@)A neutron  (b)A deuteron
(c)A positron  (d)An a—particle
The symbol X in the following equatiopNa ** + ;H* = 1,Mg* + X is:
(a)A neutron  (b)A deuteron
(c)A positron  (d)An a—particle
142 .f7=1 i srwfhanat # wd #— X200 Y Of - 2P~ LOTT - M

N &1 AN BNTT—
()3 (b)4 ) 5 d 6
In the sequence of following nuclear reactions:

HXBOO YO - ZMP - LOTY 5 eaM 8
the value of n will be:
()3 (b)4 ) 5 d 6

143 R @RS & T A9 F e qen REm B wawy 1 2.8 x 109 amue § &) afy
MSTH & 3 APDHIT I A1 162099 81 A1 PRIIH & 3 AP Bl DI A1 SHT—

a)45.3 x 18 years (b)  45.3 x 18° year
(@) y y
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(c)4.53 x 18 years (d) 4.53 x 10° years

The radium and uranium atoms in a sample of uramuneral are in the ratio of 1 :
2.8 x 106. IF half life period of radium is 1620 years. thaf-life period of uranium
will be:

(@)45.3 x 18 years (b)  45.3 x 18° year
(c)4.53 x 18 years (d) 4.53 x 10° years
144 .7 garf &1 3G MY 77 a7 © 9a18y SHBI &didh BRT—

(a)0.9 (b)0.09

(c)0.009 (d)0.013

Half life of a substance is 77 days then its dexmystant will be:
(a)0.9 (b)0.09

(c)0.009 (d)0.013

145.F, F, Oden O* &1 a1 &1 %9 8-
(0" >F>0>F
(b)O* >F >F>0
CF >0 >F>0
(d)O” >0>F>F
The radii of F, F O and @ are in the order:
(0" >F>0>F
(b)O” >F >F>0
CF >0 >F>0
(d)O” >0>F>F
146 55s o Wde 9 H, R A0 BT YH XET P IR G&AT af—

5R 3R
a) — b) =
( )360m (b) 2 cm
7R, 9R
C) — d)—
() 144Cm ( )4000m
The first emission line in the atomic spectrum gtltogen in the Balmer series
appears at:
5R ., 3R,
a) — b) =
( )360m (b) 2 cm
7R, 9R
C) — d)—
() 144Cm ( )4000m
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147 He"  garae T 9 verm a1 & oot -871.6 x 10° J 2| e1gs o9 & UUH $Ie § gorag T
BT ol BRI—

(@)-871.6 x 10°°J (b) -435.8 x 107°J
(€)-217.9 x 10°J (d) -108.9 x 10%°J

The energy of the electron in the first orbit of Hg-871.6 x 1G° J. The energy of
the electron in the first orbit of hydrogen woulet b

(a)-871.6 x 10°°J (b) -435.8 x 10?°J
(€)-217.9 x 107°J (d) -108.9 x 10%°J
148 3o T w amaer &1 urerr 2-4.8 x 10°% e.s.u. LT w smer &1 uRamr grrar—
(@)1.4 x 10%°e.s.u. (b) 2.8 x10%e.s.u.
(€)4.8 x 10 e.s.u.(d) 9.6 x 10%e.s.u.
The charge of an electron is 4.8 x@.s.u. The value of charge or Wiill be :
(@)1.4 x 10%°e.s.u. (b) 2.8 x10%e.s.u.
(€)4.8 x 10 e.s.u.(d) 9.6 x 10%e.s.u.
149.ueH a1 g = & ARTe dw@ g9 arel ac 82—
(@)sO"’ (b)1A1*
(c)oF"’ (d),Ca™®
Which of the following has magic number of prot@m&l neutron:
(a)s0"’ (b) 1A%’
(c)oF" (d) 2oCe®
150.C0-60 T s1gamyaral 5.3a9 2| ot uiaasl & 7/84WT & faged gg i arell |HI 81T
(a)4.6 years (b)9.2 years
(c)10.6 years (d)15.9 years

Co-60 has a half life of 5.3 years. The time taken7i& of the original sample to
disintegrate will be:

(@)4.6 years (b)9.2 years
(c)10.6 years (d)15.9 years
151.fgu=maf¥ia o1 M &1 sefag T+ fa=amd 2, 8, 142 | s9&T u=eT] ¥rT 567 | 7fwe # =qg
ARSI IERIEN
(a)30 (b)32
(c)34 (d)28

The electronic configuration of dipositive metahis 2, 8, 14. Its atomic weight is
56. What are the number of neutrons in the nucleus

(2)30 (b)32
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(c)34 (d)28
152.dy sffdeet & foq A1€el ael &1 war grfl

(@)0 (b)1
(©)2 (d)3
The number of nodal planes ig @rbital is
(@)0 (b)1
(c)2 (d)3

153.5RrM, et o] HHid 128, & o TRANS & A G 26 2| 399 SuRerd
Ui, g 9 1 goldg 9 & A1 HHY: Brf—

()12, 12,14 (b)12, 14, 12
(©)14,12,12 (d)12, 12, 12

If magnesium atom having atomic numbers 12 hasaope with mass number 26,
then the number of protons, neutrons and electesectively of the atom are :

(@12, 12,14 (b)12, 14, 12
(€)14,12,12  (d)12, 12, 12
154 senfoRad § ¥ SIAT WA TG 5—

(@N (b)Be

(c)Zn (d)Ca

Which of the following atom will be paramagnetic:

(@N (b)Be (c) Zn (d) Ca

155.515% o WRHA1Y] & foy IR RIgTgaR AEieilRad 3 | gelde 19 & oIy B9 A1 Farciad sidl
i

(@) e=w (b)ar
(C)@ri e (d)erof e

According to Bohr's theory of hydrogen atom, whaththe following is quantized
for an electron:

(a)Acceleration (b)Velocity
(d)Angular momentum
(e)Angular acceleration
156.1 gmse = arel fUvs @1 S—arell axresd @r gFft | v &1 a7 100 m/sg—
(2)6.63 x 10° m(b)6.63 x 10** m
(c)6.63 x 10> m(d)6.65 x 10° m
The deBroglie wavelength of a particle with mass 1g aetbeity 100 m/s is:
(2)6.63 x 10° m(b)6.63 x 10** m
(€)6.63 x 10> m(d)6.65 x 10°°>m
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157.P,snfdea & forw s 9o 8

(@)l (b)2 (c 3 d O
The number of nodal planes in adebital is:
(@)1 (b)2 () 3 d O

158.3cidg 9 & N =437 N = 2GHH0T & G ISaId ¥@l, Wag q & gifl—
(a)TsHT Sivl HI A T
(b)amR st @ g an
(C) urem= Sl B g Xl
(d)yarear S 1 fadira e

When an electron makes transition from n = 4 toj then emitted line in spectrum
will be:

(a)First line of Lyman series
(b)Second line of Balmer series
(c) First line of Paschen series
(d)Second line of Paschen Series
159.5eme T @1 it woit 2.8 x 107 J & | S—arel aRwewd e - (me = 9.1 x 10%
kg)
(2)9.28 x 10’m (b)9.28 x 10'm
(€)9.28 x 10°m (d)9.28 x 10m

An electron has kinetic energy 2.8 x@. Broglie wavelength will be nearly: {m
= 9.1 x 10" kg)

(2)9.28 x 10°m (b)9.28 x 10’'m
(c)9.28 x 10°m (d)9.28 x 10"°m
160.1.20 x 16 ms™ a1 1 RwE sorae 1 @ S—arel avresd grft
()6.068 x 10° (b)3.133 x 10*’
(c)6.026 x 10° (d)6.018 x 10

What will be deBroglie wavelength of an electron moving with aogly 1.20 x
10° ms*?

(2)6.068 x 10° (b)3.133 x 10*
(c)6.026 x 10° (d)6.018 x 10

1618 7 st E = 3.03 x 10° J& g &va axmdwd &1 |79 gm— (h = 6.6 x 10%J x
secC.,
C =3 x 18 m/sec.)

(2)65.6 nm (b)6.65 nm
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(c)3.4 nm (d)656 nm
For a given energy E = 3.03 x 10Joules, corresponding wavelength is:
(h=6.6 x 10*J — sec., C = 3 x £an/sec.)
(2)65.6 nm (b)6.65 nm
(c)3.4 nm (d)656 nm
162.faferay Arse 8% ¥ AR TSS 3T Bl Jucd o—

(a)10 protons + 10 electrons

(b)7 protons + 10 electrons

(c) 10 protons + 7 electrons

(d)7 protons + 7 electrons

The nitride ion in lithium nitride is composed of:
(a)10 protons + 10 electrons

(b)7 protons + 10 electrons

(c) 10 protons + 7 electrons

(d)7 protons + 7 electrons

163.9Hgade i wieis &
(a)CO, CN , NO', G~
(b)CO , CN, NO, G
(c)CO", CN", NO, G,
(d)CO, CN, NO, G
Isoelectronic species are
(a)CO, CN , NO', G~
(b)CO , CN, NO, G
(c)CO', CN', NO, G,
(d)CO, CN, NO, G

164.frwri =gz 17 @1 "= Oy Ar § SuRerd =g 1 & e & auded 8 872
(a) 1K (b)*%,:Sc
() *%iSc (d)*%Ca

Which of the following does NOT contain number @&utron equal to that dfis
AR?

(a) 4119K (b) 4321SC
(c) 40215C (d) 4220Ca
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16585 94 Wag H &1 IR Ao § HI9AT FH AT TR W7 I~ HT—
(@)ui=d IR affdc | TN
(b)urrd IR anfde | ugen
()= IR anfde & &I
(d)=er IR enfde & ggar

In Balmer series of hydrogen atom spectrum whiattgronic transition causes
third line

(a) Fifth Bohr orbit to second one
(b)Fifth Bohr orbit to first one

(c) Fourth Bohr orbit to second one
(d)Fourth Bohr orbit to first one

166.39zacH UgE daroeH AT 4 91l URAY] & foy FHRIG 819 dTel 3f9dhdH Solds M &l &l
Brf—

(2)10 (b)18 ©) 36 (d) 54

What is the maximum No. of electrons which can beoenmodated in an atom in
which the highest principal quantum No. value is 4?

(2)10 (b)18 c) 36 (d) 54

167 gcide 19 T & forw + 1/2der -1/2 qaveq wwer fefid o 8—
(a)3clag T &1 HHI: FAlmagsl a2l TOIqaihdrgal fQem § ahor |

(b)sciag T &1 HHI: Yodiaaldharssl doll Falhdrgsl QM § ahor

(C) FWR qAT =19 Havad B dlcl goldg 19 B FrdIg el

(d)3r FarveH aifE®! FH T raReNT ST BIs TR ¥9d Jed ©U T8l T |

The quantum number + 1/2 arid2 for the electron spin represent:

(a)Rotation of the electron in clockwise and anti kletse direction respectively.

(b)Rotation of the electron in anti clockwise and kletse direction respectively.

(c) Magnetic moment of the electron pointing up and tlogspectively.

(d)Two gquantum mechanical spin states which have assal analogues.
168.200 garel iew s Sm/h< 1 ol 2, $9&T deed 8R1

(2)10™°m (b)10%°m

(€)10°°m (d)210*° m

The wavelength associated with a golf ball weig#0§ g and moving at a speed of
5m/h is of the order:

(2)10™°m ()10 m
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()10 m ()10 m
169.feas | = 2 91T Suder g1 8RI

(@P (b)Fe
(c)Cr (d)Mn
In the following atoms which do not have 27?
(@P (b)Fe
(c)Cr (d)Mn

170. g1 3meiRad u=eT] de7 7 fveai (lobes)ad fog gfa wva &
(2)TT Har & forg
(b) uRraar faavor & faes
(C)sorde ™ °ica &1 SuRefy
(d)amaer &1 fas
In an atomic orbital represented graphically byyhhe signs of lobes indicate:
(a) Sign of the wave function
(b)Sign of the probability distribution
(c) Presence of electron denysit
(d)Sign of the charge

171.H-9z19] & forg o9 Sofgg 9 4 9 2d IR @I § Sar 2 A Scaforad fafdwer &1 a’araed
gr—(Rydberg constant = 1.09678 x"1@™")

(@972 nm (b)486 nm
(c)243 nm (d)182 nm

The wavelength of the radiation emitted when aoteda falls from Bohr's orbit 4 to
2 in hydrogen atom, is: (Rydberg constant = 1.09618' m™)

(@972 nm (b)486 nm
(c)243 nm (d)182 nm
172 <% ReRid @1 318 Bfi—

(a)J (b)J/S
(€)JS (d)Fst
Planck's nature is described in units of:
(a)J (b)J/IS
(c)JS (d)Fs?

173. e &1 gd Uaid 71 gR1 yaRid sl &—
(a) aferepxor (b) E=Mc
(c) faac= (d E=h
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The duel nature of photons is described by:
(a)Interferences (b) E=Mc
(c) Diffraction d E=h
174. g = &I 1S § ARG SR W A1 BT GeqH = —
(a)u® & godr ® (b) sRafia v&ar 8
() wwmdgearg  (d)®g i | 78 ?
If a neutron is added to the nucleus the masseoititleus is:
(@) Increases by unity
(b)Not changed
(c) Decreased by unity
(d)None is correct

175.n =3, =2,m = +2 Famveq ST fhad fded & forw 9=ia g

(@)1 (b)2
(c)3 (d)4
The following quantum no. are possible for how manyitalsn = 3,1 =2,m =+2?
(@)1 (b)2
(c)3 (d)4

176.818$ 1S9 URHAIY] & Soldg 19 DI UIH A AN HeT § Uga] IR aRiTaed
(a)9e e (b)®w &1 et
(C)FH T =0 (d)=1$ uRad+ =&l 8 m
If electron in Hatom reaches from one to third orbit its wave langould:
(a)Be increased(b)Be decreased
(c)Remains same (d) Show no change
177 a2 <ifszm sme &1 smgi1 5.09 x 10% cpser ar axrded gnfi-
(2)5.89 nm (b)589 nm
(c)58.9 nm (d)5890 nm
The frequency of sodium ion is 5.09 x*46ps. Its wave length would be:
(@)5.89 nm (b)589 nm
(c)58.9 nm (d)5890 nm
178.fra Al selae 19 &1 g0¥E Udh fhaium g—

3 1 1031
(2)6.023 x 16° (b) 510510
©) 22,1054 (d)—x108
9.108 9.108x6.023
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How many mole of electron weigh one kilogram

1 1031
(2)6.023 x 16° (b) T

€) 292,105 (d)—1x108
9.108 9.1086.023

179 3¢ A1gg TS URAIY] Dl golde 1+ I 15 B a1 s Soit RS o qRATY] & AT
fopTem srRen R 1§25°2p° 9 @8 e, wiife soiae ™ TR & e 99" e denfy
15 w1 T8 ¥ Fifs T8 Soote HRar 2

(a)ersome rff¥eadr Rigra &1
(b)grs & ¥ @

(C) Uttt 3rgasiH Rigra &t
()R Uil Pt AfFIROT BT

If the nitrogen atom had electronic configuraticsf, it would have energy lower
than that of the normal ground state configuratisi2s2p® because the electrons
would be closer to the nucleus. Yef snot observed because it violates:

(a)Heisenberg uncertainty principle
(b)Hund's rule
(c) Pauli exclusion princi@
(d)Bohr postulate of stationary orbit
180.af% gerae T @1 amder -1.6 x 10" cber @1, ad @ Ue §e W AT S BT A ENT—
(a)-5.20 x 10°ch. (b) -5.20 x 107 cb.
(c)-8 x 10" cb. (d)-7 x 10" cb.
If th charge of an electron i4.6 x 10" cb.. Then possible charge of each drop of
oil is:
(a)-5.20 x 10®cb. (b) -5.20 x 10 cb.
(c)-8 x 10" cb. (d)-7 x 10" cb.
If th charge of an electron 4.6 x 10" cb.. Then possible charge of each drop of
oil is:
(a)-5.20 x 10 ch. (b) -5.20 x 107 cb.
(c)-8 x 10" ¢h. (d)-7 x 10" cb.
181.1 4@ NaCl # e g 2—

(a)6 (b)11
(c)17 (d)28
How many moles of protons are there in one molelRaC
(a)6 (b)11
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(c)17 (d)28

182815 o1 WRATY] &I G < 17 JawT B Fholl -3.4 eV | S anfde &1 wifas ol
Bfl—

(a)+3.4 eV (b)+6.8 eV
(c)-13.6 eV (d)+ 13.6 eV

In hydrogen atom, energy of first excited state3ig eV. Then find out the KE of
same orbit of hydrogen atom:

(a)+3.4 eV (b)+6.8 eV

(c)-13.6 eV (d)+ 13.6 eV
183.d-%e&a # B B

(a)aR rferam qer a1 Ars

(b)=R wiferar qer v Ars

(c)a=E uiferm & s W@y

(d)w=E uiferam & g faudid

SUYTH BAl H H HEl o—

(a)@a< (a) (b) (&)= (c)

(c)(b) @em (c) (d) (a)7erm (d)

The dorbitals are having:

(a)Four lobes and two nodes

(b)Four lobes and one node

(c) Opposite lobes are having same signs
(d)Opposite lobes are having different signs
Which of the above statements is/are correct?
(a)a alone (b)aand c

(c)band c (d)anandd

184.515% oI WRATY] H Oid Soldg 9 =g Soll WX A L-PIer H 31T & df Wag A ds X@r3ll dl $of
B g9ar 2 | 59 ol &1 ded B

(a)ureeH (b)swe
(C) g (d)ar=

When the electrons of-Htoms return to ishell from shells of higher energy we get
a series of lines in the spectrum. This serieslied:

(a)Paschen series (b) Brackett series
(c)Lyman serieqd)Balmer series
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185.,C"* & =i @1 faroar €rfy
(a)3.1 x 10" cm(b)1.6 x 10" cm
(c)4.8 x 10" cm(d)6.4 x 10° cm
Radius of nucleus qf£*?is:
(2)3.1 x 10" cm(b)1.6 x 10" cm
(c)4.8 x 10" cm(d)6.4 x 10° cm
186.v% d@ M &7 U] gegde 197 dorr u=eT] $Hid 9 7 | S IMIT BT fAwuvr 8-
@M (b)) M ()M (d) M*
Mass number of an element M is 19 and its atommbar is 9. Its ion is represented
by:
@M (b)) M ()M (d) M*
187 oAy anfdeatt @1 SHoil BT ggdT g3l Hel HH T—
(a)4p< 4f<6s<5db)5p<6s<4f<5d
(c) 4f<5p<5d<6s(d)5p<5d<4f<bs
Increasing order of energies of atomic orbitals:
(a)4p< 4f<6s<5db)5p<6s<4f<5d
(c) 4f<5p<5d<6s(d)5p<5d<4f<bs

188.aenferlRad & & fras 3d-[Suarer & FISH sodg 1 8l &
(@)Fe (1) (b)Cr (1) (c) Mn(II) (d) P(0)
Which of the following does not have electron insgdbshell?
(a)Fe (111) (b)Cr (1)
(c)Mn (1) (d)P (0)
189.f&H# srfdraan u=AT] B
(@)24 g, C (12) (b)56 g, Fe (56)
(c)27 g, Al (27) (d)108 g, Ag (108)
Maximum atoms would be present in:
(8)24 g, C (12 (b)56 g, Fe (56)
(c)27 g, Al (27) (d)108 g, Ag (108)
190883 199 WA} § N =0 ¥ N = 1 T% AHAU & fog aTeed A &1 A9 811
(@)912 A (0)9.12 A
(c)91.2 A (d)0.912 A
Wavelength\ corresponding to transition form nes=to n = 1 1 case of 4dtom is:
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(@)912 A (0)9.12 A
(c)91.2 A (d)0.912 A
191 w01 gRg T ol Wl @ 981 o 8Rfl Sl 818 Toi URAY] & Jfifde @l grfi—
(@n=2,LF (b)n=2,B&"
(c)h=2,Hé (d)n=3, LF"

Which hydrogen like species will have same radaithat of Bohr orbit of hydrogen
atom?

(@n=2,LF (b)n=2,B&"
(c)h=2,Hé (d)n=3, L
192.35% o1 WA & T H 7 § | A1 $AF Al ©
() 3d-werd B T H 3pHeTd B Il A ©
(b)3d wers @t ot § 35HeT B Sl B &
(c) 3s, 3paen 3d T+ FeIDHI B Holl T B
(d)3d ®er &1 o H 3s T2 3P BeThi DI Holl BH ©
Which of the following statement in relations te tliydrogen atom is correct?
(a)3 p orbital is lower in energy than 3d orbital
(b)3s orbital is lower in energy than 3p orbital
(c)3s, 3p and 3d orbitals all have the same energy
(d)3s, 3p orbitals are of lower energy than 3d orbital
193.He & seiag T &I Waifdies Tig S &) Fwra=T a1 Brear (pm#) 2—
(a)0.0 (b)52.9
(c)26.5 (d)105.8
The most probable radius (in pm) for finding theotlon in Hé is:
(@)0.0 (b)52.9
(c)26.5 (d)105.8
194 .us o1g Ads WR g A DI (AfHR0T Srefl Srell € di—
(a)gﬁﬁ;sﬁwﬁﬁwﬁa@wwﬁﬁwﬁaﬁwﬁaﬁﬁwﬁaﬁm%w%

(b)SRTT Solag T @1 Il JARTHAA Holl H HH SHIT S 3Mdfard fafd=on a1 dgar iR iR
IR B

(C) SHRIT Setdg T @1 Holl I Bl @
(d)Safsia golag T @1 Joll ATURIT UHBIRT & BICH Bl Soll & ged a1
A metal surface is exposed to solar radiations:
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(a)The emitted electrons have energy less than a nuaximalue of energy
depending upon frequency of incident radiations

(b) The emitted electrons have energy less than maxivalue of energy depending
upon intensity of incident radiation

(c) The emitted electrons have zero energy
(d)The emitted electrons have energy equal to endrgiiaions of incident light
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TEST PAPER 2

1. Increasing order of size for various species is:
WS & AMHR BT 9gdT 83l HH BN
(a)MG<Na'< F <Al (b) F<Al<Na'<Mg
(c) AlkMg<F <Na’ (d) Na'<Al< F~ Mg
(e)Na'< F <Al<Mg

2. The correct increasing order of oxidising effect is
IR | TR e R AT ol AT RE JHTd BT Fal HH o—

(a)Cl<Br<I<F (b)CI<I<Br<F
(c) I<F<CI<Br (d)I<Br<CI<F
3. How many elements have been discovered?ds o d@ @l ST g& &—
(a)109 (b)42
(c)100 (d)102
4. Number of elements present in 5th period asesd AR & 5 d rad § IURT q@l
DI AT 5—
(a)8 (b)10
(c)18 (d)32
5. The first ionization potential of Na, Mg, Al and &ie in the order
Na, Mg, Al and Sis wem =+ fava &1 981 w4 &
(@)Na<Mg>AI<Si (b) Na<Mg<AI<Si
(c)Na>Mg>AI>Si (d) Na>Mg>AI>Si

6. The electro negativity of the following elementscrigases in the order:

refforRaa awal &1 faeaseordall &1 9gd1 gl %+ &—
(@C,N,Si,P (b)N,Si,C, P
(c)Si,P,C,N (d)P,Si,N,C
7. The element of highest ionization potentialiss a1 fdva arer a@ 8—
(a)Li (b)H
(c)B (d)Na
8. The correct order ionization potential of B, C, haD is:
B, C, N and Oa 3ma=+ fawa &1 |l %7 82—
(a)C>B>N>0 (b)C<B<N<O
(c)C<B<O<N (d)B<C<O<N

C, Si, As Sb and B# fow sgd gt enfcads o7 &1 Wel 4 T
(a)C<Si>AS>Sb>B(b) C>Si>Bi>As>Sh
(c) C<Si<As<Sb<Bid) None of the above

10. d-block element shows the configuratiothzavs &1 @ &

(197
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

(a)1s%, 25°2p°, 3°3p°

(b) 1<%, 25°2p°, 3s°3p° 3d%, 45°

(c) 1<%, 25°2p°, 3¢

(d)1s%, 2572p°, 2d°

+1 and +2 oxidation number are shown by the elemetit and +2siferiiaRor 3ich
ST arel I B—

(a)Co (b)Ni

(c)Cu (dVv

The increasing order of the first ionization engieé of the elements B, P, S and F

(lowest first) is: B, P, S and Fa@i &1 UM M= TIed! &1 dedal gl i o—
(a)P<S<B<F (b)F<S<P<B

(c)B<S<P<F (d)B>P>S>F

First member of rare earth element § qaT o1q &1 yoH o o—
(a)Cerium (b)Actinium

(c)Uranium (d)Lanthanum

Which set of ionization potential is correctm== fawa &1 19 1 A== T8l o—
(a)Li>K<Cs (b)B>Li>K

(c)Cs>Li>B (d)Cs<Li<K

Linus Pauling is associated with the termrsaw difert 91 & dwfad g—
(a)Electron affinity

(b)lonization potential

(c) Electronegativity

(d)Atomic volume curves

Trivalent element will have the atomic numbesisiedar 9 drel de &1 URA1Y HHiD
3

(a)13 (b)1

(c)17 (d)9

B, Si, As, Te, At are in fact:B, Si, As, Te, Ataw:
(a)Metals (b)Non-metals

(c)Metalloids  (d)None of these

Energy absorption takes place in this procéss: us+ # il BT aiyor g —
(@F-F (b)H-F

(c)Cl-CI (d)O - OF

Maximum ionization potential is shown b, P, O, $i waifere sma== fava grm—
(@)N (b)P

()0 (d)S

Correct order of atomic radii iszAm] Zar &1 ¥81 %4 a—
(a)Li<Na<Ca<K(b)Li<K<Na<Ca
(c)K<Ca<Na<Li(d)Ca<Li<K<Na
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21.

22.

23.

24.

25.

26.

27.

28.

29.

The correct order of ionization potential of Li, N@and Ne is:
Li, Na, K and Ne&s1 sme= favya &1 981 %9 38—

(a)Na<K<Li<Ne(b)Na<Ne<Li<K
(c) K<Na<Li<Ne(d)Na<Li<Ne<K

Increasing order of atomic radii [O, C, F, Cl, Bs] O, C, F, Cl, Br& weam{d™
roTamsil &1 dgdT g3 HH 3

(@F,O,C,Cl,Br (b)) F,C,O,ClBr

(cF,Cl,Br,O,C (d C,O,F,ClBr

The outer electronic structure of Lawrencium (atomnumber 103) is:
ARFERE (Z = 103)®) a1eT seide 19 HamT 8—

(a)5f37s’7p®  (b)5f6d'7s°7p?

(c)5f7s'7p*  (d)5f%6d' 7

Element M of Il A group forms a compound with elem Y of VI A group has the
formula: Il Aef & a@ M a VIA @&t & a@ Y & 1 99 3t &1 g3 8

(@MY (b)M2Y5

(C) M3Y2 (d)Mng

Variglble valency is not shown by the elemenRafta sifaifiaxor sid T8l ge= arer
aog S

(a)H (b)Na

(c)Fe (d)O

The electronic configuration of an element iss® 25°2p®3s?3p3. What is the atomic
number of the element which is just below the abeleenent in the periodic table?
U dd @l goras e = 1S 2572p°3s°3p3. § | amad ARl # 51 d@ @ S A drel
T@ BT YRAT] HHDH o[

(@) 49 (b)y 31

(c) 34 (d) 33

The electronegativity difference between two eletweA and B is 0.5. The
magnitude of percent ionic character in singi® Aond would be: 3 a@i A and B
@1 fIRITHHOTT BT 3R 05 © | Vel A-B amerear # ufcrerd smafees o1 &1 aRAmr gem

(a)4.45 (b)8.9

(c)17.8 (d)26.7

Of the following electronic configuration which Wwihave the highest electron
affinity? fFr=faRaa seiag 1 fa=ama aral # 9 {64 geldg M@ [a=1 arel I &1 Sefdg 19
JRIAT A 3MfAH B

(a)1s%, 25" 2p° (b) 1%, 25°2p°

(c) 1525 2p°35°3p° (d) 1s%2¢” 2p°3s°3p°

Which one of the following gives the correct ingeg order of ionic radii?
IMNfSTes f3rsasil &1 gadr gam el 4 ©

(a)C*<B¥*<Be”'<Li*

(b)Li*>Be>B*>C*

(c)Li*<Be**<B*'<C*
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30.

31.

32.

33.

34.

35.

36.

37.

38.

(d)B*'<C*<Li*<B&**

An example off' block element is the one that has the followirgrat numberif-
GUS & T BT YA HHG 7+ 7

(a)56 (b)58

(c)81 (d)72

The correct order of electronegativity for the edmts P, S, N and O is:
P, S, N and O% fagasrordr &1 98! %H o—

@P<S<N<@®P<S<O<N

(c)O<N<S<RJ)P<O<S<N

[Anion size: Cation size) is least for this compOuRE &H 3rurd ( UM HR
g JMPR) 9 1D BT 8—

(a)NaCl (b)KCI

(c)MgCl, (d)NaBr

Outermost electron of an element has the four gquamumbers 4,1,0,1/2. The
element belongs toa@ @ dEIH BT # IURYA olag ™ & IR FaT<ed V&N = - 4,1,0,
-1/2.97 a@ = @ve @1 7

(a)s-block (b)p-block

(c)d-block (d)f-block

Which of the following gives the correct order oériation in first ionisation
potential: /=1 | @19 |1 vH e fawa & uRads &1 ¥ HH <aT ®

(@ Be<B<C<N<O

(b)) Be<B<C<N>O0O

(c)Be>B<C<N>0

(dBe>B>C<N>0

Arrange the following in order of increasing atormaclii Na, Si, Al, Ar:

Na, Si, Al, Al t=aT] Bramsil &1 9gd gU $HH H FaRerd dIforg—:[

(@)Na, Si, Al, Ar(b)Si, Al, Na, Ar

(c)Ar, Al, Si, Na(d)Na, Al, Si, Ar

The element which can displace three other halég®m their compound is:
g I S 3 A1 gaTorl Bl S9d A1l o favenfud o=+ # wem ©

(a)Cl (b)Br

(€)! (d)F

Which of the following, element belongs to the sgmeeod: &= & d@i &1 & &
B 3 & TS B

(a)Cl, Br, Ni (b)Cu, Cr, Zn

(c)N, H, He (d)Cr, Sn, Pb

Which one of the following elements arranged in eordof increasing
electronegativity: /=1 # & ®IAT T FHzad 9&d 8 [dgd FUMHSBAT & HH 4 @l ©
(@)s, P, Si (b)Si, P, S

(c)P, Si, S (d)Si, S, P
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39.

40.

41.

42.

43.

44.

45,

46.

47.

48.

49.

Which one of the following elements is a constituehthe d-block of the periodic
table?fr= % & S d aad AR # d- @Wve @7 ged 2]

(a)Ac (b)Ra
(c)Th (d)TI
The basic character of hydrides of the V group el@ndecreases in the order:
V AE & ddl & TSy 8sl @ dfd AMSAer & gl 8ol HH 3
(a)SbH> PH; > AsH; > NH;

(b)NH3; > SbH, > PH;, > AsH;

(c)NH3z > PH; > AsH; > SbH

(d)SbH; > AsH; >PH:> NH;

Unpaired electrons present in inert gasesagies i4f § IuResa s gRad selag I &I
AT B

(2)5 (b)3 ()0 (d)2

The electron affinities of N, O, S and Cl are st
N, O, S and Cifl sciag 19 a7l 59 UaR © fd
(@N<O<S<Cl (b)) O<N<CI<S
(c)O=CI<N=S (d) O<S<CI<N

Which compound of nitrogen is an explosives <= &1 &= &1 Aiffie fawhicsd 8—
(@) NCk (b) NOs
(€) NHs (d) NR

An element (X) forms compounds of the formula XX}Os and CgX, but does not

form XCls. Which of the following is the element X?« g XCl;,X,05 and CaX,

g\aaﬁﬁ%w%ﬁ%XCbﬁmlﬁmﬁr@aﬁﬁ%Ww[ﬂ HIEEI
?

(a) B (b) Al (c) N (d) P

A pair of elements belong to the same grouptis & o & A<l & AT 5—

(a) Na, Mg (b) Na, Ca

(c) K, Ca (d) Ca,Ba

Highest ionization potential will be shown by fi=feRed & & @ sma= fava
rfdrad g

(a) Mg (b) Si

(c) Si (d) P

Man made elements ispi= &1 el gRT Afifa @ 2

(a) U (b) Ra

(c) G14 (d) Np

Highest ionic radius will be of ®= & g+ @1 o waifds 28—

(@) Mg’ (b) Cs

(c) Li (d) N&

Maximum hydration will be shown by the halide oistklement:
I AP STATI 39 Td S gAlSS BT BRI

(a) Mg (b) Ca

(c) Sr (d) Ba
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50.

51.

52.

53.

4.

95.

56.

S7.

58.

59.

The correct sequence of the formation of oxidesftbe combination of nitrogen
and oxygenfy= # & fhda! sj@e evdr aifiramdd 28—

(@S (b) Se

(c) Po (d) Te

What would be the atomic number of the elementrgdao fifth group and third
period is Bad AR & UFH g Tl A Mad b ded Dl URATY] G FT BT

(@) 7 (b) 13

(c) 23 (d) 15

Which one of the following bonds has the highestdenergy:

JrenferRaa amarell § Afbad! 3maw ol Seadq Bidl 82—

(@) C-C (b) Si- Si

(c) Ge- Ge (d) Sn- Sn

First ionization potential for Be and B respectyate :

Be and Bt wer e fava grm

(@) 8.8and 8.8 (b) 6.6 and 6.6

(c)6.6and 8.8 (d) 8.8 and 6.6

Element showing maximum number of oxidation statebe :
Haffdes Suaae v faga gnfi—

(@) La (b) Gd

(c) Eu (d) Am

Which electronic configuration is not possible:

DI AT golag g fa=amT d9a T8 8-

(@) Is? (b) 1S, 25, 2P, 2d"°, 35

(c) IS, 25,2P, (d) IS, 25, 2P, 35

Which of the following elements has the highestsation energy?
= ¥ far ifdean eI ol 8—

(@ C (b) Na

(c) F (d) Mg

Identify the least stable ion amongst the following

FfRaT W | =IAdH IR T BT UgdT+g—

(a)Li (b)Be

(c)B (d)C

Which of the following order is wrong®i| &1 %4 Ted 23—

(@)NH3; <PH; < AsH; — Acidc

(b)Li < Bw <B < C-First IP

(c) Al,03 < MgO < NaO < K,O —Basic

(d)Li*< Na" < K* < CS - lonic radius

Which of the following pairs of atomic numbers regent elements belonging to the
same group?EifeiRad § | URATY] HHIDI BT 98 T B A & Ol Udh & G D
RATLR & T v 28—

(@lland 20 (b)12 and 30

(c)13and 31 (d)14 and 33
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

What is the general electronic configuration of ss&t row transition series
elements: 2nddfda dwaor soft & qeal & FHFT A= @7 'Y

(a)[Ne] 3d"1? 4¢ (b)  [Ar] 3d*1° 442
(c)[Kr] 4d**° 552 (d) [Kr] 5d**° 582

The atomic number of an element is 7. It's maxinworaalency would be :
e FSIT URATY] HID 7 § | TAD! AfADhaH HeAAISThdT BT

(a)2 (b)3 () 4 d 5

Element of atomic number 36 belongs to ....... bloicthe periodic table:
URATY] HHIG 36 ATl dd Imad ARl H_ . GUg HT T

(a)s (b)p

(c)d (d)f

The total number of electrons present in all therlstals, all the porbitals and all
the dorbitals of cesium ion are respectivelyifsT smae & 91 s-anfdea & w41 p-
anfdee § w1 d-arfded H fof solag Tl &1 AT HHL: 5—

(a)8, 26, 10 (b)10,24,20

()8, 22, 24 (d)12, 20,22

Number of elements present in the 5th period are:

gied 3fTad H SURT dwdl Bl H&T BRT—

(a)8 (b)18 (c) 32 (d) 24

Maximum value of principal quantum number for amnatis 4. How many

maximum number of electrons that can be accomodatedvs wHv] S9H H&=4
FATUCH AT BT SIfAHAH A9 4 B | Soldg 11 I AT HHI: B—

(2)10 (b)18 c) 36 (d) 54

In which of the following pair both the elementddrgy to the same period :
fpd g H aFl 9aw U & IATad & o—

(a)Cl, Br (b)Ca, CI
(c)Na, Ca (d)Na, CI

Which of the following metal is unable to displdggirogen from acid solution:
T ST 3Tl W BIgg Ioi faveqiiud &1 # arqHef o—

(a)Ca (b)Al

(€)Zn (d)Hg

Which is noametal &= w1 3mmg g

(a)Boron (b)Aluminum

(c) Iridium (d)Galium

Which element is not found in natues &1 d@ Uiy 9 81 yrar Sir—
(@)Tc (b)Rb (c) Sc (d) Ti

Which of the following is the increasing order oftladpy of vapoursation?
f=forRad # 9 @9 a1 arefiaxor el & 9ed BA H Faled g

(a)NH?u P|_l3, ASI_I3 (b) ASH3 P"b, NH3,
(C)NHs, AsHs, PHs, (d)  PHs, AsHs, NH;
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

%/IT?[ximum density of BO will be at this temperature:,D @1 1f&rwdq g 39 drg W)
(a)9°C (b)11.5°

(c)15.9° (d)20°C

Which of the following compounds does not possags .p. due to hydrogen
bonding:zss ™9 9 & &R fAeT UG Ied T8l aldl—

(a)NHs (b)C,HsOH

(c)HI (d)H,O

Among the following the pair in which the two spegiarenot isostructural:
JfIRad gvast 3 ¥ o M1 Wiefiel ka8l o—

(a)PFsand Sk (b)IO; and XeQ

(c)SiF, and Sk (d)BH, and NH,"

Which of the following species is diamagnetic irura:

f=forRaa wiefer & @9 a1 w9 § uforgeag 2

(a) He; (b)H:

(€) H, (d)H;

Of the following sets which one does not contagelsctronic species?
frfeRaa et 9 9 foas |Rgeag e T8l 572

(8)SG;™, CO™ , NOy~

(b)CN", N, G

(c)PO*, SO, CIO,

(d)BOs™, COs™, NO5”

Hybridisation of N in NH is: NH3z # N @} Ha&vo7 aravern 8—
(a)sp (b)sp
(c)sp’ (d)sp'd

Choose the molecule whose central atom shepvsybridization: s s &1 =M
BT FADBT BRI IRATY] S HHROT SHaeT AT 8—

(8)SC, (b)PCk

(C)N2 (d)He;

Which species confirms trigonal pyramidal shapeioia iR amapfa fa wiefs
@1 BAf—

(a)BF3 (b)NO3™

(C)HsO" (d)COs?

The molecule which has pyramidal shapdigast s @t ar] &—
(a)PCk (b)SO;

(c)COs* (d)NOy

The molecule having one unpaired electrormis raH & RYFFT setdg 1.
(@)NO (b)CcoO
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

(c)CN (d)O;

Electrovalent bond is present figjq Sarsil aw fHeri 8—
(a)BFs (b)SiCl,
(¢) MgCl; (d)CH,

On the basis of molecular orbital theory formatidrthis species is not possible:
3] et g & SR W e wirefist &1 fawfor g =18 2

(a) H 2+ (b) H eZ+
(c)He; (d)O;

Hybridization state of carbon in diamond, graptated acetylene respectively are
BRI, YIS g VEIfeele & Hra bl Ghvol el HH:

(@)sp’, spsp’  (b)sp sp’,p’
(c)sp’, sp’,sp  (d)sp, sp’sp

When GC bond undergoes homolytic cleavage, the carbdharresulting species
will show the hybridizationve= # C-C a7 & 9#eey ¥ Ui Wefial § &red

(a)sp’ (b)sp*

(c)sp (d)spd

Which of the following species is paramagnetit:? A1 wrRiiel srfg=a 87

(a)CN (b)CO

(c)NO (d)O,”

The ratio oftandc bonds in benzene 8= 3 T iR 0 7 &7 U 7

@l:4 (b)1:2

(c)3:1 (d)1:6

Square planar geometry is shown Wy \aaeia it feas! sRi
(@)[Cu(NHs)J** (b)BF4
(c)[CrFq]® (d)None of these

PCk is hydrolyzed to yieldPCk St srgees w <ar @
(2)HPG; (b)H3sPG;
(C)HsPO, (d)HsPO;

KF combines with HF to form KHEThe compound contains the species:
KF sk HF & a8 KHF, a1 2 | 39 3iffie & =1 SuRerd 8

(@K', FandH (b)K’, F and HF
(c)K"and [HR]" (d) [KHF]" and F

Which of the following compounds in liquid stateedonot have hydrogen bonding:
FNfIRad & & I A1 Ah < AT H BIeS 1919 g7 el Sl

(@)H0 (b)HF

(C)NHs (d)CeHe

Which of the following bonds has the highest en@rggaaa it aretr &= 82
(a)Se-Se (b)Te-Te

(c)S-S (d)O-0

(209



92. The compound in which the central atom is &v hybridized state is:
AN RRIBT BT URATY] SP° TRHROT SRl 8-
(a)BeF (b)CO,
(C)Ni(CO), (d)SiCl,

93. Which of the following compound is polar with itergral atom in thesp
hybridization statefr=feiRaa afrel # & S AfE gda & aft SH& S WA &

G S
(2)H.CO;, (b)SiF,
(c)BF3 (d)HCIO,

94. sy hybridization will be shown by which one of thdléeving molecules: frafRaa
AT ¥ 7 fvr v # spf
(a)CO, (b)SG;
(c)NO (d)Co

95. Polar and monopolar bonds are presentfRrafeiRad & & fbwd gdra (polar) s
e AT B
(@)NH,CI (b)HCN
(c)H20; (d)CH,

96. Maximum bond angle is associated with the bybrithsa fea d@zor 4 awer ®ror
rfdras T 3
(@) sp’ (b) sp’
(c)sp (d) dsp

97. Which one of the most resonance stabilized amotmgsfollowing: /=1 & @= <1
Y 3 3rgre Rer 3—

(@)NO; (b) NO; (c) SGQ (d) SO

98. The fold symmetrical axis is associated with thislenule: f&d o] @1 @ g
AT et T
(@)NH; (b)CoHa4
(©)CO; (d)SG,

99. Which of the species K AIO; and NQ contains unpaired electrons: KQaIO;
and NQ & ¥ foad egfiad selag 9 2

(a)NO," and BaQ (b) KO, and AIG,

(c)Only KO, (d) Only Bag
100.Carborendum is@eR-<q &—:

(a)BN (b)SIO,

(c)SiC (d)CS,

101.Amongst Clk, BF; and NH molecules the one with ngalanar geometry is:
ClF3, BF; and NH sropsii # srdelia samfafey arefm o] 8—
(@)CIF; (b)NH3
(c)BF3 (d)None of these

102.The hybridization of chlorine in CtRs: CIF; # @RS &1 GaR0T 8-
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@s®  (b)spd (c)spd®  (d)sp'd’
103.Which compound form linear polymer due tebldnd: He=m & &R ST AfTS
X 98l AT 3
(@H,O (b) NH; (c) HF (d) HCI
104.Which of the following molecules is line@i== 3] / wrefisr WRad z—
(&) SQ@ (b)NO; (b) NO, (d) SCh
105.The correct order of dipole moment &g 3meet &1 W& H4H &
(@)CH; < NF; < NH3z H,O
(b)NH3 < CH; < NHz <H,O
(c)NH3 <NF; < CH,; < H,O
(d)H,O <NH; <NF3;<CH;,
106.In which of the following bond angle is maximufiras s ®1o7 ITaad gRT—
(@)NH;  (b) NH;" (c) PCk(d) SCI
107.Which pair is not isostructurakr == FHEREAHS BT JTH T8l o—
(a)SF,, Sik (b)BeChL,C,H,
(€)BFs, SQ&  (d)H0, H:S

108.Which one of the following compounds has the smsal®nd angle in its milecule?
feforRaa ATl § | BIF AT 370+ 379] H RIATH I BIvT @l ©

(2)SH; (b)NH;
(c)SG, (d)OH,
109.Most convalent halide iswaifes Tedact gass 8—
(a)AICl (b)AIF;
(C)All 5 (d)AIBr,

110.Increasing order of ionic character israfe® @1 &1 el g3 $HH 8—
(a)PbCl, < PbC} < CaCl<NaCl
(b)PbC}L < PbC}, < CaC} <NaCl
(c) PbCL < PbC}, < NaCl <Cad{
(d)PbCl, < PbC} < NaCl <Cad{
111.Which molecule is capable of showing conformation:
DI B 188 Awuu (conformation)ewi= # w1a 8—
(@)NHx-NHz  (b)B2He
(c)CH, (d)None
112.The state of hybridisation of boron and oxygenretan boric acid (KBOs) are
respectivelysiRa sra HaBOsH aRIA ToIT SifaRio & FaHoT avell HHe: sli—
(@)spf andsp®  (b)sp’ andsp’
(c)sp’ andsp?  (d)sp’ andsp’
113.In which case there are three bond pair and twe paars present:
e 3—gwe1 I qAT 2— UHTH I B—
(a)NH;3 (b)CIF;
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(c) XeF;, (d)PCk
114.Shape of GF; is similar to:O,F; @ 3m&ftr F9H 28—
(a) C2F2 (b) HzOZ
(c) HaF (d)CoH:
115.The pair of componds containing peroxyO-0O-) group is: e (-0O-0-) &g ¥
Jad WD B IH -
(a)H,SG; and Pb@Q (b) HCIO4 and HS,0Oq
(c) P,Os and MnQ (d) H,SGsand HS,0
116.Which of the following is the electron deficient lacule?=feiRad # | &9 4§ 317
¥ goldg T &1 98—
(2)CoHe (b)SiH,
(c)PHs (d)B2Hs
117.Which of the following have permanent dipole monfertr=iforiRaa # & fHad womiy
faga ameel sRT—
(a)BF3 (b) SF,
(c) SiF, (d)XeF,
118.The correct sequence of increasing covalent clarai represented by:
HEHAISTD 0T BT 9gdl g el HH I8 Al o—
(a)BeCk < NaCl < LiCl
(b) NaCl < LiCl < BeC}
(c)BeCl < LiCl < NaCl
(d)LiCl < NaCl < BeC}
119.Which of the following molecules has trigonal planageometry?
fFr=ferRad ol # & s Sanfafa iy Twdea a—
(a)NHs; (b)BFs
(c)PCh (d)IFs
120.In which of the following molecules are all the lismot equal:
frfoRad smpelt # fordas ) smever T9H T8 2 |
(a)BF3 (b)AIF;
(C)NF3 (d)CIF3

121.Which sulphur containing species is unable to vawkeductant :
B AT Aeh Jad RIS ST SU=Id & w4 H B B H 3T 2—

(2)H2SO, (b)SG,
(c) sa~ (d)S*

122.Four elements P, Q, R and S have reduction poténhéia, + 0.34, + 1.20 and.76
volts respectively. Correct arrangement accordmmgldcreasing reactivity will be:

IR Tl P, Q, R and ST smoaee fawa waer: 2.90, + 0.34, + 1.20 an@.76% | \afsaar
@ Ted HH H FE FaRAT 8—

@P>Q>R>%)Q>P>R>S
(C)R>Q>S>RdP>S>Q>R

(208



123.Which of the following is not oxidised by brominater?== # & @~ a9H S g
YR 81 fhar ST Aehel—

(a)Fe™ (b) Cu" and C@?
(c)Mn*? and MnQ~ (d) Sn?and S#*
124.0Oxidation potential of Mg and Al are + 2.37 and 66.volts respectively.

Magnesium in a chemical reaction: Mg andaAbiiRiaRo fova waer + 2.37 and
+1.66dre & | U@ IS fafar § Aifee 8-

(a)Will be replaced by Al Al gRT fazenfud grm
(b)Will replace Al Al &1 fazenfua &
(c) Will not replace Al Al 31 fazenfua &1 &

(d)Will do nothing as given above SWRiad # | H& & &M

125.Choose the group of reaction showing no oxidatiGrEfaRaa fha—fa= ifafsamstt #
SATRATHROT 81 8T &l o—
(@)Cl,—» 2CI  (b)Fe™_ Fe™
(c)MnO,” Mn*? (d)Ce™ - Ce*

126.Which halogen acid acts as a best reducing agentdr zare 3rd 9IS JATATH ©
(a)HCI (b)HBr
(c)HI (d)HF

127.Which of the following oxide does not work as rdant: sm@as & wU d§ &R 8
BN Tl IS S B—

(a)CIO; (b)SG;
(c)NO, (d)CO,

128.Choose the element which could show highest oxidagtate in its compounds
T BT I BT S 310+ G H IeadH SIaATHRIT 3 ST bl 8—

(a)C (b)N
(c)O (d)ClI
129.Bromine water on reaction with S@rms: g9 Sta SO, & a1 &R$ 91T B
(a)H,O and HBr(b)H,SO, and HBr
(c)HBrand S (d)S and HO

130.In which of the following equations hydrogen pemxacts as a reluctant?
FENfIRId § PRl JAAHAT H Blgs 1o RIGASS NYATID BT BT BT &—

(a)2FeC} + 2HCI + HO, —» 2FeCt = 2H,0
(b)Cl, + HO, —» 2Hcl + O
(c)2HI + HO, - 2H,0 + |,
(d)H,SO; + H,0, - H,SO, + H,0O
131.Electrode potential of five elements A, B, C, D d&hdre respectivelyl.36,-0.32,
0,-1.26 and-0.42. The reactivity order of these elements atbenorder of:

A, B, C, D and Era T @ soiae TS fava waer -1.36,-0.32, 0,-1.26 and-0.42.39
dl @1 AfhIAr dT HH BT—

(@A,D,E,Band db) C,B,E,DandA
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(c)B,D,E,Aanddd) C,A E,Dand
132.Which of the following will displace bromine frormaqueous solution containing
bromide ions3Migs A Jad Sl G 9 71 9 9 319 Br faRenfua axm?

(a)Cl> (b)I35
©)1, (d)Cr

133.+1 Oxidation state of chlorine is present in thisnpound: +Isifa=fiaxor a=en #
FARE 4 & 9 fra 9ifie # SuRerd g

(a)HCI (b)HCIO,
(c)ICI (d)CI,O
134.Which of the following reaction shows oxidation amediuction:
o= & & 19 A fAfhar § SffaRfIeRoT g Siyerg= fharg g 82—
(a)NaBr + HCI - NaCl + HBr
(b)HBr + AgNQO; — AgBr + HNG;
(c)H, + Br, » 2HBr
(d)N&O + SO, - NaSO, + H, O
135.In this reaction no change in the valency takesepldr= & ifafshar § HarsTamar
gRafda w8 erit 3—
(a)4kCIO; - 3KCIO, + KCI
(b)SG, + 2H,S - 2H,0 + 3S
(c)BaG; + H,SO, —» BaSQ + H,0O;
(d)2BaO + Q - 2BaG

136.Which of the following will not react with CuSGolution?f= & & &= CuSQ «
forar T8l e—

(a)Fe (b)Ag
(c)Zn (d)Mg
137.Addition of excess of Kl solution to mercuric iodiflorms:arcRre maeEs aid &
ARIRG AMTSISS Ao H e A3 # Slel IR a9l &—
(@)Hgal> (b)K2Hgly
(c)Hg (d)Hg + KI

138.M is the moleclar weight of sodium bismuthale, dtpuivalent weight in a reaction
where it changes to metallic bismuth, will begifszs fSme @1 MR M 7| 3F®T
JoTd!l 9R S AMfhar § Sel I8 fawer g1g § gadf Srar ©, si—

(a)M (b)M/3
(c)M/2 (d)M/5

139.The standard reduction potential values of threlinecations, X, Y, Z are 0.52;
3.03 and-1.18 V respectively. The order of reducting poweth® corresponding
metals is: = arfcas ga= X, Y, Z & 9% fava saas & /4 swae: 0.52, -3.03 and
1.18 V& | S7d ergall &1 o i &l %A 7 8—!

@Y>Z>X (b)X>Y>Z
(c)Z2>Y>X (dZ>X>Y
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140.In which container the concentration of ZpGblution will be changedZnCl, &
faera &1 g 9d9 ¥ Y@ R sHS! Aredl 99 Sl 8—

(a)Al (b)Cu
(c)Ag (d)None
141.The Gibbs functiod\G is related to which of the following Cu+ Zn  2n" + Cu:
o FeiepReT & oty Rred AfieRoT & o AG &1 deg 8- Cu” + Zn 2n* + Cu
C C
Intt In2
(@l 0)In

2

(c)In G, (d)In C,
142 Which one of the following is not used as primatgnslard in the redox titration:
frferRad # & I Afie IuTTeRE JIgATIS H UrRIfie AFd & ®Y § B § A8l 31T 8-

(@) K.Cr,0O7 (b)KMnOy4
(c) (COOH), (d)Mohr's salt
143.Both oxidation and reduction take place #fa\&RoT qen srg@gd g4 ufhamd gl 8—
(@)Hy + Hr, — 2HBr
(b)NaBr + HCI - NaCl + HBr
(c)CaO + HSO, - CaSQ + H,O
(d)HBr + AgNGQO; - AgBr + HNGO;
144 Which of the following is reduced by hydrogen pedaxin acid mediumsmirg
A H H,0, gRT fhdat st 8iar ©
(a)FeSQ (b)NaxSOy
(c) F&O, (d)KMnOg4
145.Which will be the proper alternative in place ofiA the following equation ?
renforRad Tiexor § A & 9 R 8T
2Fe”(ap) + Si* (ap) - 2F€*(ap) + A
(a)sn** (b)Sr*
(c) St (d)Srf
146.From the solution of which of the following one dday of electricity will liberate

one gram atom of metalf@% fderaa & & T BRIS fdgd o1 A1 & b UMW URHAY] €1
e BRTI—

(a)NaCl (b)BaCh
(c)CuSQ (d)AICI
147.Cl shows minimum oxidation state in the specigss Cl &1 =74 3ifai. 2—
(a)Cl, (b)Cr
(c) clo, (d)cio,

148.Phosphorus shows + 1 oxidation state in the congpow=rRE &1 + laifaiHRor
raeer fe Aiffres # grfi—
(@)HsPGs (b)H3POy
(C)H3PG, (d)H4P,0O;
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149.ldentify the species which does not act as a redtctsy wreiis & ggai—y <t
ANUARIG & ®Y H BRI T8l Bl 8—

(2)CO, (b)SG,
(c) SO, (d)None
150.Strongest reductant iswifeiRad  yaarad u=mid
(a) P,Og (b)H3PO,
(c) H,PG, (d) R,O7
151.Which will reduce zinc oxide to zincaH= a1 fSasifaargs &1 i # uafia s
(a)Mg (b)Cu
(c)Pb (d)Fe

152.Which metal does not displace hydrogen when agbed by acid ar a1q s |
ggs o favenfud ox+ & e ©

(a)Ca (b)Zn
(c)Zn (d)Hg
153.Which one is easily reducedraa sroaa= GaH ©
(@)Ag (b)Fe
(c)Cu (d)Sn

154.HAsO, + Srf* - As + Si* + H,0; Oxidaant in the above equation is:
HASO, + St - As + Sif* + H,0; # sifRfiaoRs &
(a)Srt* (b)sn**
(c)HAs O, (d)As
155.When chlorine is passed in to concentrated solutfolkOH the compound formed
iS: 19 FArE & A= KOH oo & yarfed &= & ar urd it 8im—:
(@)KCIO,4 (b)KCIO3
(c)KCIO, (d)KCIO
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